PNC TN9410 96-142

SAL 2R RIS ISR 52 T

—Super-COPD & A7 48 1k b LS & O 1l —

19964 4 H

BHFE - MARBEREEH
| A% L% ¥ v & -




BRUUIZDOEEDAFIZONTIE, FRICBREWEhELES,
T311-13  REIRFKIAR R BEET i FH BT 4002
B 0 - iR BR R
RETFEEF— VAT LBRBEELR B EEE

Enquires about copyright and reproduction should be addressed to: Technology
Management Section O-arai Engineering Center, Power Reactor and Nuclear Fuel
Development Corporation 4002 Narita—cho, O-arai-machi, Higashi-Ibaraki,

Ibaraki—ken, 311-13, Japan

B 4F R R BA S E 3 (Power Reactor and Nuclear Fuel Development

Corporation)




‘ PNC TN9410 96— 142
'19 9 6 E 4 A

%AL@ZKE Hm%bvaﬁ&%77/b*@m%
' —smmcmmkxéﬁmﬁmﬁ%aﬁ&ﬁwﬂm~u

ki B AT W

2e

%ﬁ@hﬁgﬁr%kbwjLbﬁéZkiFﬂ#thvAﬁ&$&%MW~ﬁtLT ﬁ"
WEHEAS F YT A K P/yc:T FTNTS Y MV EWE—RTT T v b 4% 4 27 — NSuper-COPD |
SO BITL. F b)Y SRS RIS & ORI B SREASHMES (RASEEE
ES) @B#ﬁ@ﬂmtkowcﬂﬂﬁl,to F 72, Super-COPDTHEMNT L /- IRIRERSEIHE S %gk(ﬁ& o
Fh v AROFHT %172 72, ‘ :

FV/ﬁwaébevAREWWbmw%w#B +ruvAﬁ&ﬁmﬁ@uﬁm%¢#“
5 3 BEMI41 5 34Tb B D23R 285 E & BT S Nizo TIRF F 1) 7 AROFETH, RABMDENR
SR8 (¢ =2.16) i— KUJ)?*&HZ/E“IE?&@EI#%&%M L7 BB AR — & 26
KD, %@Ema%mtmmmm & 5 R iR £ 7379\61&(5%71 & U IR R &

Lz &= 2.16 2BV B FHRMKIL48.9g/sec, ﬁfbﬁ&&biUﬁtﬁ&mi%ﬂ%’nas g/ .

seeB L UB1.0g/sec b e ot TEF R Y T AR, ﬁ&ﬁ%%wﬁmﬁwﬂ#e%ﬁmﬁwﬂ
ITLT S é:;r'JGSOisskgaémﬁémo

*RBELEEY 5~ BREHRER HRAEHRRE




PNC TN9410 96-142
April, 1996

An Analy81s of Plant System Dynamics for the MONJU Sodium Leak Accxdent
- Evaluation of the amount of sodium leakage by Super -COPD -

' Akira OHTAKI* * Hiroaki OHIRA*

Abstract

In order to evaluate the pressure history at the leaked position and the amount of sodium
leakage regarding the sodlum leak accxdent of MONJ U, the plant system dynamlcs were.
calculated by Super-COPD.

It was estimated from the calculated results that the sodium leakage was halted around
23:28, which was 3 hours and 41 minutes after the initiation. The pressure loss coefficient of
the leaked pbsition was evaluated to be 2.16 in two kinds of the water experiments of PNC

“and of Toshiba-IHI. Using cofficient to the calculated pressure history, the minimum and the
maximum leakage rates were evaluated to be 35.5 and 51.9g/sec respectively, and the
average rate was 48. 9g/sec. Therefore, the total amount of sodium leakage was estimated to

be 650:!:38kg

* Thermal Hydraulics Research Section, O-arai Engineering Center
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(BFFE oy TH5 FL RS COREHERBANT - 2)
SekotoloiolotolololololedolbloolooloRoR oK
* NA DOREN KAISEKI *
. % TEST DATA -4830, 0SEC %
bkl

ANAMAAT ,
NINTAL = 0, INMT=Q
DELT = 0.01, TMAX= 0.0,
NUMREC = 25, I0RSTA = 0, RSTART = 0.,
OUTTIM(1) = 0.0, 120.0, 1800.0, 1.0E+10,

- OUTDEL(1) =1.0, 5.0, 10.0, 10. 0,
RSTTIM(1) = 0.,  1000000.,
RSTDEL(1) = 5000,1, 5000.1,
. RSTDEL(1) =11000, 1, 11000. 1,
&END
&NAMAA2 .
~ NTEMP = 6, :

NTMP(1) =1, 2, 3, 4, 5, 6,
ITMAX(1)= 4, 4, 4, 4, 4, 6,
ITST(1) = 2, 2, 2, 2, 2, 2,
TGAIN(1)= 6%1.0, | |
XTEMP(1,1) = 0.0,- 0.01, 0.02, 1. 0E+5,
YTEMP(1,1) = 0.0, 0.0, 1.0, 1.0,
XTEMP(1,2) = 0.0, 210.0, 210.01, 1.0E+5,
YTEMP(1,2) = 0.0, 0.0, 1.0, 1.0,
XTEMP(1,3) = 0.0, 126.0, 126.01, 1.0E%5,
YTEMP(1,3) = 0.0, 0.0, 1.0, 1.0,
XTEMP(1,4) = 0.0, 212.0, 212.01, 1.0E+5,
YTEMP(1,4) = 0.0, 0.0, 1.0, 1.0,
XTEMP(1,5) = 0.0, 378.0, 378.01, 1.0Et5,
YTEMP(1,5) = 0.0, 0.0, 1.0, 1.0,
XTEMP(1,6) = 0.0, 332.0, 332.01, 1736.0, 1736.01, 1.0Et5,
YTEMP(1,6) = 0.0, 0.0, 1.0, 1.0, 0.0, 0.0,
NOTEMP = 6,
NPTEMP(1) =10, 6, 4, 7, 8, 8,
NQTEMP(1, 1) = 1, 2, 3, 4, 5 6 10, 11,828,834,
NQTEMP(1, 2) =1230,1235,21, 22, 23, 24, ‘
NQTEMP(1, 3) =735, 736, 737, 738,
NQTEMP(1, 4) =448, 732, 454,733, 731, 734, 735,
NQTEMP(1, 5) =828, 1051, 1052, 1053, 1054, 1055, 1056, 1057,
NQTEMP(1, 6) =1229, 1230, 1232, 1233, 1234, 1235, 1236, 1237,
NOPRSN = B,
NPPRSN(1) = 10,10,10,10, 8,
NQPRSN(1, 1) =10%4,
NRPRSN(1, 1) = 1, 2, 3, 4, 5, 6 7, 8, 9,10,
NQPRSN(1, 2) -10*4
NRPRSN(1, 2) = 11,12, 13, 14,15, 16,17, 18, 19, 20,
NQPRSN(1, 3) = 9x4,
NRPRSN(1, 3) = 21,22, 23, 24, 25, 26, 27, 28, 29,
NQPRSN(1, 4) = 4, 5,4, 5, 4, 5 4,5, 4, 5,
NRPRSN(1, 4) =19, 1,21, 2,23, 3,24, 5,25, 4,
NQPRSN(1, 5) = 4, 5, 4, 5 4, 5, 4, 5 4, 5,
NRPRSN(1, 5) = 26, 8,27, 7,28,10,29, 9
NOFLWN - = b,
NPFLWN(1) = 10,10;10, 6, 9,
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NQFLWN(1, 1) = 10%4,
NRFLWN(1, 1) = 1, 2, 3, 4, 5 6, 7, 8 9,10,
NQFLWN(1, 2) = 10%4,
NRFLWN(1, 2) = 11,12,13, 14,15, 16,17, 18, 19, 20
NQFLWN(1, 3) = 10%4,
NRFLWN(1, 3) = 21, 22, 23, 24, 25, 26, 27, 28, 29, 30
NQFLWN(1, 4) = 64,
NRFLWN(1, 4) = 31, 32, 33, 34, 35, 36,
NQFLWN(1, 5) = x5,
NRFLWN(1, 5) = 1, 2, 3, 4, 5 6, 7, 8 9,
NOPMPN = 1,
NPPMPN(1) = 6,
NQPMPN(1, 1) =6%6,
NRPMPN(1, 1) = 1, 2, 3, 4, 5, 6,
NOVLWN -~ = = 3,
NPVLVN(1) = 10, 10,10,
NQVLVN(1, 1) = 3, 3, 6, 6, 9, 9,12,12, 26,26,
NRVLWN(T, 1) = 1, 2,1, 2, 1,2 1, 2, 1, 2
NQVLVN(1, 2) = 16,16, 17,17, 18, 18, 19, 19, 20, 20,
NRVLVN(1, 2) = 1, 2, 1, 2, 1,2, 1, 2, 1, 2
NQVLVN(1, 3) = 21,21, 22, 22, 23, 23, 24, 24, 25, 25,
NRVLVN(T, 3) = 1, 2,1, 2, 1, 2, 1, 2, 1, 2
&END
SNAMFN1
NNFN = 4,  IMDLFN(1) =0,0,0, 1, JNETFN(1) = 1,2, 3,4,
DTIMFN(1,1) = 0., 100000., DDELFN(1 1) = 0.1,
DTIMFN(1,2) = 0. ,100000. DDELFN(1,2) = 0.1,
DTIMFN(1,3) = 0.,100000., DDELFN(1,3) = 0.1,
DTIMFN(1, 4)=0. 200.,500., DDELFN(1,4) = 0.02,0.02,0. 02,
TMAXFN(1) = 4% 1 0E+10,
IPSTFN(1) = 2, 3%2, IPTRFN(1) = 0,0,0, 1,
OUTEN(1, 4)= 100., 328., 330.,
332., 334., 336., 338., 500.,
&END
OUTFN(1, 4)= 120., 240., 360., 480., 600., 720., 840., 960.,
1080. , 1200. , 1320., 1440. , 1560. , 1680. , 1800. , 1920.,
2040, , 2160. , 2280. , 2400. , 2520. , 2640. , 2760. , 2880. ,
3000. , 3120. , 3240. , 3360. , 3480. , 3600. ,
JPT1(1, 4) =19, 8 9, 10 11, 12 1, 8, 7, 6, 6, 5 4, 1,23,15,25, 18,
JPT2(1,4) = 8, 9,10,11,12, 1, 2, 7, 6,13, 5, 4, 3,14,15,16, 18,17,
JPTF(1,4) =18, 8, 9,10,11,12, 1, 7, 6,13, 5, 4, 3,16,22,24, 29, 28
JPTX(1,4) =1, 1, 1, 1, 1, 1, 1,-1,-1, 1,-1,-1,-1,-1,-1,-1, -1,
&NAMFN2
NFFN(4) = 30,
NPT1(1,4) =1, 2, 3, 4, 5, 6, 7, 8, 9,10,11,12, 6,13,13,
NPT2(1,4) = 2, 3, 4, 5, 6, 7, 8 9,10,11,12, 1,13,14,14,
NPT1(16,4)=14,15, 8, 9,10,11,15, 3,16,16, 7, 4,17,18, 7,
NPT2(16, 4)= 1,12, 19, 20, 21, 22, 23, 16, 15, 24, 17,17, 18, 25, 8,
JPT1(1,4) =19, 8, 9,10,11,12, 1, 8, 7, 6, 6, 5, 4, 1,23,15, 7,
JPT2(1,4) = 8, 9,10,11,12, 1, 2, 7, 6,13, 5, 4, 3,14,15,16,17,
JPTF(1,4) =18, 8, 9,10,11,12, 1,30, 6,13, 5, 4, 3,16,22, 24,26,
JPTX(1,4) =1, 1, 1, 1, 1, 1, 1,-1,-1, 1,-1,-1,-1,-1,-1,-1, 1,

JPT1(18, 4)=25,

JPT2(18, 4)=18

-38-
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JPTF(18, 4)=29,
JPTX(18, 4)=-1,

NEFN(1,4) = 0,1,0,3,0,1,1,1,2,1,

NEFN(11,4)= 2,1,2,0,0,1,1,1,1,1,

NEFN(21,4)= 1,1,0,1,0,1,1,1,0,1,

NEFN(31,4)= 1,1.1, |

ALCF(1,4) = 10.0,80.9, 10.0,1199.9, 10.0, 51, 78, 105, 9, 0. 7566, 172. 62,
3,7233, 32,773, 16. 298, 709. 52, 1., 1., 505. 89, 605, 42,

0. 321, 3, 495, 0. 4793, 6. 6, 23. 978, 40. 2, 23. 978, 425. 82,
6428. , 4040.,3291.,10.0, 10. 0, 18. 3, 10. 0, 8. 26,

WINT(1, 4)=394, 4143, 397, 1919, 393, 6389, 2393, 6386, 392. 8543, 389. 081, -
WINT(8, 4)=2%392. 854, 24#390. 0767, 393, 6297, 0. 7843, 0. 0418, 0, 7425,
WINT(16, 4)=0,7843, 3,553, 2%0, 0, 2. 777, 2%0, 0, 2#3, 553, 0. 0, 243, 0E-4,
WINT(28, 4)=6,0E-4, 0.0, 3.773,

WDPO(1, 4) = 1038. 9, 1067. 2, 3%1038. 9, 6%1036, 1, 1067. 2, 65, 2778, 0. , 0.,
wpPO(16, 4)= 65. 2778, 31. 111, 1036. 1, 100., 1036. 1, 100. , 3%31, 111,
WDPO(25, 4)= 100.0, 4%30.0, 4%100.0,

KWRN(1, 2,4)=1, DPRS(1,1, 2,4)=0.156E4, ALPH(1,1, 2,4)=1.96,
KWRR(1, 2,4)=1, DPRR(1,1, 2,4)=0.156E4, ALPR(1,1, 2,4)=1.96,
KWRN(1, 4,4)=3%1, DPRS(1,1, 4,4)=0.556E4, ALPH(1,1, 4,4)=1.095,
' DPRS(1,2, 4,4)=0.325E4, ALPH(1,2, 4,4)=1.90,
DPRS(1,3, 4,4)=0,513E4, ALPH(1,3, 4,4)=1.92,
KWRR(1, -4,4)=3%1, DPRR(1,1, 4,4)=0.556E4, ALPR(1,1, 4,4)=1.095,
‘ DPRR(1,2, 4,4)=0.325E4, ALPR(1,2, 4,4)=1.90,
DPRR(1, 3, 4,4)=0.513E4, ALPR(1,3, 4,4)=1.92,
KWRN(1, 6,4)=1,  DPRS(1,1, 6,4)=0.290E4, ALPH(1,1, 6,4)=1.96,
KWRR(1, 6,4)=1, ~ DPRR(1,1, 6,4)=0.290E4, ALPR(1,1, 6,4)=1.96,
KWRN(1, 7,4)=1,  DPRS(1,1, 7,4)=0.230E4, ALPH(1,1, 7,4)=2.0,
KWRR(1, 7,4)=1, = DPRR(1,1, 7,4)=0.230E4, ALPR(1,1, 7,4)=2.0,
KWRN(1, 8,4)=1,  DPRS(1,1, 8,4)=0,020E4, ALPH(1,1, 8,4)=1.85,
KWRR(1, 8,4)=1, DPRR(1,1, 8,4)=0.020E4, ALPR(1,1, 8,4)=1.85,
KWRN(1, 9,4)=2k1, DPRS(1,1, 9,4)=0.278E4, ALPH(1,1, §,4)=1.95,
DPRS(1,2, 9,4)=0,370E4, ALPH(1,2, 9,4)=2.0,
KWRR(1, 9,4)=2%1, DPRR(1,1, 9,4)=0.278E4, ALPR(1,1, 9,4)=1.95,
‘ DPRR(1,2, 9,4)=0,370E4, ALPR(1,2, 9,4)=2.0,
KWRN(1, 9,4)=2«1, DPRS(1,1, 9,4)=0.173E4, ALPH(1,1, 9,4)=1.95,
DPRS(1,2, 9,4)=0.227€4, ALPH(1,2, 9,4)=2.0,
KWRR(1, 9,4)=2%¢1, DPRR(1,1, 9,4)=0.173E4, ALPR(1,1, 9,4)=1.95,
~ DPRR(1,2, 9, 4)=0.227E4, ALPR(1,2, 9,4)=2.0,
KWRN(1,10,4)=1,  DPRS(1, 1,10, 4)=0, 047E4, . ALPH(1, 1, 10, 4)=1, 85,
KWRR(1,10,4)=1,  DPRR(1,1, 10, 4)=0. 047E4, ALPR(1,1,10, 4)=1, 85,
KWRN(1, 11, 4)=2%1, DPRS(1,1, 11, 4)=0, 440E3, ALPH(1,1,11,4)=2.0,
DPRS(1, 2, 11, 4)=0. 320E3, ALPH(1,2, 11, 4)=1, 92,
KWRR(1, 11, 4)=2%1, DPRR(1,1, 11, 4)=0. 440E3, ALPR(1,1,11,4)=2.0,
DPRR(T, 2, 11, 4)=0. 320E3, ALPR(1,2,11,4)=1.92,
KWRN(1,12,4)=1,  DPRS(1, 1,12, 4)=0. 004€4, ALPH(1,1,12,4)=1,92,
KWRR(1,12,4)=1,  DPRR(1,1, 12, 4)=0. 004E4, ALPR(1,1,12,4)=1.92,
KWRN(1, 13, 4)=2%1, DPRS(1,1,13,4)=0,170E3, ALPH(1,1,13,4)=1.9,
| DPRS(1,2, 13,4)=0. 392E3, ALPH(1,2,13,4)=1.8,
KWRR(1, 13,4)=2%1, DPRR(1,1,13,4)=0.170E3, ALPR(1,1,13,4)=1.9,
DPRR(1, 2, 13, 4)=0. 392E3, ALPR(1,2,13,4)=1.8,
KWRN(1,16,4)=1,  DPRS(1,1, 16, 4)=0. 223€3, ALPH(1,1,16,4)=1.9,
KWRR(1, 16,4)=1,  DPRR(1, 1,16, 4)=0. 223€3, ALPR(1,1,16,4)=1.9,
KWRN(1,17,4)=1,  DPRS(1,1, 17, 4)=0. 3450E4, ALPH(1, 1,17, 4)=2.,
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)=0. 3450E4, ALPR(

KWRR(1,17,4)=1,  DPRR(1,1,17,4 1,1,17,4)=2,,
KWRN(1, 18, 4)= 1 DPRS(1, 1, 18, 4)=0. 0087E4, ALPH(1, 1, 18, 4)=2.,
KWRR(1, 18.4>=1 DPRR(1, 1, 18, 4)=0. 0087E4, ALPR(1, 1, 18, 4)=2.
KWRN(1,19, 4)=1,  DPRS(1, 1, 19, 4)=0, 0479E3, ALPH(1, 1, 19, 4)=2.,
KWRR(1,19,4)=1,  DPRR(1,1, 19, 4)=0. 0479E3, ALPR(1, 1, 19, 4)=2.

* KWRN(1,20,4)=1,  DPRS(1, 1, 20, 4)=0. 0869E3, ALPH(1, 1, 20, 4)=2.,
KWRR(1,20, 4)=1,  DPRR(1, 1, 20, 4)=0. 0869E3, ALPR(1, 1, 20, 4)=2.
KWRN(1,21,4)=1,  DPRS(1, 1,21, 4)=0. 0265E3, ALPH(1, 1, 21, 4)=2.,
KWRR(1, 21,4)=1,  DPRR(1, 1, 21, 4)=0. 0265E3, ALPR(1, 1, 21, 4)=2,
KWRN(1,22,4)=1,  DPRS(1,1, 22, 4)=0.0100E4, ALPH(1, 1, 22, 4)=2.,
KWRR(1,22,4)=1,  DPRR(1,1, 22, 4)=0. 0100E4, ALPR(1, 1, 22, 4)=2.
KWRN(1,23,4)=1,  DPRS(1, 1,23, 4)=6. 2304E4, ALPH(1, 1, 23, 4)=2.0,
KWRR(1,23,4)=1,  DPRR(1, 1, 23, 4)=6. 2304E4, ALPR(1, 1, 23, 4)=2.0,

 KWRN(1, 24, 4)=1, = DPRS(1, 1, 24, 4)=2, 925739064, ALPH(1, 1, 24, 4)=2,
KWRR(1, 24, 4)=1,  DPRR(1, 1, 24, 4)=2. 92573906E4, ALPR(1, 1, 24, 4)=2.,

KWRN(1, 24, 4)=1, = DPRS(1, 1, 24, 4)=0. 3054E4, ALPH(1, 1, 24, 4)=2. ,

KWRR(1, 24, 4)=1,  DPRR(1, 1, 24, 4)=0. 3054E4, ALPR(1, 1, 24, 4)=2.,

- KWRN(1, 25, 4)=1, DPRS( 1, 26, 4)=9, 4035E3, ALPH(1, 1, 26,4)=1 7719,
~ KWRR(1, 26 4)=1,  DPRR(1, 1, 26, 4)=0, 4035E3, ALPR(1, 1, 26, 4)=1. 7719,
KWRN(1, 27 ,4)=1, DPRS(1, 1, 27, 4)=5, 4996E3, ALPH(1, 1, 27, 4)=1. 7633,

" KWRR(1, 27, 4)=1,  DPRR(1,1, 27, 4)=5, 4996E3, ALPR(1, 1, 27, 4)=1. 7633,
KWRN(1, 28, 4)=1,  DPRS( ,1,28,4)=2 3154€E3, ALPH(1, 1, 28, 4)=1, 7709,
KWRR(1.28,4)=1,  DPRR(1, 1, 28, 4)=2. 3154E3, ALPR(1, 1, 28, 4)=1. 7709,
KWRN(1, 29, 4)=1,  DPRS(1,1, 29, 4)=1.000E4, ALPH(1,1, 29, 4)=2.,
KWRR(1, 29, 4)=1,  DPRR(1, 1,29, 4)=1.000E4, ALPR(1,1,29,4)=2,,
KWRN(1, 30, 4)=1,  DPRS(1, 1,30, 4)=1.000E4, ALPH(1,1,30,4)=2.,
KWRR(1, 30, 4)=1,  DPRR(1, 1, 30, 4)=1. 000E4, ALPR(1,1, 30, 4)=2.,
KWRN(1, 31, 4)=1,  DPRS(1,1, 31, 4)=1, 000E4, ALPH(1,1,31,4)=2.,
KWRR(1, 31, 4)=1,  DPRR(1, 1, 31, 4)=1. 000E4, - ALPR(1, 1, 31, 4)=2.,
KWRN(1, 32, 4)=1,  DPRS(1, 1, 32, 4)=1,000E4, ALPH(1,1,32,4)=2.,
KWRR(1, 32, 4)=1,  DPRR(1, 1,32, 4)=1,000E4, ALPR(1,1,32,4)=2.,
KWRN(1, 33,4)=1,  DPRS(1, 1, 33, 4)=1.000E4, ALPH(1,1, 33,4)=2.,
KWRR(1, 33,4)=1,  DPRR(1, 1,33, 4)=1.000E4, ALPR(1,1,33,4)=2.,
IEINT(4) = 1, ‘

KELHD( 1, 4)=0, 12%1,

KELHD( 16, 4)=2%1, 5%0, 2%1, 0, 3x1, 0, 1, |
JELHD(1, 2,4)= 402, EINT(1 2, 4)=-10536. 098,
JELHD(1, 3,4)= 403, EINT(1, 3,4)= 5349, 436,
JELHO(1, 4,4)= 404, EINT(1, 4,4)= -955,040,
JELHD(1, 5,4)= 405, EINT(1, 5,4)= 0. 000,
JELHD(1, 6,4): 406, - EINT(1, 6,4)= 0. 000,
JELHD(1, 7,4)= 407, EINT(1, 7,4)= -5690. 603,
JELHD(1, 8,4)= 408, EINT(1, 8,4)= 3082.018,

~ JELHD(1, 9,4)= 409, EINT(1, 9,4)= -3082.018,

JELHD(1, 10, 4)= 410, EINT(1,10,4)= 6319.184,
JELHD(1, 11, 4)= 411, EINT(1,11,4)= 5882.876,
JELHD(1,12, 4)= 412, EINT(1,12,4)=  0.000,

- JELHD(1, 13, 4)= 413, EINT(1,13,4)= 6729.134,
JELHD(1, 16, 4)= 416, EINT(1,16,4)=  0.000,
JELHD(1,17,4)= 417, EINT(1,17, 4)= 10093. 777,
JELHD(1, 23, 4)= 423, EINT(1,23,4)= -743.111,
JELHD(1, 24, 4)= 424, EINT(1,24,4)= 1185. 426,
JELHD(1, 26, 4)= 426, EINT(1, 26,4)= 7526.543,

. EINT(1,27,4)=

JELHD(1, 27, 4)= 427,

6336. 648,
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JELHD(1, 28, 4)= 428,

EINT(1,28,4)= 8857.302,

NPEN(2,4) =1, JELHD(1,30,4)= 379, EINT(1,30, 4)= -5690. 603,
JIPMP(1,2,4) = 6, J2PNP(1,2,4) = 3,  PHRATE(1,2,4)=1.,
NVEN(3,4) = 1, JIVLV(1, 30, 4)= 25,
NVEN(7,4) = 1,340, 1, JVLV(1,30,4)= 3,
NVEN(14,4) = 1,1,0,1, VINT(1,30,4) = 11.569,
NVEN(23,4) = 0,1,0,3%1,
NVEN(23,4) = 1,0,0,3%1,0,1, ‘
JIVLV(1, 3 )= 16, JLV(1, 3,8)= 3,  ISTVLV(1, 3,4) =1
ST, 7.4 3 JVLV(1, 7,4)= 3, ISTVLV(1.7, 4)= 1,
JIVLV(1,11,4)= 6, J2vLv(1,11,4)= 3,  VINT(1,11,4) =1.08094E-3,
JIVLV(1,14,4)= 8, JaVLV(1,14,4)= 3,  ISTVLV(1,14,4) =1, ‘
JIVLV(1,15,4)= 12, J2vLv(1,15,4)= 3,  ISTVLV(1,15,4) =1,
JIVLV(1,17,4)= 15, JavLv(1,17,4)= 3,  ISTVLV(1,17,4) =1,
JIVLV(1, 23,4)= 27, J2viv(1,23,4)= 3,  ISTVLV(1,23,4) =1,
JIVLV(1. 26,4)= 17, J2VLV(1, 26, 4)= 3, VINT(1, 26, 4)=1,512217E11,
JIVLV(1, 27, 4)= 18, J2VLV(1,27,4)= 3, VINT(1,27, 4)=1. 77293911,
CJWVLV(1,28,4)= 19, J2VLV(1,28, 4)= 3, VINT(1, 28, 4)=2. 460366E10,
NOEN(4) =18,  NSFN(1, 4) = 0,1, 15%0, 3,
JSPAS(1, 2,4)=34, LSFN(1, 2,4)=1,  SINT(1, 2 4)= -2.7776,
ISEN(1, 2,4) = 2,  KSX(1,2,4)= 4,
XsX(1,1, 2,4)= 0.0, 5165.0, 5171.0, 1.0€S5,
XSX(1,1, 2,4)= 0.0, 335.0, 341,0, 1.0ES,
YSX(1,1, 2,4)= -2.7776,-2.7776, 2%-2.777€-4,
JSPAS(1,18,4)=34,  LSFN(1,18,4)=0,  SINT(1,18,4)= 2.7776,
ISFN(1,18,4) = 2,  KSX(1,18,4)= 4, -
XsX(1,1,18,4)= 0.0, 5165.0, 5171.0, 1.0ES5,
XSX(1,1,18,4)= 0.0, 335.0, 341,0, 1.0ES,
YSX(1,1,18,4)= 2.7776, 2.7776, 2%2.777E-4,
JSPAS(2,18,4)=35,  LSFN(2,18,4)=1,  SINT(2,18,4)= 0.00,

ISFN(2,18,4) = 1,  JSXNET(2,18,4) = 4, JSXPAS(2,18,4) = 35,
JSPAS(3,18,4)=36,  LSFN(3,18,4)=1, SINT(3,18,4)= -2.777,
ISFN(3,18,4) =1,  JSXNET(3,18,4) = 4, JSXPAS(3,18,4) = 36,
NBFN(4)= 7, JBFN(1, 4)=19, 20, 21, 22, 23, 24, 25, 26, 27, 28, 25,

PBO(1,4) = 2%1.06598E4, 5k1.0E4,

PBO(8, 4) = 1.512684E4, 0,871282E4, 1.746138E4, 1.47605E4,
NLFN(4) =7,

JLNOD(1,4) = 19, 20, 21, 22, 23, 24, 25, 26, 27, 28, 29,
JLPAS(1,4) = 18, 19, 20, 21, 22, 25, 29, 30, 31, 32, 33,

JLHIT(1, 4) =448, 451, 454, 457, 445, 460, 395, 387, 388, 391, 393,
THIT(1,4) = 2x%400. 0, 2«340. 0, 2%280. 0, 340. 0, 2%400. 0, 2+280. 0,
HEIT(1,4)= 0.0, 3.5612, 0.04596, 7.0981, 2.49, 1.2,

HEIT(7,4)= 1.298, 2.4372, 9.9292, 3.717, 5.5404,
NOFFN(3,4) =1, JOFPAS(1,3,4) = 36,
{OFFN(1,3,4) = 2, -~ OFCNST(1,3,4)= 13.72759,
OFLVL1(1,3,4)= 0.0,  OFLVL2(1, 3, 4)= 1.0E10,
NOFFN(S, 4) =1, JOFPAS(1,5,4) = 35,
IOFFN(1,5,4) = 2, OFCNST(1,5,4)= 8. 7816,
OFLVL1(1,5,4)= 1.0E10, OFLVL2(1, 5, 4)= 2. 48, JTRIP(4) = 821,
KLVLV(1,4) = 4,3,4,3,2,8,16,14,14,14,13,
XLvLv(1, 1,4)= -3.6, -1.3, 0.0, 297,
yLvLv(i, 1,4)= 0.0, 6.82, 12.42, 27.55,
XLvLv(1l, 2,4)= 0.0, 3.3, 6.57,

2,4)= 0.0, 16.83 23.4,

YLVLV(1,
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XLVLV(1, 3,4)= -7.26, -1.85, 0.0, 3.0,

YLVLV(1, 3,4)= 0.0, 14,35, 21.38, 37.115,

XLVLV(1, 4,4)= 0.0, 6.9, 10.26,

YLVLV(1, 4,4)= 0.0, 13.877,18.583,

XLVLV(1, 5,4)= 0.0, 3.37,

YLVLV(1, 5,4)= 0.0, 0.73955,

XLVLV(1, 6,4)= -1.6, -1.1098, -0.84, -0.5701, -0.28,
.0, 116, 236

1
0
YLVLV(1, 6,4)= 0.0, 0.4502, 0.9194, 1.3886, 1.7482,
1.9061, 2.5601, 32366,
0.0,0.1000, 0.3000, 0.5000, 0.7000,
©1.0000, 1. 4000, 2.5000, 3.0000, 3.5000,
3,7000, 3. 8000, 3.9000, 4.0000, 4.2000,
4, 4000,
YLVLV(1, 7,4)=0.00000,0.2894, 4.8256, 10.408, 16.926,
28,2180, 45.526, 99,596, 123.65, 144,98,
152. 360, 155.75, 158.92, 161.86, 166,99,
171.020,
XLVLV(1, 8,4)=  0.0,0.2700, 0.5060, 0.5400, 1.0460,
1.3240,1. 4180, 1.6840, 1.7430, 1.8540,
1.8970,2,0970, 2.2240, 2.4370,
YLVLV(1, 8,4)=0,83782, 1.3506, 3.2383, 3.6181, 9.9485,
12,8400, 13,997, 17.639, 18.590, 21.087,
| 21,4670, 27.625, 30,532, 32.099,
XLVLV(1, 9,4)=  0.0,0.0270, 0.2700, 0.2970, 0.5400,
0.5670, 1. 8540, 3.8540, 5.8540, 7. 8540,
8.3040, 8. 5740, 8. 8440, 9.9290,
YLVLV(1, 9,4)=  0.0,0.0242, 0.8601, 0.9771, 1.8057,
1.8166,2. 1217, 2.5795, 3.0368, 3.4941,
3.5068, 4. 2996, 5,1213, 5.3845,
XLVLV(1,10,4)=  0.0,0.1660, 0.5670, 0.7230, 1.2000,
1.6460, 1.9160, 2.1860, 3.1300, 3.1800,
3,3000, 3. 5700, 3.5880, 3.7170,
YLVLV(1, 10, 4)= 0.3998, 0. 6943, 6.3199, 9.0236, 18.091,
19.645, 19,710, 19,773, 19.995, 20.011,
21,188, 24,156, 24,292, 24.705,
XLVLV(1,11,4)=  0.0,0.0040, 0.1660, 0.5670, 0.7230,
1.2000, 2. 2000, 3.2000, 4.2000, 5.2000,
6. 2300, 6. 5000, 6. 7700,
YLVLV(T, 11, 4)= 0.0000, 0.0097, 0.3812, 3,5057, 3.8346,
3,9547,4.1827, 4.4117, 4.6414, 4.8401,
5.1172,5.3577, 5.5461,

XLvLv(1, 7,4)=

KLVLA(1,4) = 6,4,6,4,2,8,16,14,14,14,13,
XLVLA(1, 1,4)= -3.6, -1.3, -1.299, 0.0, 0.001, 2 97,
YLVLA(1, 1,4)= 2%2,9652,  2%4, 30769, 25, 09428,
 XLVLA(1, 2,4)= 0.0, 3.3, 3.301, 6.57,
YLVLA(1, 2,4)= 2%5.1, 2%2, 0092,
XLVLA(1, 3,4)= -7.26,-1.85,-1.849, 0.0, 0.001, 3.00,
YLVLA(1, 3,4)= 2%2.6525, 2%3.8, 2%5,245,
XLVLA(1, 4,4)= 0.0, 6.96, 6.961, 10.26,
YLVLA(1, 4,4)=  2%1,99382, 2%1, 42606,
XLVLA(1, 5,4)= 0.0, 3.37,
 YLVLAQ1, 5,4)=  0,219451, 0.219451,
XLVLA(1, 6,4)= -1.6, -1.1099, -0.84, -0.5701, -0.28,
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0.0, .1.16, 2.3,
YLVLA(1, 6,4)= 0,9186, 1.73842,1.73842, 1.23957, 0. 5638,
0.5638, 0.5638, 0.5638, |
XLVLAC1, 7,4)=  0.0,0,1000, 0.3000, 0.5000, 0.7000,
| 1.0000, 1, 4000, 2.5000, 3.0000, 3.5000,
3,7000, 3. 8000, 3.9000, 4.0000, 4, 2000,
44000, |
YLVLACT, 7,4)= 2.8944, 22,681, 27.910, 32,591, 37.641,
43,270,49.155, 48,111, 42.655, 36.914,
33,904,31.715, 29,388, 25.624, 20.147,
0. 0000, \
XLVLA(T, 8,4)=  0.0,0,2700, 0.5060, 0.5400, 1.0460,
" 1,3240,1.4180, 1.6840, 1.7430, 1.8540,
. 1.8970,2,0970, 2.2240, 2. 4370,
YLVLACT, 8,4)= 1.8990,7.9991, 11.170, 12,511, 10.400,
12,312,13.630, 16.116, 22.495, 8.8462,
©30.793,22.890, 7.3563, 1.0E-6,
XLVLA(1, 9,4)=  0.0,0.0270, 0.2700, 0.2970, 0.%5400,
0.5670, 1. 8540, 3.8540, 5.,8540, 7. 8540,
| 8.3040, 8. 5740, 8.8440, 99290,
YLVLA(1, 9,4)= 0.8944,3,4403, 4.3318, 3.4098, 0.4044,
0.2371,0.2289, 0.2287, 0.2286, 0.2283,
| 2.6030,3.0433, 0.2426, 1.0E-5,
XLVLA(1,10,4)=  0.0,0,1660, 0.5670, 0.7230, 1.2000,
1.6460, 1. 9160, 2.1860, 3.1300, 3.1800,
3,3000,3.5700, 3.5880, 3.7170,
vmmmmnnumm,nwmmw&mu
0.2374,0.2341, 0.2355, 0.3184, 9,8126,
110.993,7.5160, 3.2024, 1,06-6,
XLVLA(1,11,4)=  0.0,0.0040, 0.1660, 0.5670, 0.7230,
1.2000, 2. 2000, 3.2000, 4.2000, 5. 2000,
6. 2300, 6. 5000, 6. 7700,
YLVLA(1, 11, 4)= 2.4137,2.2937, 7.7918, 2.1083, 0.2517,
0.2280,0.2290, 0.2298, 0.1987, 0.2690,
0.8908, 0. 6976, 1. 0E-6,

iCGFN(1,4) = 11%2,

ICGFN(T, 4) = 111,

ICGFN(T,4) = 75, JCGNET(1,4) = 11%5,

ICGFN(8, 4) = 45, JCGNOD(1,4) = 1,1,2,2,3,5,4,8,7, 10,9,

KCGV(1,4) = 4,3,4,3,2,8,16,14,14,14, 13,

TCG(1,4) =11310.,

XCQV(1,1,4) = -3.6, -1.3, 0.0, 2.97,

YCGV(1,1,4) = 27.55, 20.73, 15.13, 1.0E-6,
©XCGV(1,2,4) = 0.0, 3.3, 6.57,

YCGV(1,2,4) = 23.4, 6.57, 1.0E-6,

XCGV(1,3,4) = -7.26, -1.85, 0.0, 3.0,

YCGV(1,3,4) =  37.115, 22. 765, 15. 735, 1. OE-6,

XCGV(1,4,4) = 0.0, 6.96, '10.26,

YCGV(1,4,4) = 18,583, 4,706, 1.0E-6,

XCGv(1,5,4) = 0.0, 3.37,
© YCGV(1,5,4) =  0.73955, 1. OE-,

XCGV(1,6,4) =  ~1.6, -1.1099, -0.84, -0.5701, -0.28,

0.0, 1.16, 2.36,
YCGV(1,6,4) = 3.2366, 2.7864, 2.3172, 11,8480, 1.4884,

—d43—
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1. 3305, - 0.6766, 1.0E-6,

0. 0, 0. 1000,
1..0000, 1. 4000,
3, 7000, 3. 8000,

XCv(1,7,4) =

. 4. 4000,
ycav(1,7,4)

1. OE-6,
xcav(1,8,4) =  0.0,0.2700,
1. 3240, 1. 4180,
- 1.8970, 2. 0970,
ycav(1,8,4) = 31,261, 30. 748,

19. 259, 18. 102,
10. 632, 4. 4735,
0.0, 0. 0270,

0. 5670, 1. 8540,
8. 3040, 8. 5740,
= 5., 3845, 5. 3604,
3.5679, 3. 2628,
1.7877,1. 0849,
0.0, 0. 1660,

- 1.6460, 1. 9160,

3. 3000, 3. 5700,

YCGV(1,10,4) = 24.305, 24. 011,
5. 0595, 4. 9954,
3.5165, 0. 5485,
0.0, 0. 0040,

1. 2000, 2. 2000,
8. 2300, 6. 5000,
YCGv(1,11,4) = 5.5461, 5, 5364,
1.5914, 1. 3634,

0. 42889, 0. 18837, 5. 0E-2,

XCGv(1,9,4) =
YCGV(1, 9, 4)

Xcav(1, 10, 4) =

XCGv(1,11,4) =

= 171.02,170.73,
142. 80, 125, 49,
18. 658, 15. 267,

0. 3000,
2. 5000,
3. 9000,

166. 19,
71,424,
12, 096,

0. 5060,
1. 6840,
2, 2240,
28. 861,
14. 460,
1. 5665,
0. 2700,
3, 8540,
8. 8440,
4.5244,
2. 8050,
0. 26322,
0. 5670,
2. 1860,
3. 5880,
18. 385,
4.9322,
0. 4132,
0. 1660,
3. 2000,
6. 7700,
5. 1649,
1.1344,

0. 7000,
3. 5000,
4, 2000,

0. 5000,
3. 0000,
4, 0000,

160, 61,
47. 368,

9. 1569,

154,09,
26. 040,
4,0321,

0. 5400,
1.7430,
2. 4370,
28, 481,
13. 509,
5.0E-2,
0. 2970,
5. 8540,
9. 9290,
4, 4074,
2.3477,

1. 0460,
1. 8540,

22,150,
11.012,

0. 5400,
7. 8540,

3.5788,
1. 8905,

5, 0E-2,

0.7230,
3. 1300,
3.7170,
15. 681,
4.7099,
5. OE-2,
0. 5670,
4. 2000,

1. 2000,
3. 1800,

6. 6143,
4, 6940,

0. 7230,
5. 2000,

2.0403, 1.7115,
0. 90465, 0. 7060,

GMOLL(4) = 28., GCONL(4) = 0. 848,
&END
&NAMFG1
NNFG =1,
IMDLFG(1) = 1, JNETFG(1) = 5,
TMAXFG(1) = 100000., v
DMAXFG(1) = 0.001, DMINFG(1) = 0.001,
FMAXDT(1) = 1.0, FMINDT(1) = 1.0,
[END1(1) = 50, ICEND1(1) = 3
FCONVI(1) = 1.0E-6, DPEPS(1) =
KOPTP(1,1) = 6%1, 4%-1,
KOPTV(1,1) = 2,2,1,1,1, =1, 4%1,
KOPTF(1,1) = 9%1,
KOPTA(1,1) = 2,-1, 2,-1,-1, 2, 2, 2, 2,
KOPTA1(1,1) =20, 0,26, 0, 0,21,22,23, 24,
KOPTA2(1,1) =2, 0, 2, 0, 0, 2, 2, 2, 2
KOPTV1(1, 1, 1)=448, 451, KOPTV1(1, 2, 1)=454, 457,
KOPTV1(1, 3, 1)=445, KOPTV1(1, 4, 1)=395,
KOPTV1(1, 5, 1)=460,
KOPTV1(1, 7, 1)=389, KOPTV1(1, 8, 1)=387,
KOPTV1(1,9,1)=393,  KOPTV1(1,10,1)=391,

.._44.._
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KOPTVN

(
KOPTVN(
KOPTVN(
(
(
(

]

KOPTVN
KOPTVN
IPSTFG
OUTFG(1,

O~ Cw

1
1
1,
1
1
1

_Av‘

)
&END
&NAMFG2
NNOD(1)
JNOD(1, 1,1
JNOD(1, 2,1
JNOD(1, 3,1
JNOD(1, 4, 1
JNOD(1, 5, 1
JNOD(1, 6, 1
7,1
8,1
1
1
1

1

JNOD(1,7,
JNOD(1, 8,
JNOD(1, 9,
APRESO(1,
APRESO(7,
APRESO(9, 1
ATEMPO(1, 1)
VOLMO(1,1)
FMASO(1, 1)
AREA(1,1)
AVLVO(1,1)
IFRIC(1,1)
ALENG(1,1)
DEQVO(1,1)
COEFO(1, 1)
)
)
)
)

)
)
)
)
)
)
)
)
)
)
)
)

CcLBYD(1, 1
EPSI1(1,1
XVLVO(1, 1
COEFV(1,
NVIS
ARTEMP (1
ARVIS(1)
NTBL(1)
XTBL(1,
YTBL(1,
NTBL( 2
(1
(1

1
= 4,
)

1)
)

XTBL(1, )
YTBL(1, 2)
NTBL( 3)
XTBL(1, 3)
YTBL(1, 3)
NTBL( 4)
XTBL(1, 4)
YTBL(1, 4)
NTBL( 5)
XTBL(1, 5)
YTBL(1, 5)
NTBL({ 6)

)= 1, 3,KOPTVN(1,2,1)= 2, 4,
)= 5 KOPTUN(1,4,1)= 6,
)= 7,
)= 8, KOPTVN(1,8,1)= 9,
)= 10, KOPTVN(1, 10, 1)=11,
2, IPTRFG(1) = 2,
1.,3.,5.,10.,15.,20., 30., 500.,
10, NPAS(1) = g,
=1, JNOD(2,1,1) = 2,
= 2, JNOD(2,2,1) = 3,
= 2, JNOD(2,3,1) = 4,
= 3, JNOD(2,4,1) = 5,
=4, JNOD(2,5,1) = 6,
=1, JNOD(2,6,1) = 7,
= 1, JNOD(2,7,1) = 8,
=3, JNOD(2,8,1) =9,
= 3, JNOD(2,9,1) =10,
= 2.13540E4, 5%2.033E4,
= 1.904582E4, 2.545684E4,
= 2.50605E4, 2.779138E4,
= 2%400. 0, 24280, 0, 2%200. 0, 2+400. 0, 2+280. 0,
= 5%0. 0, 125. 49, 4x0. 0,
= 00, 0,
= 1. 085E-2, 4%5, 42E-3, 4%5, 42E-3,
= 8, 60E-3, 0. 0, 4. 30E-3, 2%0, 0, 4*4, 30E-3,
= 9%0,
= 9%20, 0,
= 9%0. 08,
= 1, 0E+4, 1. 0E+0, 1. OE+4, 241, OE+0, 4%1. OE+4,
= 9x0, 0,
= 050, 0E-6, FRICO(1,1) = 9%1, QEt5,
= 2¢0.0, 1.0, 6%0. 0,
= 167.0,0. 0, 87. 5, 2¢0. 0, 4«100. 0,
= 0.0, 200.0, 400.0, 600.0,
- 1.16€-5, 3. 17E-5, 5. 43€-5, 7. 68E-5,
= 4,
= -3.6, -1.3, 0.0, 297,
= 27.55, 20.73, 15.13, 1,0E-6,
= -7.26, -1.85, 0.0, 3.0,
= 37.115, 22,765, 15. 735, 1. OE-6,
= 3,
= 0.0, 3.3 6.5,
= 23.4, 6.57, 1.0E-6,
= 3,
= 0.0, 6.96 10.26,
= 18.583,4.706, 1.0E-6,
= 2, :
= 00, 3.37,
= (,73955, 1. 0E-6,
=16,
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XTBL(1, 6) = 0.0000, 0. 1000, 0. 3000, 0. 5000, 0. 7000, 1. 0000, 1. 4000,
2, 5000, 3. 0000, 3. 5000, 3. 7000, 3. 8000, 3. 9000, 4. 0000,
' 4. 2000, 4. 4000, - |
YTBL(1, 6) = 171.02,170.73,1686. 19, 160. 61, 154, 09, 142. 80, 125, 49,
o 71. 424, 47, 368, 26, 040, 18. 658, 15, 267, 12. 096, 9. 1569,
4, 0321, 0. 0000,
NTBL( 7) =8, _
XTBL(1, 7) =  -1.6, -1.1099, -0,84, -0.5701, -0.28,
0.0, 1.16, 2.36,
YTBL(1, 7) = 3.2366, 2.7864, 2.3172, 1.8480, 1.4884,
1.3305, 0.6766, 1.0E-6,
NTBL( 8) =14,
XTBL(1, 8) =  0.0,0.0270,0. 2700, 0. 2970, 0. 5400,
- 0. 5670, 1. 8540, 3. 8540, 5. 8540, 7. 8540,
8. 3040, 8. 5740, 8. 8440, 9, 9290,
YTBL(1, 8) = 5.3845, 5.3604, 4. 5244, 4, 4074, 3. 5788,
| 3. 5679, 3. 2628, 2. 8050, 2. 3477, 1. 8905,
| 1.7877, 1. 0849, 0. 2632, 5. 0E-2,
NTBL( 9) =14,
XTBL(1, 9) =  0.0,0.2700, 0. 5060, 0. 5400, 1. 0460,
1. 3240, 1. 4180, 1. 6840, 1. 7430, 1. 8540,
1. 8970, 2. 0970, 2. 2240, 2. 4370,
YTBL(1, 9) = 31.261, 30. 748, 28. 861, 28. 481, 22. 150,
19. 259, 18. 102, 14. 460, 13. 509, 11. 012,
10. 632, 4. 4735, 1. 5665, 5. 0E-2,
NTBL(10) =13,
XTBL(1,10) = 0.0, 0.0040, 0. 1660, 0. 5670, 0., 7230,
1. 2000, 2. 2000, 3. 2000, 4. 2000, 5. 2000,
6. 2300, 6. 5000, 6. 7700,
YTBL(1,10) = 5.5461,5.5364, 5. 1649, 2. 0403, 1. 7115,
1.5914, 1. 3634, 1. 1344, 0. 9047, 0, 7060,
0. 4289, 0. 1884, 5. 0E-2,
NTBL(11) =14,
XTBL(1,11) = 0.0,0. 1660, 0. 5670, 0. 7230, 1. 2000,
1. 6460, 1. 9160, 2. 1860, 3. 1300, 3. 1800,
3, 3000, 3. 5700, 3. 5880, 3. 7170,
YTBL(1,11) = 24.305,24.011, 18, 385, 15. 681, 6. 6143,
5. 0595, 4. 9954, 4, 9322, 4. 7099, 4. 6940,
3. 5165, 0. 5485, 0. 4132, 5., 0E-2,
&END
&NAMPP1
NNPN = 9,
IMDLPN(1) = 340, 0,0,1,  3x0,
KPUMP(1) = 1, 1, 1, 2 3 4 2 3 4
JPUMP(1) = 7,8 9 1, 1, 2 25 25 25
NNPUMP(1) = 1, 1,01, 1, 1, 1, 1, 1, 1,
JREF(1) = 3%2, 3%1, 31,
JPUHD(1) = 3 3 3 3 3 3 3 3 3
JROTA(1) = Ok2,
JTRIP(1) = Okd,
JPMSTR(1) = 945,
JPMTRP(1) = 9%6,
1OPT1(1) = 3%2, 3%, 345,
10PT3(1) = 3%2,  3%2, 340,
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10PT4(1)
10PT5(1)
INTIPN(1)
INTIPN(1)
NRSTP(1)
VRLIM(1)
ISTPN(1)
IDBGPN(1)
OUTPN(1,1)
OUTPN(1, 3)
OUTPN(1, 5)
OUTPN(1,7)
OUTPN(1,9)
OUTPN(1, 4)
OUTPN(1,5)
OUTPN(1,6)
TMAXPN(1)
DTIMPN(1, 1)
DTIMPN(1, 2)
DTIMPN(1,3)
DTIMPN(1, 4)
DTIMPN(1,5)
DTIMPN(1,6)
DTIMPN(1,7)
DTIMPN(1, 8)
DTIMPN(1,9)
DDELPN(1, 1)
DDELPN(1, 2
DDELPN(1, 3
DDELPN(1, 4
DDELPN(1,5
DDELPN(1, 6
DDELPN(1, 7
DDELPN(1, 8
DDELPN(1, 9

Wwow wownonnuw H N

)
)
)
)
)
)
)
)

&END
&NAMPP2
ROTAIN(1)
ROTAIN(4)
ROTAIN(4) =
PMFLIN(4)
PMFLIN(1) =
PUHDIN(4)
PWFLWR(1)
PWFLWR(4) =
ROTAR(1)
PHEADR(1)
PHEADR(4)
PHEADR(4) =
PTORQR(1)
PTORQR(4)
PTORQR(4) =
PEFICR(1)
PEFICR(4)

nu

3%3, 32, 30,
o0, ‘
3%1, 3x0, 3%0,
3%1, 3x1, 3%0,
9%100,
9%0, 0005,
3x0, 3%2, 3%0,
3%0, 30, 3%0,
1. 0E+10, OUTPN(1,2) = 1,0E+10,
1,0E+10, OUTPN(1,4) = 1,0E+10,
1.0E+10, OUTPN(1,6) = 1.0E+10,
1. 0E+10, 0yTPN(1,8) = 1.0E+10,
1. 0E+10, ‘
5.0, 1.0E*10,
5.0, 1.0E+10,
5.0, 1.0E+10,
31, 0E+10, 3#1. OE+10,3*1.0E+10,
0.0, 1. 0E+05,
0.0, 1.0E+05,
0.0, 1.0€+05,
0.0, 1.0E+05,
0.0, 1.0€E+05,
0.0, 1.0E+05,
0.0, 1.0E+05,
0.0, 1.0E+05,
0.0, 1.0E+05,
2%0, 2,
2%0. 2,
2x0. 2,
20, 2,
2x0, 2,
2%0, 02,
2x0, 2,
2x0. 2,
2%0, 2,
3x88. 0,
18. 9042, 18. 9002, 18. 90313,
3%36. 0,
77. 7800, 78. 4900, 78. 1960,
3x691, 6667, 3399, 8695, 3%0. 49039,
1522. 87, 1530. 14, 1518. 90,
3%1422. 2 ,  3%1069. 23,
1062. 0498, 11062. 6328, 1061. 7588,
3%87.65 . 3%115,192
8. 397Et4, 8. 397E+4, 8. 389E+4,
4, 793Et4, 4, 828E+4, 4, 785E+4,
4, 8624E+4, 4, 8978E+4, 4, 5353E14,
2. 109E+3, 2. 106E+3, 2. 047E+3,
576. 0, 583. 0, 582. 0,
586. 52326, 595. 9549, 593. 5477,
0. 754, 0. 755, 0. 754,
0. 863, 0. 856, 0. 851,
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PEFICR(4) = 3¥1.0,
PINERT(1) = 126.25, 127,76, 128. 62,
PINERT(4) = 23.903, 23, 903, 23. 903,

RYOYU(1) = 6410,

COEFPM(1,1,1)=  1.260, -0.076, 0.065, -0.250, 0.000, 0.000,
COEFPM(1,2,1)= -0.654, 0.646, 0.969, 0.039, 0.000, 0.000,
COEFPM(1.3.1)= 0.680, -0.443, 0,398, -0.423, 0.000, 0. 000,
COEFPM(1,4,1)= 0.506, 0.585, -0.048, -0.043, 0,000, 0.000,
COEFPM(1.5,1)= -0.366, 1.139, 0.164, 0.063, 0.000, 0.000,
COEFPM(1,6,1)=  0.792, -0.223, -0.101, -0.329, -0.800, -0.577,
COEFPM(1.1,2)= 1,260, -0.076, 0.065, -0.250, 0.000, 0.000,
COEFPM(1,2,2)= -0.654, 0.646, 0.969, 0.039, 0.000, 0.000,
COEFPH(1,3,2)= 0.680, -0.443, 0.398, -0.423, 0.000, 0.000,
COEFPM(1,4,2)= 0.506, 0.585, -0.048, -0.043, 0,000, 0.000,
COEFPM(1.5,2)= -0.366, 1.139, 0.164, 0.063, 0.000, 0.000,
COEFPM(1.6,2)= 0.792, -0.223, -0.101, -0.329, -0.800, -0.577,
GOEFPM(1,1,3)=  1.260, -0.076, 0.065, -0.250, 0.000, 0.000,
GOEFPM(1.2,3)= -0.654, 0.646, 0.969, 0.039, 0.000, 0.000,
GOEFPM(1,3,3)= 0.680, -0.443, 0.398, -0.423, 0.000, C.000,
COEFPM(1.4.3)= 0.506, 0.585, -0.048, -0.043, 0.000, 0.000,
GOEFPM(1,5,3)= -0.366, 1.139, 0.164, 0.063, 0.000, 0.000,
COEFPM(1.6,3)=  0.792, -0.223, -0.101, -0.329, -0.800, -0.577,
GOEFPM(1,1,4)= 1.380, -0.438, -0.405, 1.251, -0.788, 0.000,
COEFPM(1.2,4)= =1.000, 2.773, -3.912, 4.488, -1.349, 0.000,
GOEFPM(1,4,4)=  0.300, -0.828, 2.664, -2.073, 0.437, 0.000,
COEFPM(1.5,4)= -0.830, 3.022, -2.608, 1.416, 0.000, 0.000,
GOEFPM(1,1,5)= 1.380, -0.438, -0.405, 1.251, -0.788, 0.000,
COEFPM(1.2,5)= -1.000, 2.773, -3.912, 4.488, -1.349, 0.000,
COEFPM(1,4,5)=  0.800, -0.828, 2.664, -2.073, 0.437, 0.000,
COEFPM(1.5,5)= -0.830, 3.022, -2.608, 1.416, 0.000, 0.000,
GOEFPM(1,1,6)= 1.380, -0.438, -0.405, 1.251, -0.788, 0.000,
COEFPM(1.2,6)= ~1.000, 2.773, -3.912, 4.488, -1.349, 0.000,
COEFPM(1,4,6)=  0.800, -0.828, 2.664, -2.073, 0.437, 0.000,
COEFPM(1.5,6)= -0.830, 3.022, -2.608, 1.416, 0.000, 0.000,
FCOE(1,1,4) = 0.00690, 0.0, 0.0,

FCOE(1,2,4) = 0.00890, 0.0, 0.0,

FCOE(1,3,4) = 0.10140,-1.8900, 0.0,
FCOE(1,1,5) = 0.00690, 0.0, 0.0,

FCOE(1,2,5) = 0.00890, 0.0, 0.0,

FCOE(1,3,5) = 0.10140,-1.8900, 0.0,

FCOE(1,1,6) = 0.00690, 0.0, 0.0,
'FGOE(1,2,6) = 0.00690, 0.0, 0.0,

FCOE(1,3.6) = 0.10140,-1.8900, 0.0,

FCOE(1,1,4) = .0.102083,-8.1315, 0.0,

FCOE(1,2,4) = 6.944E-3, 0.0, 0.0,

FCOE(1,3,4) = 6.944E-3, 0.0, 0.0,

FCOE(1,1,5) = 0.100858,-8.0339, 0.0,

FCOE(1,2,5) = 6.861E-3, 0.0, 0.0,

FCOE(1,3,5) = 6.861E-3, 0.0, 0.0,

FCOE(1,1,6) = 0.101031,-8.0477, 0.0,

FCOE(1,2,6) = 6.873€-3, 0.0, 0.0,

FCOE(1,3,6) = 6.873-3, 0.0, 0.0,

NTFR(1) = 33,

RTFR(1,1) = 0.0, 244, 189,
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TFR(1,

TEFF

REFF )
REFF(13, 2)
TEFF(1, 2)
TEFF(7, 2)
TEFF(13, 2)
REFF(1, 3)
~ REFF(7,3)
REFF(13, 3)
TEFF(1,3)
| TEFF(7 3)
TEFF(13,3)
ROTMAX(1)
ROTMIN(T)
~ DTMAX(1)
DTMIN(1)
PMGD(1)
RGEAR(1)
PMRMAX (1
MPONY1(1
RPONY(1, 1)
TPONY(1,1)
RPONY(1, 2)
TPONY(1,
1
1
1
1
1

(1
(1
1
1
1
(
(
(7,
REFF(13
(
(7,
(
(1,
(7,
(
(

RPONY(1,
TPONY(1,
RPONY(1,
TPONY(1,
RPONY(1,
TPONY(1,5)
RPONY(1, 6)
TPONY(1, 6)

MPONY2(1)

RRPONY(1,1)
FTPONY(1,1)
RRPONY(1, 2)
FTPONY(1, 2)
RRPONY(1, 3)
FTPONY(1, 3)
RRPONY(1, 4)
FTPONY(1, 4)
RRPONY(1, 5)

)
)
1
1
2

)

)
4)
4)
5)
5

2
3)
3
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3%16,

0.0, 4,189, 6,283, 8.378,10.472,15, 708,

20. 944, 26, 180, 31. 416, 36. 652, 41, 888, 52. 360,

62. 832, 73. 304,
0. 205, 0. 205,
0.670, 0.727,

- 0.759,

0. 761,
0.0, 4.189,

87. 650, 1000. 0,
0.37,
0. 761,
0. 754,
8. 378, 10. 472, 15, 708,

0,293,
0. 754,
0. 754,
6. 283,

0. 440, 0,578,
0. 756, 0. 758,

20. 944, 26, 180, 31. 416, 36. 652, 41, 888, 52. 360,

62. 832, 73. 304,
- 0.191, 0.191,

0.638, 0.699,
0.763, 0.761,

87. 650, 1000. 0,
0.273, 0. 347,
0.733,
0. 755,

0. 747,
0. 755,

0. 412, 0. 545,
0. 750, 0.759,

0.0, 4.189, 6,283, 8.378,10.472,15.708,
20. 944, 26. 180, 31. 416, 36. 652, 41. 888, 52. 360,

62. 832, 73, 304,
0. 204, 0.204,
0.669, 0.727,
0.770, 0.768,

9%1, 0E+10,
9%0. 0,
9%x1. OE+10,
9x(0, 0,
30,1796 ,
3x0. 047000,
6%188. 5,
3x4, 3x4,
0.0, 179. 07,
42,7, 42.7,
0.0,179.07,
42.7, 42.7,
0.0,179. 07,
42,7, 42.7,
0.0, 169. 65,
12.0, 12.0,
0. 0, 169. 65,
12.0, 12.0,
0.0, 169. 65,
12.0, 12.0,
3 3,
0.0, 4.189,
3%100. 0,
0.0, 4.189,
3%100. 0,
0.0, 4.189,
- 3%100. 0,
0.0, 400.0,
2x0, 0,

0.0, 400.0,

87. 650, 1000. 0,
0. 370,
0. 764,
0. 754,

0. 292,
0. 756,
0. 754,

3%0. 01584,
3%0. 1017,

188. 5, 1. OE+4,
0.0, 0.0,
188.5, 1. OE+4,
0.0, 0.0,
188. 5, 1. OE+4,
0.0, 0.0,
188. 5, 1. OE+4,
0.0, 0.0,
188. 5, 1. OE+4,
0.0, 0.0,
188. 5, 1. OE+4,
0.0, 0.0,
3,2
4,190,

4,190,

4,190,

—49—

0.439, 0.576,
0. 760, 0.766,
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FTPONY(1, 5)
RRPONY(1, 6)
- FTPONY(1, 6)
ROTC1(1)
ROTC2(1)
PHEADR(7)
PMFLIN(7)
PUHDIN(7)
ROTAIN(7)
PWFLWR(7)
PEFICR(7)
COEFPM(1, 1,
COEFPM(3, 1
COEFPM(1, 1
COEFPM(3, 1,
COEFPM(1, 1,
3,1,¢

ll nou uan

(D(O@GJ\I\]
1} lI il
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- COEFPM(
ACOEF(1,

1
ACOEF(2, 1
ACOEF(3, 1
ACOEF(4,1
ACOEF (5, 1
ACOEF(1,
ACOEF(2,
ACOEF(3,
ACOEF(4,

@@mmmmmm\l\l\’\l\l
e e e e L N N el P N S N S St

ACOEF(5
ACOEF(1
ACOEF(2,
ACOEF(3,
ACOEF (4,
ACOEF(5, 1,
ROFLUD(7)
MODE1(7)
MODE2(7) .
MODE3(7)
INTMOD(7)
BROTA1(7)
BROTA2(7)
ITBLO1(7)
ISTBO1(7)
GTBL01(7)
TTBLO1(T,
TTBLO1(6,
TTBLO1(11,7)
TTBLO1(16,7)
XTBLO1(1, 7)
XTBLO1(6, 7)
XTBLO1(11,7)
XTBLO1( 16, 7;
)
)
)

1,
1,
1,
1
1
1,
1,
1,
1,

(DCD

\l\l\l
\_/v

TTBLO1(1,

TTBLO1(6, 8

TTBLO1(11,8
‘ TTBL01(16 8

n o oun K uUw

2%0,0,
0.0, 400.0,
2x0, 0,
3x4. 189, 3%0. 050,
3x4, 189, 3+0.0 ,
3%238.0,
0.309013, 0.32263,  0.311469,
3%0. 0, ’
3%0. 0, \ \
3%92.65,  ROTAR(7) = 3%73, 304,
3#1.0, |
-9, 4661E-3, COEFPM(2,1,7)= 2.5994E-3,
0. 056157, . |
-9, 4661E-3, COEFPM(2,1,8)= 2.5994E-3,
0. 056157, :
-9, 4661E-3, COEFPM(2,1,9)= 2.5994E-3,
- 0. 056157,
-0. 10228, ACOEF(1,2,7) = 0.16039,
0.065434,  ACOEF(2,2,7) = 0.1598,
-1,35126-3,  ACOEF(3,2,7) = -6.2605E-3,
1.2066E-5,  ACOEF(4,2,7) = 3.0929E-5,
-4,0021E-8,  ACOEF(5,2,7) = 1.5478E-6,
-0. 10229, ACOEF(1,2,8) = -0.20917,
0. 065434, ACOEF(2,2,8) = 0.15878,
-1.35126-3,  AGOEF(3,2,8) = -7.6174E-3,
1.2066E-5,  ACOEF(4,2,8) = 1.3289E-4,
-4,0021E-8,  ACOEF(5,2,8) = -2.5867E-7,
-0. 10229, ACOEF(1,2,9) = 0.12374,
0. 065434, ACOEF(2,2,9) = 0.013316,
-1.35126-3,  ACOEF(3,2,9) = 4. 4245E-3,
1.2066E-5,  ACOEF(4,2,9) = -1.9462E-4,
-4, 0021E-8, ACOEF(5,2,9) = 2.3016€E-6,
0.72640, 0.72467, 0.72860,
872, 897, 922, |
873, 898, 923,
874, 899, 924,
3%0, |
75.224, 75.318, 74.883,
25.017, 25.101, 24.901,
18,19, 18,
242,
3%1.0,
0.0, 1.0, 3.0, 4.0, 6.0,
7.0, 9.0, 10.0, 12.0, 13.0,
15.0, 17.0,  18.0, 2.0, 210,
23.0, 24,0, 25.0,

0.0, 22407, 6.7307, 9.5111, 13.833
15.281, 18,313, 21.355, 24.617, 27.839,
33,799, 39.496, 44.417, 50.104, 55.830,
63.626, 74.222, 75,226,

0.0, 1.0, 3.0, 4.0, 6.0,

7.0, 9.0, 10.0, 12.0, 13.0,

15.0, 17.0,  18.0, 20.0, 210,
23.0, 240, 250, 26.0,
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XTBL12(11,7

- TTBL23(11,7
~ TTBL23(16,7
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XTBLOT(1, 8) =

XTBLO1(11,8) =
XTBLO1(16, 8) =
TTBLO1(1, 9)
TTBLO1(6, 9)
TTBLO1(11,9)
TTBLO1(16, 9)
XTBLO1(1, 9)
XTBLO1(6, 9)
XTBLO1(11,9)
XTBLO1(16, 9)
|TBL12(7)
1STB12(7)
GTBL12(7)
TTBL12(1,
TTBL12(6
TTBL12(11,
TTBL12(16,
XTBL12(1, 7
XTBL12(6, 7)
).

\l\l\l
~—

XTBL12(16,7)
TTBL12(1, 8)
TTBL12(6, 8)
TTBL12(11,8)
TTBL12(16, 8)
XTBL12(1, 8)
XTBL12(6, 8)
XTBL12(11, 8)
XTBL12(16, 8)
TTBL12(1, 9) :
TTBL12(6, 9)
TTBL12(11,9)
TTBL12(16,9)
XTBL12(1, 9)
XTBL12(6, 9)
XTBL12(11,9)
XTBL12(16,9)
1 TBL23(7)

18TB23(7)

GTBL23(7)

TTBL23(1, 7)
TTBL23(6, 7

)
)
)
XTBL23(1, 7)
XTBL23(6, 7)
XT8L23(11,7)
XTBL23(16,7)
TTBL23(1, 8)
TTBL23(6 8)
TTBL23(11,8)
TTBL23(16, 8)

o omonoWmowoNnononowouw o owu o wwowwuW WD W LN R U ww wun n oun |l oW onoW WM on N Won W nouw unou

0.0, 23126,

= 15,365, 18.166,

33,705, 39,937,
63.804, 74,328,

0.0, 20,
8.0, 9.0,
16.0, 17.0,
23.0,  24.0,
0.0, 6.0476,

16,582, 19.981,
36,851, 41.141,
64,055, 73.982,

19,19, 18,
3%2,
3x1.0,

0.0, 3.0,
43,0, 53.0,
93.0, 1030,

143.0, 145.0,

75.226, 73. 225,
46.828, 43,021,

32,025, 29.675,

23.810, 24.881,

0.0, 3.0,
43.0, 53.0,
93.0, 103.0,

143.0, 145.0,

75.318, 73.267,

47.869, 43. 870,

32,549, 30.577,

24,597, - 25.091,

0.0, 3.0,
43.0, 53.0,
93,0, 103.90,

143.0, 145.0,
74.883, 72.984,
46,988, 42.643,
31.658, 29, 603,
24,000, 24.737,

18,18, 14,

3%2,

3«1, 0,
0.0, 1.0,
- 61,0, 81.0,

- 241,0, 271.0,
690.0, 691.0,
25.017, 24. 995,
17.465, 15.701,
8.2088, 7. 4438,
2.2926, 1.3698,

0.0, 8.0,
100.0, 120.0,
300.0, 480.0,
960.0,  990.0,

6. 9405, .
- 21,262,

44,521,

75.229,

3,0,
11.0,
19.0,
25,0,

-8, 9758,
22,887,
45, 434,
74. 883,

8.0,
63.0,
113.0,
146.0,
68. 925,
39. 589,
27.977,
24. 659,
8.0,
63.0,
113.0,

146.0,

68. 493,
40. 482,
28, 858,
25.184,
8.0,
63.0,
113.0,
146. 0,
68. 284,
39. 454,
27.871,
24,901,

11.0,
111.0,
371.0,
692. 0,

23.748,
13,528,
5, 3346,
0.0,

40.0,
140. 0,
625.0,

1020. 0,

9, 5130,
24,587,
50,501,
75. 318,
5.0,
12,0,
20.0,

12, 889,
26. 025,
50. 365,

23.0,
73,0,
123.0,
147.0,
58. 045,
36. 653,
26. 307,
25,017,
- 23,0,
73.0,
123.0,
147. 0,
58. 904,
- 37. 450,
27. 210,
25,101,
23.0,
73.0,
123.0,

57. 939,
36. 504,
26. 287,

3.0,
151.0,
471.0,

20. 956,
11. 347,
3. 9604,

60. 0,
160. 0,

840. 0,

13. 696,
28. 009,
55, 694,

L34

0
14.0,
22,0

N~

14, 295,
31.332,
56. 449,

33,0,
83.0,
133.0,

51, 749,
34, 061,
24,881,

33.0,
83.0,
133.0,

- 52.630,

34,532,
25.774,

33.0,
83.0,
133.0,

51. 676,
33. 999,
24. 827,

41,0,
201. 0,
601. 0,

19. 508,
9. 4891,

2.9837,

80. 0,
190. 0,
930. 0,
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XTBL23(1, 8) = 25.101, 23,036, 19,897, 17.988, 16,540,
XTBL23(6, 8) = 14.882, 13.696, 12,763, 11.820, 10.612,
XTBL23(11,8) = 7.7374, 6.0629, 3,8046, 2.4591, 2.0182,
XTBL23(16,8) = 1.9723, 0.3362, 0.0,

TTBL23(1, 9) = 0.0, 10. 0, 30.0, 60.0, 110.0,
TTBL23(6, 9) = 170.0, 230.0,  380.0, 480.0, 620,0,
TT8L23(11,9) = 628.0, 629.0, 630.0, 631.0,
XTBL23(1, 9) = 24.901, 23.207, 20,465, 16.895 12,973,
XTBL23(6, 9) = 10,182, 8.2727, 5.0410, 3.7207, 2.1568,

XTBL23(11,9) = 1.5276, 0.7169, 0.2627, 0.0,
ITBL32(7) = 342,
I1STB32(7) = 3%2,
GTBL32(7) = 3%1.0,
TTBL32(1,7) = 0.0, 30. 0,
XTBL32(1,7) = 0.0, 25.017,
TTBL32(1,8) = 0.0, 30.0,
XTBL32(1,8) = 0.0, 25.101,
TTBL32(1,9) = 0.0, 30.0,
XTBL32(1,9) = 0.0, 24.901,

&END

ENAMVVY
NNVN = 30,
IMDLVN(1) = 001,001001,00,1,
IMDLVN(16) = 1,1,1,1,5%1,1,
TMAXVN(1) =  25%1, 0E+10,
DTIMVN(1,1) = 0.0, DDELVN(1,1) = 0.2,
DTIMVN(1,2) = 0.0, DDELVN(1,2) = 0.2,
DTIMVN(1,3) = 0.0, DDELVN(1,3) = 0.02,
DTIMVN(1,4) = 0.0, DDELVN(1,4) = 0.5,
DTIMVN(1,5) = 0.0, DDELVN(1,5) = 0.5,
DTIMVN(1,6) = 0.0, DDELVN(1,6) = 0,02,
DTIMVN(1,7) = 0.0, DDELVN(1,7) = 0.2,
DTIMVN(1,8) = 0.0, DDELVN(1,8) = 0.2,
DTIMVN(1,9) = 0.0, DDELVN(1,9) = 0.02,
DTIMVN(1,10) = 0.0, DDELVN(1,10)= 0.2,
DTIMVN(1,11) = 0.0, DDELVN(1,11)= 0.2,
DTIMVN(1,12) = 0.0, DDELVN(1,12)= 0. 02,
DTIMVN(1,13) = 0.0, DDELVN(1,13)= 0.2,
DTIMVN(1,14) = 0.0, DDELVN(1,14)= 0.2,
DTIMVN(1,15) = 0.0, DDELVN(1,15)= 0.2,
DTIMVN(1,16) = 0.0, DDELVN(1,16)= 0. 2,
DTIMVN(1,17) = 0.0, DDELVN(1,17)= 0.2,
DTIMVN(T,18) = 0.0, DDELVN(1,18)= 0.2,
DTIMVN(1,19) = 0.0, DDELVN(1,19)= 0.2,
DTIMVN(1,20) = 0.0, DDELVN(1,20)= 0.2,
DTIMVN(1,21) = 0.0, DDELVN(1,21)= 0.2,
DTIMVN(1,22) = 0.0, DDELVN(1, 22)= 0.2,
DTIMVN(1,23) = 0.0, DDELVN(1,23)= 0.2, DTIMVN(1,25) = 0.0,
DTIMVN(1,24) = 0.0, DDELVN(1, 24)= 0.2, DDELVN(1,25)= 0.2,
ISTAVN(1) = 32,342, 6%2, 32, 35%2, 340, 6x0,
ISTAVN(1) = 50%1,
IDBGVN(1) = 3%0,3%0, 6%0, 381, 30, 6%0,
OUTVN(1,1) = 1.0E+10,
QUTVN(1,2) = 1.0E+10,
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0E+10, -

OUTVN(1,3) =1, :
OUTVN(1,4) = 1,0E+10,
OUTVN(1,5) = 1,0E+10,
~ OUTVN(1,6) = 1.0E+10,
OUTVN(1,7) = 1,0E410,
OUTVN(1,8) = 1,0E+10, -
- OUTVN(1,8). = 1,0E+10,
OUTVN(1,10) = 1,0€E+10,
OUTVN(1,11) . = 1,0E+10,
OUTVN(1,12) = 1,0E+10,
OUTVN(1,13) = 1,0E+10,
OUTVN(1,14) = 1,06+10,
" OUTVN(1,15) = 1,0E+10,
OUTVN(1,16) = 1.0E+10,
OUTVN(1,17) = 1.0E+10,
OUTVN(1,18) = 1,0E+10,
OUTVN(1,19) = 1, 0E+10,
OUTVN(1,20) = 1,0E+10,
OUTVN(1,21) = 1.0E+10,
OUTVN(1,22) = 1,0E+10,
OUTVN(1,23) = 1.0E+10, '
OUTVN(1,24) =.1.0E+10,  OUTVN(1,25) = 450.0,
&END
NAMVV2
NUNSOT(1) = 25%1,
NVNXVN(1) = ~ 25%2,
NVNANS(1) = 2543,
NVDP(1) = 25%4,
NVS1(1) = 25%5, ‘ .
NVSNO(1) =2 3 4 2 3 4 2 3 4 2, 5 A4,
NFLWVS(1) = 3, 3 7, 7, 7, 11, 10, 10, 14, 11, 10, 15,
NVSNO(13) = 2, 3, 4,
NFLWVS(13) =13, 13, 17,
NVSNO(18) = 4, 4, 4, 4, NVSNO(25) = 4,
NFLWVS(16) = 3, 26, 27, 28, NFLWVS(25) = 30,
IXCHAR(1) = 12%2, . 3#1, :
ICVCHI(1) = 15%1, |
ICVCH2(1) = 34, 34, 343, 3%2, . 3%4,
ICVCH3(7) = = 3%1, 31,
ICVCH4(1) = 3%0, 3%0, 3%1, 31, 3%0,
XVNMAX(1) = 25%100.0,
XVNMIN(1) = 5.46, 5.61, 17%1,0E-6, 5%0.0, 1.0E-6,
" TAUA(1) = 6%1,486, 3%1,0417, 6%1.67,
TAUA(1) = 1.4925,1.4493,1. 4925, 1. 471, 1.493, 1.515,
TAUA(7) © = 1.020, 1.020, 1.031, 1.639, 1.613, 1.639,
VLATE(1) = 6%0.0, 3%0.0,  6%0.0,
AKESME(1) = 6%-1.0, 3%1.0,  2%1.0, -1.0, 3+1.0,
ITBLXZ(1) = = 6%17,
xzTBL(1,1) = 0.0, 3.0, 4% 5.00, 6.00, 7.00, 8.00,
11.1, 22.2, 33.3, 44.4, 55.6, 66.7, 77.8,
‘ 88.9, 94.4,100.0,
22TBL(1,1) = 1.0E9, 7. 79E4, 3. 334, 1. 422E4, 6074. 8, 2595. 0, 1108. 4,

78.6, 32.0, 13.4, 6.7, 3.9, 2.4, 1.54
1.03, 0.90, 0. 88, ‘
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| xzreL(1,2)
2z78L.(1,2)
XZTBL(1, 3)
2278L(1, 3)
XZTBL(1, 4)
zzreL(1.4)
XZTBL(1, 5)
2ZTBL(1,5)
XZTBL(1,65
ZzTBL(1,6)

GNTBL(1)
ITBLXZ(7)
XzTBL(1,7)
XZTBL(8,7)

2zTBL(1,7)

227TBL(8,7)
X2TBL(1, 8)
XZTBL(8, 8)
2zTBL(1, 8)
2ZTBL(8, 8)
XZ7BL(1,9)
XZTBL(8, 9)
2z7BL(1,9)
zzTBL(8,9)
GNTBL(7)
ITBLXZ(13)
XZTBL(1,13)
2ZTBL(1,13)
XZTBL(1, 14)
ZZTBL(1, 14)
XZTBL(1,15)
zz18L(1,15)
GNTBL(13)
CVMAX(10)

= 0,0, 30, 400, 500, 6.00, 7.00, 8.00,
1.1, 22,2, 33,3, 44,4, 55,6, 66.7, 77.8,
88.9, 94.4,100.0,
= 1, 0E9, 7. 79E4, 3. 33E4, 1. 422E4, 6074, 8, 2595, 0, 1108. 4,
78,6, 32,0, 13.4, 6.7, 3.9, 2.4, 1.54
1,03, 0.90, 0.88,
= 0.0, 3.0, 4.00, 5.00, 6.00, 7. 00 8, 00,
11,1, 22,2, 33.3, 44.4, 55.6, 66.7, 77.8,
88.9, 94.4,100.0,
= 1, 0E9, 7.79E4, 3. 33E4, 1. 422E4, 6074, 8, 2535, 0, 1108. 4,
78.6, 32.0, 13.4, 6.7, 3.9, 2.4, 1.54,
1.03, 0.90, 0. 88, ‘
= 0,0, 2,00, 3.00, 4,00, 500, 6.00, 8 00,
11.1, 22,2, 33.3, 44.4, 55.6, 66.7, 77.8,
88.9 94, 4, 100. 0, ‘
= 1.0E9, 2. 2€5, 1. 05ES, 4. 93E4, 2. 324, 1. 1E4, 2. 43E3,
236.2, 70.0, 23.0, 9.3, 4.3, 2.4, 1.55,
© 1,07, 0.92, 0.90, :
= 0,0, 200, 3.00, 4.00, 5.00, 6.00, 8.00,
11.1, 22.2, 33.3, 44.4, 55.6, 66.7, 77.8,
88.9, 94.4,100.0,
= 1.0E9, 2. 265, 1. 05E5, 4. 93E4, 2, 32E4, 1. 1E4, 2. 43E3,
236.2, 70.0, 23.0, 9.3, 4.3, 2.4, 1.55,
1.07, 0.92, 0.90,
= 0,0, 2.00, 3.00, 4,00, 500, 6.00, 8. 00,
1.1, 22.2, 33.3, 44.4, 55.6, 66.7, 77.8,
88.9, 94.4,100.0,
= 1.0E9.2.2E5,1.05E5,4.93E4,2.32E4,1.1E4.2.43E3.
236.2, 70.0, 23.0, 9.3, 4.3, 2.4, 1.55
1.07, 0.92, 0.90,
6x1, 0, |
3%11,
0.0, 15.8, 20.0, 30.0, 40.0, 50.0, 60.0,

70.0, 80.0, 90.0,100.0,
0.0, 25.0, 60.0,160.0, 320. 0, 570. 0, 950 0,

1350. 0, 1770., 2230. , 2560. ,
0.0, 15. 8 20. 0 30. 0 40.0, 50.0, 60.0,

70.0, 80.0, 90.0,100.0,
0.0, 25.0, 60.0,160.0, 320. 0, 570. 0, 950. 0,
1350. 0, 1770. , 2230. , 2560. ,
0.0, 15.8, 20.0, 30.0, 40.0, 50.0, 60.0,
170.0, 80.0, 90.0,100.0,
0.0, 25.0, 60.0,160.0,320.0,570.0, 950. 0,
1350, 0, 1770. , 2230. , 2560. ,

nwonow R N ownunonouwonown owonon o onoouwn nwn

31, 0, I TBLXZ(20)=5%2, GNTBL(20)=5%
32, XzTBL(1,20) = 0.0, 10
0.0, 100.0, ZzzTBL(1,20) = 0.0,
10000, 1.0, XzTBL(1,21) = 0.0, 10
0.0, 100.0, 2zzTBL(1,21) = 0.0,
1000.0, 1.0, XzTBL(1,22) = 0.0, 10
0.0, 100.0, 2zzTBL(1,22) = 0.0,
1000.0, 1.0, XzTBL(1,23) = 0.0, 10
3#1. 0, zzTBL(1,23) = 0.0,
120.40, 110.56, 103.10,

1.
0.

CLLPO O O
OO0




CVMIN(10)
- XMAX(10)
COEFK2(1)
COEFK2(4)
COEFK2(7)

PNC TN9410 96-142

COEFK2(10)

COEFK2(13)
6T(1)
at(7)
WINT(1)
WINT(7)
~ WINT(10)
WINT(13)
PINT(1)
PINT(7)
IXCHAR(16)
ICVCH1(16)
ICVCH2(16)
ICVCH3(19)
ICVCH4(19)
XVNMIN(16)
TAUA(16)
" VLATE(16)
AKESME(16)
I TBLXZ(16)
XZT8L(1, 16)
2ZTBL(1, 16)
GNTBL(16)
TBLXZ(17)
XZTBL(1,17)

2ZTBL(1,17)=

X2TBL(1,18)

727BL(1,18)=

GNTBL(17)
ITBLXZ(19)
XZTBL(1,19)
XZTBL(8, 19)
zZT8L(1,19)
ZZTBL(8, 19)
GNTBL(19)=
COEFK2(16)
6T(16)
WINT(16)
PINT(16)
IXCHAR(20).
ICVCH2(20)
XVNMAX(20)
TAUA(20)
TAUA(20)
AKESME (20)

1.

XZTBL(1,24) =

= . 30,001, - 0.0, 100.0,
= 3%100,0, 2z7BL(1, 24) 0.0, 0.0,
= 1. 29851E-03, 1.310356-03, 1.23622E-03,
= 1. 29622E-03, 1.30189E-03, 1.20104E-03,
= 1. OE+08, 1.0E+08, . ' 1.0E+08,
= 3,28832E5, . 3.26303E5, 3. 18528ES5,
= 3%2, 678E-3,
=  3%856, 116, 3884, 116,
= 0x884, 116,
= 3%389, 081, 3%390, 077,
= 0. 0425, ©0.0424, 0.0418,
= 0. 7419, 0. 7420, 0. 7425,
= 3%3,554, WINT(25) = 3,773,
= 3%164,6867,  3%164, 48,
= Bk1. 4259E4, PINT(25) = 164, 6867,
= 4%2, ITBLX2(25) = :
= 4«1, XZTBL(1, 25)=0 o 2.0,5.0,10.0, 20. 0, 30. 0, 40. 0,
=3%4, 3.XZTBL(8,25)=50 0, 60. 0, 70. 0, 80. 0, 90. 0, 100. ,
= 1, 2ZTBL(1, 25)=0.0, 4.0, 8. 0, 15. 0, 34. 0, 54. 0, 70. 0,
= 1, ZZTBL(8, 25)=87.0, 105, , 130., 152. ,170 184.,
= 4%0, 0, GNTBL(25)= 1.0,
100.0, 33.333, 25.0, 1.6667,
4x0. 0, IXCHAR(25) = 2, IGVCH1(25) = 1,
1.0, 3%1.0, ICVCH2(25) = 3, ICVCH3(25) = 1,
2, ICVCH4(25) = 1, XYNMIN(25)=1. OE-€,
0.0, 100.0,TAUA(25) = 4.7,  VLATE(25)=0.0,

1000. 0, 1.0E-6, AKESME(25) = -1.0,

1.0, 6T(25) = 856. 116,
2%15, ‘ ‘
0.0, 1.0, 20, 3.0, 80, 12,5 18.5 24.0,
32.0, 40., 51., 67., 80., 90.0, 100.,
1.0E12, 1. OE6, 1. OE4, 922. 5, 230. 6, 102. 5, 57.7, 36.9,
25.6, 18.8, 14.4, 11.4, 10.2, 9.6, 9.2,
= 0.0, 1.0, 2.0, 3.0, 80, 12.5 18.5 24.0,
32.0, 40., 51., 67., 80., 90.0, 100.,

1. 0E12, 1. OE6, 1. OE4, 922. 5, 230. 6, 102. 5, 57.7, 36.9,
25.6, 18.8, 14.4, 11.4, 10.2, 9.6, 9.2,
2%1.0,
13, ‘
30.0, 40.0,
100.,
54.0, 70.0,
184.,

20.0,
90.0,
34.0,
170.,

0, 10.0,
0, 80.0,
0, 15.0,
105., 130., 152.,

5

0
0
0

0.0, 2.0, 5.
0.0, 60.0, 70.
0.0, 4 8.
- 87.0, 10 3

O nowouwouw onou

1.0, 2.34526, 2.26963,

884.116, 856.116, 884,116, 870. 41,

396. 3155, 2+3, OE-4, 6. OE-4,

1.0, 1.360995E4, 1.595645E4, 0.8857302E4,
*2,

U‘lU’l
X X

6 7 4%20,

OoO— DO

(61006 2 e )]
* %
R ares
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&END

ANAMCLY

“NNCL.

- JeLd,

J1cL(1, 5)
J20L(1, 5)

{MDLCL( 1)
IMDLCL( 6)
IMDLCL( 9)

3
_ImpLcL(18) =0,0

IMDLCL(27) =
IMDLOL(32) =
IMDLCL(37) =
IDcL( 1) = 0,
IDCL( 2) =
DCL( 3) =3
IDCL( 5)
1DCL( 6)
iDeL( 7)
IDCL( 8)
IDCL( 9)
1DCL(12)
IDCL(15)
10CL(18)
[DCL(21)
1DCL(24)
IDCL(27)
)
)
)
)
)
)
)

310,
1,
10
0
1
0,

[43)

K

wwwww
%

1DCL(28

%0,
%0,
0,
%0,
*2,
2
1DCL(31 0

3%

’
]
’
1
’
1)
’
'
1
'

31,
0
0
0
0
0
J2cL(1, =
J1CL(T, =
J20L(1, =

5)

JicL(1, 6)
J2cL(1, 6)
JicL(1, 7)
J2cL(1, 7)
JicL(1, 8)
J20L(1, 8)
J1cL(1, 9)
JacL(1, 9)
J1cL(1,10)
J20L(1,10)
JicL(1, 1)

38,

0, IMDLCL( 2)
0, IMDLCL( 7)
%0, IMDLCL(12)
, 1, IMDLCL(21)
0, IMDLCL(28)
%0, IMDLCL(35)
0,  IMDLCL(38)
IPCL( 7) = 1,
IPCL( 8) = 1,

IPCL( 9) = 3%2
IPCL(12) = 3%1
IPCL(15) = 3%1
IPCL(18) = 3%1
IPCL(21) = 3%]
IPCL(24) = 3
IPCL(27) =
IPCL(28) = 1
IPCL(31) = 0,
IPCL(32) = 3x1,
IPCL(36) = O,
IPCL(37) = 0,
3, 4, 4, 4
1, 1, 2, 3,
1, 1, 1, 1,
1, 2, 3, 4
1, L1,
1, 2, 3, 4,
1, 1, 1, 1,
1, 2, 3, 4,
1! 1! 1' 1,
1, 2, 3, 4
1, 4 4, 4, 4
‘1, 1. 2, 3| 4
, 1, 1, 1
11 2! 3l 4’
3, 2, 4,
, L
4, 1, 3, 4
3, 1, 3 4
3! 4| 2! 4!
L, 1, 1, 2
3, 4 2, 4
L, 1, 1, 2
3, 4 2, 4

-
-
-

o1
[ N

3%0,

= # #n nn nn
w
*
=

<

-
—
—
~

INCL( 7)
INCL( 8)
, INCL( 9)
, INCL(12)
, INCL(15) .
, INCL(18)
, INCL(21)
, INCL(24)
, INCL(27)

)

)

)

“INCL(28

INCL(31
INCL(32
INCL(3E}
INCL(36)
INCL(37)
INGL(38)

g1 —

GV — OV == 1 —
D=2 D — O = O =

O —
Oy —

—

WR WM W MW
DN NN

IMDLCL( 3)
IMDLCL( 8)
IMDLCL(15)
IMDLCL(24)
IMDLCL(31)
{MDLCL(36)

0,01,

* x
cooo o

#now nun
w W

= ]'

1,
4.

ww
*

9

3x
3%

- - -
- - - -

NN NN
o0 — 00 — 0 — 0O —

NSt
oo &~ T

-

~J -t
- -
-—
-

—_ N
- -
—
-

Hw D wN

100L(37

loeL( 1) = 3,

10CL( 3k

10CL(

g1 W
~—
u un
0O~

1ocL( 7
10CL( 8)
, locL( 9)
, 10CL(12)
, 10CL(15)
10CL(18)
10CL(21)
, 10CL(24)
10CL(27)
)
)
)
)
)
)
)

v

1,
5.

wwww

, 100L(28
10CL(31
, 100L(32
100L(35
10CL(36

ocoo0o pa LA —4 cn

10CL(38

—
O —

— = =

[\CJE N O N SN
Wb wh WS
PO O N N

-

-
-
-
-

-
-
-

-
-
-
-
-

O — (O — O — ©O —
e - -
- —
O —= O = O —

o
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J20L(1,38) =
pTIMCL(1, 1) = 0.0,
DTIMCL(1, 2) = 0.0,
DTIMCL(1, 3) = 0.0,
DTIMCL(1, 4) = 0.0,
DTIMCL(1, 5) = 0.0,
DTIMCL(1, 6) = 0.0,
DTIMCL(1, 7) = 0.0,
DTIMCL(1, 8) = 0.0,
pTIMCL(1, 9) = 0.0,
DTIMCL(1,10) = 0.0,
DTIMCL(1,11) = 0.0,
pTIMCL(1,12) = 0.0,
DTIMCL(1,13) = 0.0,
DTIMCL(1,14) = 0.0,
DTIMCL(1,15) = 0.0,
DTIMCL(1,16) = 0.0,
DTIMCL(1,17) = 0.0,
DTIMCL(1,18) = 0.0,
DTIMCL(1,19) = 0.0,
DTIMCL(1,20) = O.
DTIMCL(1,21) = 0.0,
DTIMCL(1,22) = 0.0,
DTIMCL(1,23) = 0.0,
~ DTIMCL(1,24) = 0.0,
DTIMCL(1,25) = 0.0,
DTIMCL(1,26) = 0.0,
DTIMCL(1,27) = 0.0,
DTIMCL(1,28) = 0.0,
DTIMCL(1,29) = 0.0,
DTIMCL(1, 30) = 0.0,
DTIMCL(1,31) = 0.0,
DTIMCL(1,32) = 0.0,
DTIMCL(1,33) = 0.0,
DTIMCL(1, 34) = 0.0,
DTIMCL(1,35) = 0.0,
DTIMCL(1, 36) = 0.0,
DTIMCL(1,37) = 0.0,
DTIMCL(1,38) = 0.0,
IPSTCL( 1) = O,
IPSTCL( 2) = 0,
IPSTCL( 3) = 2%,
IPSTCL( 6) = O,
iPSTCL( 7) = 0,
IPSTCL( 8) = O,
IPSTCL( 9) = 3%0,
IPSTCL(12) = 3%0,
IPSTCL(15) = 3%0,
IPSTCL(18) = 20,
IPSTCL(21) = 3x0,
IPSTCL(24) = 340,
IPSTCL(27) = 0,
IPSTCL(28) = 30,
IPSTCL(31) = O,

3, 4,
DDELCL(1,
DDELCL(1,
DDELCL(1,
DDELCL(1,
DDELCL(1,
DDELCL(1,
DDELCL(1,
DDELCL(1,
DDELCL(1,
DDELCL(1,1
DDELCL(1,1
DDELCL(1, 1
DDELCL(1, 1
DDELCL(1,1
DDELCL(1,1
DDELCL(1, 1
DDELCL(1, 1
DDELCL(1,1
DDELCL(1,1
DDELCL(1, 2
DDELCL(T, 2
DDELCL(1, 2
DDELCL(1, 2

DDELCL(1,2

DDELCL(1,2
DDELCL(1, 2
DDELCL(1,2
DDELCL(1,2
DDELCL(1, 2
DDELCL(1,3
DDELCL(1, 3
DDELCL(1, 3
DDELCL(1, 3
DDELCL(1,3
DDELCL(1,3
DDELCL(1,3
DDELCL(1, 3
DDELCL(1,3
IPTRCL( 1)
IPTRCL( 2)
IPTRCL( 3)
IPTRCL( 6)
[PTRCL( 7)
IPTRCL( 8)
IPTRCL( 9)
[PTRCL(12)
IPTRCL(15)
IPTRCL(18)
IPTRCL(21)
IPTRCL(24)
IPTRCL(27)
IPTRCL(28)
IPTRCL(31)

5 6 7,
1) = 0.02,
2) =0.02,
3) = 0.02,
4) = 0.02,

~N o T
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1
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WO ONHLWN— OWwOom
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N e e e e N el e el . e i s o

NoOO oA, whh = O

N N e = R = e R oo N o NoNoNe o No o jle e o

NSRS IS BTN S IS S S I
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NOOIEON =
YRR -N-N-F-N-N-N-F-N-F-l NN NN R N EoE Rl =l i o e o

OO OO0 O
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)
)
)
)
)
)
)
)
)
)
)
)
)
)
8) =

®
cooOo0

Womonmowmow oW KU W oWonoN WMeWm oWoWoN W W OWoWnowW oMo Hounuw o opmnouwnonn non un

nunonn
o

8, 9,
TMAXCL( 1)
TMAXCL( 2)
TMAXCL( 3)
TMAXCL( 4)
TMAXCL( 5;

)
)
)

TMAXCL( 6
TMAXCL( 7
TMAXCL( 8
TMAXCL( 9
TMAXCL(10
TMAXCL (11
TMAXCL(12
TMAXCL(13
TMAXCL(1
TMAXCL (
TMAXCL(

(

(

)
TMAXCL(17)
TMAXCL(18)
TMAXCL(19)
TMAXCL(20)
TMAXCL(21)
TMAXCL(22)
TMAXCL(23)
TMAXCL(24)
TMAXCL(25)
TMAXCL(26)
TMAXCL(27)
TMAXCL(28)
TMAXCL(29)
TMAXCL(30)
, TMAXCL(31)
, TMAXCL(32)
, TMAXCL(33)
, TMAXCL(34)
, TMAXCL(35)
, TMAXCL(36)
, TMAXCL(37)
TMAXCL(38)

1. OE+5,
1. OE+5,
1. OEt5,
1. OEt5,
1, 0Et5,
1. OE+5,
1. OE+5,
1. OE+5,
1. OE+5,
1. OE+5,
1, OE+5,
1..0E+5,
1. OE+5,
1. 0E+5,
1. OEt5,
1. OE+5,
1. 0Et5,
1. OEt5,
1.
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1.
1.

0Et5,

. OEt5,
. OE+5,
. OE+5,
. OE15,
. OE+5,
. OE+5,
. OE+5,
. OE+5,
. OEt5,
. OE+5,
. OE+5,
. OEt5,
. OE+5,
. OE5,
. OE+5,
. OEt5,
. OE+5,

0E+5,
OEt5,
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[PSTCL(32)
IPSTCL(35)
IPSTCL(37)
IPSTCL(38)
0UTCL(1 1

ouTeL(
ouTcL(1,
I INTO(2,
[ INTO(2,
1INTO(2,
TINTO(2,
IINTO(1,
&END
&NAMCL2
LeLin(1, 5)
MCLID(1, 5)
NCLID(1, 5)
LcLon(1, 5)
McLoD(1, 5
VALCLD(1,
LeLio(1,1
LcLio(1,2
LeLio(1,3
LeLio(1, 4,
LCLI0(1, 5,
LCL10(1,6,
LeLio(1,7,
LCLI0(1, 8,
LeLio(1,9,5
LCLOO(1, 5)
MCLOO(1, 5)
JSELO(1, 5)
VALCLO(1, 1,
VALCLO(T, 2,
VALCLO(1, 3,
VALCLO(1, 4,
'VALCLO(1, 5,
VALCLO(1, 6,
VALCLO(1, 7,
VALCLO(1, 8,
-VALCLO(1, 9,

)
1
5
5
5
5
5
5
5
5

" OUTCL(T,

O — b N

~J

)
)
)
)
)
)
)
)
)

ot onowoaonnononw R n s~ now oan

oo
coeee

oo

e e’ s N S S N N
T T R T I TR O
— ol b et cnd el —d ok b
oo e

T oOTOT Ot o1 OV OO
OO OO O

IPTRCL(32) = 340,
IPTRCL(35) = 2,0,
IPTRCL(37) = 0,
IPTRCL(38) = O,
1, 4) = 1,0E10, OUTCL(1,
1, 7) = 1.0E10, OUTCL(1,
1,10) = 1,0E10, OUTCL(1, 1
1,13) = 1.0E10, OUTCL(1,1
1,16) =1
1,19) = 1
1,22) =1
1,25) = 1

. QUTCL(1,29) = 1.0E10, QUTCL(1,30) =

) =

, OuTeL(1, ) =
- CNT00(2,1,5) = 2.49,
CNT00(2,2,5) = 3.6,
CNT00(2,3,5) =  7.26,
CNT00(2,4,5) =  1.16,
CNT00(1,1,35)= -1.0,
.0, 0.0, 0.0, 100.0, 0.0,
MCL10(1,1,5) = 445,
MeL10(1, 2,5) = 451,
MCL10(1,3,5) = 457,
McL10(1,4,5) = 460,
MCL10(1,5,5) = 387,
MCL10(1,6,5) = 389,
McL10(1,7,5) = 391,
MCL10(1,8,5) = 393,
MCLIO(1 9,5) = 395,

31 732,733, 734 735, 736, 737, 738, 739

7%0. 0,
7%0. 0,
7%0. 0,
70, 0,
7%0. 0,
7%0. 0,
7%0. 0,
7%0. 0,
7%0. 0,

-
-

LoLee

— e d b ed ek b —d b
s & ® ® © © e & @
OOO_(DOOO

.0E10, OUTCL(1,1
.0E10, ouTcL(1,20
.0E10, OUTCL(1,23
.0E10, OUTCL(1, 26;

1.0E10, OUTCL(1, 34
1.0E10, 0UTCL(1,37

non

. 0E10,
. 0E10,

. 0E10,
. 0E10,
. OE10,
. OE10,
. OE10,
. OE10,

. 0E10,

. 0E10,
. 0E101 '
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LOLIP(1,20) = 1 =1053,

LCLOP(1,20) = 1, MCLOP(1, 20) =1054, :

LCLIN(1,20) = B, MCLIN(1,20) = 828,1057, 834, 2*828

LCLON(1,20) = 1, 5,3%1, MCLON(1,20) =1051,1,1056, 1058, 1055,
' NCLON(2,20) = 9,

LCL10(1,1,20)= 1, 1, LeL1o(1,2,200= 1, 5 1, 1,

MCLIO(1,1.20)=16 1051, 1052, MCL10(1,2,20)=1054, 2, 1055, 1056,

NCL10(1,1,20)= NCL10(2, 2, 20)= 9,

LCL00(1,20) = 1, , MCL00(1,20) =1053, 1057,

JSELO(1,20) =  2#1,

NSWP(1,20) = 4, ‘

VALCLP(1,1,20)= 0.2, 7.8, 100.0,-100.0, 0.0, 0.0, 100.0,

VALCLP(8, 1,20)= -100.0, 1.0, 0.0,

VALCLN(1,1,20)= 1,0, 1.0, 0.0, 0.0,

VALCLN(1,2,20)= 1.0, 1.0, 0.0, 0.0,

VALCLN(1,3,20)= 1.0, 1.0, 0.0, 0.0,

'VALOLN(1,4,20)= 1.0, 1.0, 0.0, 0.0,

VALGLN(1,5,20)= 1.0, 1.0, 0.0, 0.0,

CIVLAQ1,20) = 4, 8, 4, 4, 4,
XVLA(1,1,20, = -1.0, 0.4, 0.5, 2.0, |
XVLA(1,2,20) =-1.0Et5, =-0.2, -0.1, 0.1, 0.2, 1.0E+5,

© XVLAQ1,3,20) = -1.0, 0.4, 0.5, 2.0,
XVLA(1,4,20) = -1.0, 0.4, 0.5, 2.0,
YVLA(1,5,20) = 0.23949, 0.23949, 0.0, 0.0,
YVLA(1,1,20) = 0.7844, 0.7844, 65,278, 65.278,
YVLA(1,1,20) = 1.927, 1.927, 65,278, 65.278, .
YVLA(1,2,20) = ‘-1.0, -1.0, 0.0, 0.0, 1.0, 1.0,
YVLA(1, 3,20) = 0.60923E-02, 0.60923E-02, -1.0E+30, -1.0E+30,
YVLA(1,4,20) = 0.0, 0.0, 1.0, 1.0,
XVLA(1,5,20) = -1.0, 0. 4, 0.5, 2.0,

IVLB(1,20) = 4, 8, 4, 4, 4,
XvLB(1,1,20) = -1.0, 0.4, 0.5, 2.0,
XVLB(1,2,20) =-1.0Et5, -0.2, -0.10, 0.1, 0.2, 1.0Et5,
XVLB(1,3,20) = -1.0, 0.4, 0.5, 2.0,
YVLB(1,1,20) = 0.7844, 0.7844,65. 278, 65. 278,
yvLa(1,1,20) = 1.927, 1.927, 65.278, 65.278,
YVLB(1,2,20) = -1.0, ~-1.0, 0.0, 0.0, 1.0, 1.0,
YVLB(1, 3,20) = 0.609236-02, 0.609236-02, -1.0E+30, -1.0E+30,
XVLB(1,4,20) = ~-1.0, 0.4, 0.5, 2.0,
YVLB(1,4,20) = 0.0, 0.0, 1.0, 1.0,
XVLB(1,5,20) = -1.0, 0.4, 0.5, 2.0,
YVLB(1,5,20) = 0.23949, 0.23949, 0.0, 0.0,
VALCLO(1,1,20) = -1.0286, +1.0286, +1.0, 6«0.0, 1.0,
VALCLO(1,2,20) = 1.0, ' -1.0, 1.0, 1.0, 5%0.0, 1.0,
LCLIN(1,35) = 1, 1, 1, 5 1,
MCLIN(1,35) =1229, 821,1230, 21237,
NCLIN(4,35) = 3, ‘
LCLON(1,35) = 1, 1, 5 1, 5
MCLON(1,35) =1232,1234, 11,1236, 1,
NCLON(5,35) = 3, NCLON(3,35) = 25,
VALCLN(1,1,35)= 1.0, 1.0, 0.0, 0.0,
VALCLN(1,2,35)= 1.0, 1.0, 0.0, 0.0,
VALCLN(1, 3,35)= 1.0, 1.0, 0.0, 0.0,
- VALCLN(1, 4,35)= 1.0, 1.0, 0.0, 0.0,

, MGLIP(1, 20)
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" VALGLN(1, 5, 35)=

1.0, 1.0, 0.0, 0.0,
NSWN(4,35) = 2,
IVLA(1,35) = 244,7, 3, 6,
XVLA(1,1,35) = 0,0, 0.4, 0.5, 1.0,
YVLA(1,1,35) = 0.0, 0.0, 2.0, 2.0,
XVLA(1,2,35) = 0.0, 0.4, 0.5, 1.0,
YVLA(1,2,35) = 0.0, 0.0, 1.0, - 1.0, o
XVLA(1,3,35) = -1.0, -0.5, -0.4, 0.0, 0.4, 0.5, 1.0,
YWLA(1,3,38) = -1.0, -1.0, 0.0, 0.0, 0.0,  1.00, 1.00,
XVLA(1,4,35) =  -200.0, 0.0,  200.0,
YVLA(1,4,35) =  -200.0, 0.0, 200.0,
XVLA(1, 5, 35) = -100.0, -0.001,-,0009, .0009, 0.001, 100.0,
YWLA(1,5,35) = -1.0 , -1.0, .0, .0, 1.0, 1.0,
IVLB(1,35) = 2¢4,7, 3, 6
XVLB(1,1,35) = 0.0, 0.4, 0.5, 1.0,
YvL8(1,1,35) = 0.0, 0.0, 2.0, 20,
XVLB(1,2,35) = 0.0, 0.4, 0.5, 1.0,
YLB(1,2,35) = 0.0, 0.0, 1.0, 1.0,
YVLA(1,3,35) = -1.0, -0.5, -0.4, 0.0, 0.4, 0.5, 1.0,
YVLA(1,3,35) = -1.0, -1.0, 0.0, 0.0, 0.0,  1.00, 1.00,
XVLB(1,4,35) =  -200.0, 0.0, 200.0,
YVLB(1,4,35) =  -200.0, ~ 0.0, 200.0, ‘
XVLB(1,5,35) = -100.0, -0.02,-0.01, 0.01, = 0.02, 100.0,
YVLB(1,5,35) = ~-1.0, -1.0, . 0,0, 0.0, 1.0, 1.0,
XVLB(1,5,35) = -100.0, -0.001,-.0009, .0009, 0.001, 100.0,
YVB(1,5,35) = -1.0 , -1.0, .0, .0, 1.0, 1.0,
LCLIO(T,1,35)=  2#1, MCL10(1, 1, 35) =1233,1232,
LCLI0(1,2,35)= 2#1, MCL10(1, 2, 35) =1236, 1235,
LCLO0(T,35) = 5, MCL00(1,35) = 1,
‘ NCL00(1,35) = 6,
LCLOO(T,35) = 1, MCL00(1,35)  =1299,
LCL00(2,35) = 1, MCL00(2,35)  =1237,
JSELO(1,35) = 2#1,
VALCLO(1,1,35) = 1.0, 1.0, 7+0.0, 1.0,
 VALCLO(1,2,35) = 1.0, -1.0, 7#0.0, 1.0,
8END
SNAMLGT
IMDLLG = 1, NG = 4 NALG = 16,
I0PILG(64) = 440,
I0P2LG(T) = 540, 2¢1, 440, 1, 40,
DTIMLG(1) = 0.0,  120.0, 1.0E+10,
DDELLG(1) = 0,02, 0.02, 0.02,
TMAXLG = 1. 0E+10, |
IPSTLG = 0, IPTRLG = O,
©OUTLG(1) = 1.0E10,
SEND
&NAMLGZ
| IBLKD(  1)= 41, | -
LLGIDC 1, 1)= 1, MLGID(1, D= 732,
LLGID( 1, 2)= 1, MLGID(1, - 2)= 734,
LLGIDC 1, 3)= 1, MLGID(1, 3)= 736,
LLGID( 1, 4)= 1, MLGID(1, 4)= 738,
LLGOD(  1)= 4«1,
21, 23, 22, 24,

MLGOD( 1)=




PNC TN9410 96-142

&END

1)=

VALLGD(1, 0., 100.0, 1.0E5, -0
VALLGD(1, 2)= 0., 100.0, 1,05, -1
VALLGD(1, 3)= 0., 100.0, 1.0E5 0
VALLGD(1, 4)= 0., 100.0, 1.0E5, - 0
TOLLGD(  1)= 4%0.0,. :
NUMLGA(1) = 6%1, 2%2, 81,
LLGIAC1,1) =1, MLGIA(1,1) =
LLGOA(1) =1, MLGOA(1) =
LLGIA(1,2) =1, MLGIA(1,2) =
LLGOA(2) = 4, MLGOA(2) =
- LLGIACT,3) =1, MLGIA(1,3) =
LLGOA(3) =1, MLGOA(3) =
LLGIA(1,4) =1, MLGIA(1,4) =
LLGOA(4) =1, ‘MLGOA(4) . =
LLGIA(T,5) =1, MLGIA(1,5) =
LLGOA(S) =5, MLGOA(S) =
LLGIA(1,8) = 4, MLGIA(1,6) =
LLGOA(B) =1,  MLGOA(B) = =
LLGIA(1,7) =1, 1, MLGIA(1,7) =
LLGOA(7) = 4, MLGOA(7) =
LLGIA(1,8) =1, 1, MLGIA(1,8) =
LLGOA(B) = 4, MLGOA(8) =
LLGIA(1,9) =1, MLGIA(1,9) =
LLGOA(S) =1, MLGOA(9) =
LLGIA(1,10) = 1, MLGIA(1,10) =
LLGOA(10) =5, MLGOA(10) =
LLGIA(1,11) =1, MLGIA(1,11) =
LLGOA(11) = 5, 'MLGOA(11) =
LLGIA(1,12) = 1, MLGIA(1,12) =
LLGOA(12) =1, MLGOA(12) =
LLGIA(1,13) = 1, MLGIA(1,13) =
LLGOA(13) =5, MLGOA(13) =
LLGIA(T,14) =1,  MLGIA(1,14) =
LLGOA(14) =5, MLGOA(14) =
LLGIA(1,15) = 1, MLGIA(1,15) =
LLGOA(15) =5, MLGOA(15) =
LLGIA(1,16) = 1, MLGIA(1,16) =
LLGOA(16) = 5, MLGOA(16) =
ISELA(1) = 5%1, 3, 2, 2, 81,
TDLLGA(1) = 16%0.0,
TOLLGA(2) =

0,653, 0.658, 0.484,

866,

731,
. 540,
. 567,

821,

10,
821,
828,
821,

—62—

821,

821,

10,

10,

NLGOA(2)

NLGOA(5)
NLGIA(1,6)

NLGOA(7)

NLGOA(8)

NLGOA(10)

NLGOA(11)

NLGOA(13)

- NLGOA(14)

NLGOA(15)

NLGOA(16)

1

21,
23,
2,

24,
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(KL SBED b KL V5T & COBEHRRADF~4)

&NAMAAT
Nan=Q‘INMT=Q
DELT = 0.01, TMAX = 3600, 1,
NUMREC = 25, IORSTA = 0, RSTART = 0.,
OUTTIM(1) = 0.0, 400.0, 3600.0, 1.0E+10,
OUTDEL(1) = 2.0, 2.0, 2.0, 10. 0,
~ RSTTIM(1) = 0., 1000000. ,
RSTDEL(1) = 5000.1, 5000.1,
RSTDEL(1) =11000. 1, 11000. 1,
&END
&NAMAA2
NTEMP = 2,
NTMP(1) = 1, B,
ITMAX(1)= 2, 6,
ITST(1) = 2, 2, -
TGAIN(1)= 2%1.0,
XTEMP(1,1) = 0.0, 1.0E+5,
YTEMP(1,1) = 1.0, 1.0, o
XTEMP(1,2) = 0.0, 907.0, 907. 01, 1450. 00, 1450.01, 1.0E+5,
XTEMP(1,2) = 0.0, 907.0, 907. 01, 1560. 00, 1560.01, 1.0E+5,
YTEMP(1,2) = 0.0, 0.0, 1.0, 1.0, 0.0, 0.0
NVLVN = 3, o
NVNVLV(1) = 17, 18, 19,
NVNNUM(T) = 1, 1, 1,
IVNMAX(1) = 2, 4, 28,
XVLVN(1,1)= 0.0, 1.0E5,
YVLVN(1,1)= 1.0, 1.0,
XVLVN(1,2)= 0.0, 18.0, 18.01, 1.0E5,
YVLVN(1,2)= 0.0, 0.0, 1.0, 1.0,
XVLVN(1,3)= 0.0, 51.0, 51.01, 55,80, 55.81, 225,00,
228,0, 228.01,340.00, 340.01, 349,00, 349,01,
450, 01, 459. 00, 459. 01, 600. 00, 600.01, 603. 00,
700.0, 700.01,706.00, 706.01, 1740.0, 1740.01,
wwM1w=oo 0.0, 1.0, 1.0, 0.0, 0.0,
-1.0, 0.0, 0.0, 1.0, 1.0, 0.0,
-1.0, -1.0, 0.0, 0.0, 1.0, 1.0,
0.0, 1.0, 1.0, 0.0, 0.0, 1.0,
IVNST(1) = 3%2,
VNGAIN(1) = 3%1,0,
NOTEMP = 6,
NPTEMP(1) 10, 6, 9,10, 8, 8,

Foliokdolcioloiofidelolofofidelotokicol ok
*  NA DOREN KAISEKI "

% DOREN VALVE LIFT 12% = *

% . TEST DATA -5565, 0SEC - *
seickoichlolactaoloclobiolokokddokiotdd

NQTEMP(1, 1) = 1, 2, 3, 4, 5 6, 10, 11,828,834,

NQTEMP(1, 2) =1230,1235,21, 22, 23, 24,

NQTEMP(1, 3) =731, 732, 733, 734, 735, 736, 737, 738, 739,
NQTEMP(1, 4) =448, 451, 454, 457, 445, 460, 378, 389, 391, 393,
NQTEMP(1, 5) =828, 1051, 1052, 1053, 1054, 1055, 1056, 1057,
NQTEMP(1, 6) =1229, 1230, 1232, 1233, 1234, 1235, 1236, 1237,
NOPRSN = 5 : :

gam

225,01,
450. 00,
603. 01,




- PNC TN9410 96-142

_NPPRSN(1)

. =101010109
NQPRSN(1, 1) =10%4,
 NRPRSN(1, 1) = 1, 2, 3, 4, 5 6, 7, 8, 9 10,
NQPRSN(1, 2) =10%4,
NRPRSN(1, 2) = 11,12, 13,14, 15, 16,17, 18,19, 20,
NQPRSN(1, 3) = 9%4, ‘
NRPRSN(1, 3) = 21,22, 23, 24, 25 26, 27, 28, 29,
NQPRSN(1, 4) = 4, 5, 4, 5, 4, 5, 4, 5 4, 5
NRPRSN(1, 4) =19, 1,21, 2,23, 3,24, 5,25, 4,
NQPRSN(1, 6) = 4, 5, 4, 5 4, 5, 4, 5 5,
NRPRSN(1, 5) = 26, 8,27, 7,28,10,29, 9, 6,
NOFLWN = 5 '
NPFLWN(1) = 10,10,10, 6, 9,
NQFLWN(T,. 1) = 104,
NRFLWN(1, 1) = 1, 2, 3, 4, 5, 6, 7, 8 9,10,
NQFLWN(1, 2) = 10%4,
 NRFLWN(1, 2) = 11,12,13,14, 15, 16, 17, 18, 19 20,
NQFLWN(1, 3) = 10%4,
NRFLWN(1, 3) = 21,22, 23, 24, 25, 26 27, 28, 29, 30,
NQFLWN(1, 4) = 6%4,
NRFLWN(1, 4) = 31, 32, 33, 34, 35, 36,
NQFLWN(1, 5) = x5,
NRFLWN(1, 5) = 1, 2, 3, 4, 5, 6, 7, 8, 9,
NOPMPN = 1,
NPPMPN(1) = 6,
NQPMPN(1, 1) =66, |
NRPMPN(T, 1) = 1, 2, 3, 4, 5, 6,
NOVLVN = 3,
NPVLVN(1) = 8,10,10,
NQVLVN(1, 1) = 3, 3, 6, 6, 9, 9,12,12
NRVLWN(T, 1) = 1, 2, 1, 2, 1, 2, 1, 2
NQVLVN(1, 2) = 16, 16,17,17, 18,18, 19, 19, 20, 20,
CNRVLWN(Y, 2) = 1, 2, 1,2, 1, 2,1, 2 1, 2
NQVLVN(1, 3) = 21,21, 22, 22, 23, 23, 24, 24, 25, 25,
NRVLVN(1, 3).= 1, 2, 1, 2, 1, 2, 1, 2, 1, 2
&END ' ‘
&NAMFN1
NNFN =4,  IMDLFN(1) =0,0,0, 1, JNETFN(1) = 1, 2,3, 4,
DTIMFN(1,1) = 0., 100000., DDELFN(1,1) = 0.1,
DTIMEN(1, 2) = 0.,100000., DDELFN(1,2) = 0.1,
DTIMFN(1,3) = 0.,100000., DDELFN(1,3) = 0.1,
DTIMFN(1,4) = 0., 100000 DDELFN(1,4) = 0.1,
DTIMFN(1, 4) = 0., 200 0, 220., 100000.,
DDELFN(1,4) = 0. 05 0 02, 0.005, 0.02, 0.02
DTIMFN(1,4) = 0., 50., 60.0, 220., 100000.,
DDELFN(1, 4) = 0.02, o 005, 0.02, 0.02, 0.02,
TMAXFN(1) = 4%1, os+1o
IPSTFN(1) = 2, 3%2 CIPTRFN(1) = 2,2,2, 2,
OUTFN(1,4)= 10. o 50., 100., 200.,
300.0, 400., 500., 600., 700., 800.,
1200., 1500., 1800., 2100., 2400., 2700.,
: 3300., 3600., 3900., 4200., 4500,, 4800.,
&END o ‘
ENAMFN2

900. ,
3000. ,
5100. ,




NFFN(4) = 33,
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NPT1(1,4) =1, 2, 3, 4, 5 6, 7, 8 9,10,11,12, 6,13,13,
NPT2(1,4) = 2, 3, 4, 5, 6, 7, 8 9,10,11,12, 1,13,14,14,
NPT1(16,4)=14,15, 8, 9,10,11,15, 3,16,16, 7, 4,17,18, 7, 7, 4, 4,
NPT2(16, 4)= 1,12, 19, 20, 21, 22, 23, 16, 15, 24,17, 17, 18, 25, 26, 27, 28, 29,
JPT1(1,4) =19, 8, 9,10,11, 8, 7, 6, 5, 4, 3, 2, 6, 1,24,23, 4,
JPT2(1,4) = 8, 9,10,11,12, 7, 6, 5 4, 3, 2, 1,13,14,16,15,17,
 JPTF(1,4) =18, 8, 9,10,11, 7, 6, 5, 4, 3, 2, 1,13,16,25, 22,27,
JPTX(1,4) ==1, 1, 1, 1, 1,-1,-1,-1,-1,-1,-1,-1, - 1, -1, -1, -1, 1,

JPT1(18, 4)=25,
JPT2(18, 4)=18,
JPTF(18, 4)=29,

- JPTX(18, 4)=-1, |
NEFN(19,4) = 0,1,0,3,0,1,1,1,2,1,

)
NEFN(11,4)= 2,1,2,0,0,1,1,1,1,1,
NEFN(21,4)= 1,1,0,1,0,1,1,1,0,1,
NEFN(31,4)= 1,1,1, ‘ ‘ .
ALCF(1,4) = 10.0,80.9,10.0,1199.9, 10.0, 51. 78, 105, 9, 0. 7566, 172. 62,
3. 7233, 32. 773, 16. 298, 709. 52, 1., 1., 505. 89, 605. 42,

0. 321, 3. 495, 0. 4793, 6. 6, 23. 978, 40. 2, 23. 978, 425. 82,
6428, , 4040. , 3291.,10.0,10.0, 18.3,10.0,8.26,
WINT(1, 4)=394, 4143, 397. 191, 393, 6389, 393. 6386, 392. 8543, 4392, 854,
WINT(10, 4)=390. 077, 390.077,393.63, 0.7843, 0.0418, 0.7425,
WINT(16, 4)=0, 7843, 3.553, 5%0.0, 243,553, 0.0, 2%3. OE-4,
WINT(28,4)=6.0E-4, 8%0.0,
WINT( 1,4)= 2%3,0E-4, 2.0E-4, 2%2.0E-4, 6%1.0
WINT(12,4)=  2.0E-4, 1.0E-4, 2%0.5E-4, 1.0
WINT(17,4)= 1.0E-4, 5%0.0, 2x1.0e-4, 0.0
WINT(26, 4)= 21,0E-4, 2¢2. 0E-4, 4%0, 0,
WDPO(1, 4) = 1038. 9, 1067. 2, 3%1038, 9, 61036, 1, 1067. 2, 65. 2778, 0., 0.,

OE-
0E-
%0,

WDPO(16, 4)= 65. 2778, 31. 111, 1036. 1, 100., 1036. 1, 100., 3%31. 111,
WDPO(25, 4)= 100.0, 4%30.0, 4100.0,
KWRN(1, 2,4)=1, DPRS(1,1, 2,4)=0.156E4, ALPH(1,1, 2,4)=1.96,
KWRR(1, 2,4)=1, DPRR(1,1, 2,4)=0.156E4, ALPR(1,1, 2,4)=1.96,
KWRN(1, 4, 4)=3%1, DPRS(1,1, 4,4)=0.556E4, ALPH(1,1, 4,4)=1.95,
DPRS(1, 2, 4, 4)=0.325E4, ALPH(1,2, 4,4)=1.90,
DPRS(1,3, 4,4)=0.513E4, ALPH(1,3, 4,4)=1.92,
KWRR(1, 4,4)=3%1, DPRR(1,1, 4,4)=0.556E4, ALPR(1,1, 4,4)=1,95,
DPRR(1, 2, 4,4)=0.325E4, ALPR(1,2, 4,4)=1.90,
DPRR(1,3, 4,4)=0.513E4, ALPR(1,3, 4,4)=1.92,
KWRN(1, 6,4)=1, DPRS(1,1, 6,4)=0.290E4, ALPH(1,1, 6,4)=1.96,
KWRR(1, 6,4)=1,  DPRR(1,1, 6,4)=0.290E4, ALPR(1,1, 6,4)=1.96,
KWRN(1, 7,4)=1, DPRS(1,1, 7,4)=0.230E4, ALPH(1,1, 7,4)=2.0,
KWRR(1, 7,4)=1, - DPRR(1,1, 7,4)=0.230E4, ALPR(1,1, 7,4)=2.0,
KWRN(1, 8,4)=1,  DPRS(1,1, 8,4)=0.020E4, ALPH(1,1, 8,4)=1,85,
KWRR(1, 8,4)=1,  DPRR(1,1, 8,4)=0,020E4, ALPR(1,1, 8,4)=1.85,
~ KWRN(1, 9,4)=2%1, DPRS(1,1, 9,4)=0.173E4, ALPH(1,1, 9,4)=1.95,
‘ DPRS(1, 2, 9, 4)=0.227€4, ALPH(1,2, 9,4)=2.0,
KWRR(1, 9,4)=2%1, DPRR(1,1, 9,4)=0.173E4, ALPR(1,1, 9,4)=1.95,
: DPRR(1, 2, 9, 4)=0.227E4, ALPR(1,2, 9,4)=2.0,
KWRN(1, 10, 4)=1,  DPRS(1, 1,10, 4)=0. 047E4, ALPH(1,1,10,4)=1. 85,
KWRR(1, 10, 4)=1,  DPRR(1, 1,10, 4)=0. 047E4, ALPR(1,1,10, 4)=1.85,
KWRN(1, 11, 4)=2«1," DPRS(1, 1, 11, 4)=0, 440E3, ALPH(1,1,11,4)=2.0,
' ~ DPRS(1,2, 11, 4)=0. 320E3, ALPH(1,2,11,4)=1.92,
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KWRR(1, 11, 4)=2%1, DPRR(1,1,11,4)=0. 440E3, ALPR(1,1,11,4)=2.0,
" DPRR(1, 2, 11, 4)=0. 320E3, ALPR(1,2,11,4)=1,892,
KWRN(1,12, 4)=1,  DPRS(1, 1,12, 4)=0.004E4, ALPH(1,1,12,4)=1,92,
" KWRR(1,12,4)= 1 DPRR(1, 1, 12, 4)=0. 004E4, ALPR(1,1,12,4)=1,92,
KWRN(1, 13, 4)=2*1 DPRS(1, 1.13,4)=o 1703, ALPH(1,1,13,4)=1.9,
DPRS(1, 2, 13, 4)=0, 392€3, ALPH(1,2,13,4)=1.8,
KWRR(1, 13, 4)=2x1, DPRR(1 1,13, 4)=0. 170€3, ALPR(1,1,13,4)=1.9,
DPRR(1, 2, 13, 4)=0, 392E3, ALPR(1,2,13,4)=1.8,
KWRN(1, 16, 4)=1, DPRS(1,1.16,4)=0 223E3, ALPH(1,1,16,4)=1.9,
KWRR(1, 16, 4)=1,  DPRR(1,1, 16, 4)=0. 223E3, ALPR(1,1,16,4)=1.9,
KWRN(1,17,4)=1,  DPRS(1,1, 17, 4)=0. 34504, ALPH(1,1,17, 4)=2. ,
KWRR(1,17,4)=1,  DPRR(1, 1,17, 4)=0. 34504, ALPR(1, 1,17, 4)=2.,
KWRN(1, 18, 4)=1,  DPRS(1, 1, 18, 4)=0. 0087E4, ALPH(1, 1,18, 4)=2.,
KWRR(1, 18, 4)=1,  DPRR(1, 1, 18, 4)=0. 0087E4, ALPR(1, 1,18, 4)=2.,
KWRN(1, 19, 4)=1,  DPRS(1, 1, 19, 4)=0. 0479E3, ALPH(1, 1,19, 4)=2.,
KWRR(1, 19,4)=1,  DPRR(1, 1,19, 4)=0. 04793, ALPR(1, 1,19, 4)=2.,
KWRN(1, 20, 4)=1,  DPRS(1, 1, 20, 4)=0. 0869E3, ALPH(1, 1, 20, 4)=2.,
KWRR(1, 20, 4)=1,  DPRR(1, 1, 20, 4)=0. 0869E3, ALPR(1, 1, 20, 4)=2.,
KWRN(1, 21, 4)=1,  DPRS(1,1, 21, 4)=0. 0265E3, ALPH(1, 1, 21, 4)=2.,
KWRR(1, 21,4)=1,  DPRR(1, 1,21, 4)=0, 0265E3, ALPR(1, 1, 21, 4)=2. ,
KWRN(1, 22, 4)=1,  DPR$(1,1, 22, 4)=0. 0100E4, ALPH(1, 1, 22, 4)=2.
KWRR(1, 22, 4)=1,  DPRR(1,1, 22, 4)=0. 0100E4, ALPR(1, 1, 22, 4)=2. ,
KWRN(1, 23, 4)=1,  DPRS(1,1,23, 4)=6., 2304E4, ALPH(1, 1, 23, 4)=2. 0,
KWRR(1,23,4)=1,  DPRR(1, 1,23, 4)=6. 2304E4, ALPR(1, 1, 23, 4)=2.0,
KWRN(1,24,4)=1,  DPRS(1,1, 24, 4)=0, 3054E4, ALPH(1, 1, 24, 4)=2.,
KWRR(1, 24, 4)=1,  DPRR(1, 1, 24, 4)=0. 3054E4,ALPR(1,1,24,4)=2 ,
KWRN(1, 26, 4)=1,  DPRS(1,1, 26, 4)=9, 4035E3, ALPH(1, 1, 26, 4)=1. 7715,
KWRR(1, 26, 4)=1,  DPRR(1, 1, 26, 4)=0, 4035E3, ALPR(1, 1, 26, 4)=1. 7719,
KWRN(1, 27, 4)=1,  DPRS(1,1, 27, 4)=5. 4996E3, ALPH(1, 1, 27, 4)=1.7633,
KWRR(1, 27, 4)=1,  DPRR(1, 1,27, 4)=5, 49963, ALPR(1, 1, 27, 4)=1. 7633,
KWRN(1, 28, 4)=1,  DPRS(1, I, 28, 4)=2, 31543, ALPH(1, 1, 28, 4)=1. 7709,
KWRR(1, 28, 4)=1,  DPRR(1, 1,28, 4)=2. 3154€3, ALPR(1, 1, 28, 4)=1. 7709,
KWRN(1, 29, 4)=1,  DPRS(1, 1,29, 4)=1.000€4, ALPH(1,1,29,4)=2.,
KWRR(1,29,4)=1,  DPRR(1,1,29,4)=1.000E4, ALPR(1,1,29,4)=2.,
KWRN(1, 30, 4)=1,  DPRS(1, 1,30, 4)=1, 000E4, ALPH(1,1,30,4)=2.,
KWRR(1, 30, 4)=1,  DPRR(1, 1,30, 4)=1. 000E4, ALPR(1,1,30,4)=2.,
KWRN(1, 31,4)=1,  DPRS(1, 1,31,4)=1.000E4, ALPH(1,1,31,4)=2.,
KWRR(1,31,4)=1,  DPRR(1,1,31,4)=1.000E4, ALPR(1,1,31,4)=2.,
KWRN(1, 32, 4)=1,  DPRS(1,1,32,4)=1.000E4, ALPH(1,1,32,4)=2.,
KWRR(1, 32, 4)=1,  DPRR(1, 1,32, 4)=1.000E4, ALPR(i,1,32,4)=2.,
KWRN(1, 33,4)=1,  DPRS(1, 1,33, 4)=1.000E4, ALPH(1,1,33,4)=2.,
KWRR(1, 33,4)=1,  DPRR(1, 1,33, 4)=1.000E4, ALPR(1,1,33,4)=2.,
IEINT(4) = 1,
KELUD( 1, 4)=1, 12%1,0,0,
KELHD(16, 4)=2%1, 4%0, 0, 2¢1, 1, 3%1,
KELHD(24, 4)= 1,
JELHD(1, 1, 4)= 501, EINT(1, 1,4)= 0. 000,
JELHD(1, 2, 4)= 502, EINT(1, 2,4)=-10505. 136,
JELHD(1, 3,4)= 503, EINT(1, 3,4)= 5746.641,
JELHD(1, 4, 4)= 504, EINT(1, 4,4)= -2712.800,
JELHD(1, 5, 4)= 505, EINT(1, 5,4)= 1361.053,
JELHD(1, 6, 4)= 5086, EINT(1, 6,4)= 434,051,
JELHD(1, 7, 4)= 507, EINT(1, 7,4)= -6124.654,
JELHD(1, 8,4)= 508, EINT(1, 8,4)= 3133.480,

_66_.
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JELHD(1,
JELHD(1, 10
JELHD(1,11,4)=
JELHD(1, 12, 4)=
JELHD(1, 12, 4)= 512,
~ JELHD(1,13,4)=

9, 4)=

513,

JELHD(1, 16, 4)= 5186,

JELHD(1,17, 4)=
JELHD(1, 17, 4)= 517,
JELHD(1, 23, 4)=
JELHD(1, 23, 4)= 523,
JELHD(1,24,4)=

517,
523,
524,

JELHN(1, 25, 4)= 525,

JELHD(1, 25, 4)=
JELHD(1, 26, 4)=.
JELHD(1, 26, 4)= 526,

825,
526,

JELHD(1, 27, 4)= 527,
JELHD(1, 28, 4)= 528,

~ JELHD(1, 28, 4)= 528,

509,
. 4)= 510,
511,
512,

EINT(1 9,4)= -3133. 480,
" EINT(1,10,4)= 6422, 184,
EINT(1,11,4)= 5920, 031,
 EINT(1,12,4)=  -68.118,
EINT(1,12,4)=  -68.04799,
 EINT(1,13,4)= -9119, 348,
EINT(1, 16, 4)= 15885, 534,

EINT(1,17,4)= 10139, 778,

EINT(1,17,4)=
EINT(1,23,4)=

10139. 4416,

EINT(1,24,4)=
EINT(1,25,4)=
"EINT(1,25,4)=
EINT(1, 26, 4)=
EINT(1,26,4)= 7032133,

EINT(1,27,4)= 6079. 267,
EINT(1, 28, 4)= 12687.111,

-743.100,
EINT(1,23,4)= -742, 83297,
1176. 575,
~1026. 186,

0. 00,
7032.137,

EINT(1, 28, 4)= 12687.15168,

NPFN(3,4) =0,

JIPMP(1,3,4) = 6, J2PMP(1,3,4) = 3,  PHRATE(1,3,4)=1.,
NVFN(3,4) =1,

NVFN(5,4) =1,

NVFN(7,4) = 1,3%0,1,

NVFN(14,4) =1,1,0,1,

NVFN(23,4) = 1,0,0,3%1,

NVFN(17,4) =0,

NVFN(23,4) =0,

JIVLV(1, 3,4)= 16, J2VLV(1, 3,4)= 3,VINT(1, 3,4)=1.0E-6,
JIVLV(1, 5,4)= 14, J2vLV(1, 5,4)= 3, VINT(1, ,4)=1 0E-6
JIVLV(1, 7,4)= 3, J2VLV(1, 7,4)= 3,VINT(1, 7,4)=4. 7331E10
JIVLV(1,11,4)= 6, J2VLV(1,11,4)= 3, VINT(1, 11, 4)=1. 2011E6
JIVLV(1,14,4)= 9, J2vLV(1,14,4)= 3,  ISTVLV(1,14,4) =
JIVLV(1,15,4)= 12, J2VLV(1,15,4)= 3, ISTVLV(1, 15, 4) -1
JIVLV(1,17,4)= 15, J2VLV(1,17,4)= 3,  ISTVLV(1,17,4) =1,
JIVLV(1,23,4)= 27, J2vLV(1, 23, 4)= 3 ISTVLV(1, 23, 4) =1,
JIVLV(1, 26, 4)= 17, J2VLV(1,26,4)= 3, VINT(1, 26, 4)=1..3630137E12,
JIVLV(1, 27, 4)= 18, J2VLV(1,27,4)= 3, VINT(1, 27, 4)=1.3594967E12,
JIVLV(1,28,4)= 19, J2VLV(1,28,4)= 3, VINT(1,28,4)=2. 8893294E11,
NOFN(4) =18, NSFN(1,4) = 1840,

JSPAS(1. ,4)=34,  LSFN(1, 2,4)=, SINT(1, 2,4)= -2.7778,
ISFN(1, 2,4) = 2, KSX(1,2,4)= 4,

XsX(1, 1 2,4)= 0. 0 335.0, 341.0, 1.0€5,

YSX(1,1, 2,4)= -2.7776,-2.7776, 2%-2.777E-4,

JSPAS(1, 18 4)=34, LSFN(1,18,4)=0, SINT(1,18,4)= 2.7776,
ISFN(1,18,4) = 2,  KSX(1,18,4)= 4,

XsX(1,1,18,4)= 0.0, 335.0, 341.0, 1.0ES,

YSX(1,1,18,4)= 2.7776, 2.7776, 2%2.777E-4, ‘
JSPAS(2, 18, 4)=35, LoFN(2,18.4)=1; SINT(2,18,4)= 0.00,
ISFN(2,18,4) = 1,  JSXNET(2,18,4) = 4, JSXPAS(2,18,4) = 35,

_JSPAS(3,18,4)=36, LSFN(3,18,4)=1, SINT(3,18,4)= -2.777,

ISFN(3,18,4) = 1,  JSXNET(3,18,4) = 4, JSXPAS(3,18,4) = 36,

NBFN(4)=11, JBFN(1, 4)=19, 20, 21, 22, 23, 24, 25, 26, 27, 28, 29,
PBO(1,4) = 7%1.0E4,
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PBO(8, 4) =1,4511645E4, 0, 80976242E4,
PBO(10, 4)=1, 4227482E4, 1. 15266669E4
NLFN(4) =11,
JLNOD(1,4) = 19, 20, 21, 22, 23, 24 25, 26, 27, 28 29,
JLPAS(1,4) = 18, 19, 20, 21, 22, 25, 29, 30, 31, 32, 33,
JLHIT(1, 4) =448, 451, 454, 457, 445, 460, 395, 387, 389, 391, 393,
- THIT(1,4) = 2%400. 0, 2+340, 0, 2+280, 0, 340. 0, 2%400, 0, 2+280, 0,
HEIT(1,4)= 0.0, 3.5, 0.0, 7.26, 2.49, 1.16,
 HEIT(7,4)= 1,298, 2,437, 9.929, 3.717, 6.77,
NOFFN(3,4) = 1, JOFPAS(1,3,4) = 36,
NOFFN(3, 4) = 0, o ‘

IOFFN(1,3,4) =2,  OFCNST(1,3,4)= 12.41912,

0FLVL1(1.3,4)= 0.0, 0FLVL2(1,3,4)= 1 E+10

NOFFN(S, 4) = : JOFPAS(1,5,4) =

NOFFN(5 4) = 0

IOFFN(1,5,4) = 2, OFCNST(1,5,4)= 8. 7816,

OFLVL1(1, 5,4)= 1.0E10, OFLVL2(1, 5, 4)= 2. 49, JTRIP(4) =

KLVLV(1,4) = 4,3,4,3,2,8,24,14,14,14,13,

XLvLv(1, 1,4)= -3.6, -1.3, 0.0, 2 97,

yLvLVvV(1, 1,4)= 0.0, 6.82, 1242, 27.55,

XLvLv(1, 2,4)= 0.0, 3.3, 6.57,

YLVLV(1, 2,4)= 0.0, 16.83, 23.4,

XLvLv(1, 3,4)= -7.26, -1.85 0.0, 3.0,

YLVLV(1, 3,4)= 0.0, 14.35 21.38, 37.115,

- XLVLV(1, 4,4)= 0.0, 6.96, 10.26,

YLVLV(1, 4,4)= 0.0, 13.877,18,583,

XLVLV(1, 5,4)= 0.0, 3.77,

YLVLV(1, 5,4)= 0.0, - 0.82734,

XLvev(1, 6,4)=  -1.6, -1.1099, -0.84, -0.5701, -0.28,
0.0, 1.16, 2.36,

YLVLV(1, 6,4)= 0.0, 0.4502, 0.9194, 1,3886, 1.7482,
061, 2.5601, 3.2366, ‘

1.9
XLVLV(1, 7,4)= 0.0, 0.0800, 0.2000, 0.3000, 0.400C,
0.5000, 0.8000, 1.0400, 1.3000, 1.8000,
2.4000, - 2.7000, 3.0400, 3.2000, 2.3000,
3.4000, 3.5000, 3.6000, 3.7200, 3.8000,
3.9300, 4.0000, 4.2000, 4.4000,
YLVLV(1, 7,4)= 0.0, 0.0000, - 2.4205, 4.8259, 7.4929,
10. 408, 20.502, 29.845, 41,001, 64.606,
94.616, 109.44, 125.49, 132 62, 136.50,
141,00, 144.99, 148,78, 153,07, 155,76,
159.84, 161.87, 167.00, 171.03,
XLVLV(1, 8,4)=  0.0,0.2700, 0.5060, 0.5400, 1.0460,
‘ 1.3240, 1. 4180, 1.6840, 1.7430, 1.8540,
1.8970, 2.0970, 2.2240, 2.4370,
YLVLV(1, 8,4)=0,837y.,1.3506, 3.2383, 3.6181, 9.9485,
12.8400,13.997, 17.639, 18.590, 21.087,
: 21. 4670, 27. 625, - 30.532, 32.099,
XLvLv(1, 9,4)=  0.0,0.0270, 0.2700, 0.2970, 0.5400,
0.5670, 1. 8540, 3.8540, 5.8540, 7.8540,
8.3040, 8.5740, 8. 8440, 9.9290, |
yLvev(1, 9,4)=  0.0,0.0242, 0,8601, 0.9771, 1.8057,
1.8166,2.1217, 2,5795, 3.0368, 3.4941,
3.5968, 4. 2996, 5.1213, 5. 3845, :
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XLVLV(1, 10, 4)=
YLVLV(1,10, 4)=
XLVLV(1, 11, 4)=

YLVLV(1,11,4)=

0.0, 0. 1660,
1.6460, 1. 9160,
3, 3000, 3. 5700,
0. 3998, 0, 6343,
1. 645, 19, 710,

21.188, 24, 156, .

0.0, 0. 0040,
1. 2000, 2. 2000,
6. 2300, 6. 5000,
0. 0000, 0. 0097,
3. 9547, 4. 1827,
5. 1172, 5. 3577,

0. 5670,
2. 1860,
3. 5880,
6. 3199,
19,773,
24, 292,
0. 1660,
3. 2000,
6. 7700,
0. 3812,
4. 4117,
5. 5461,

0. 7230,
3, 1300,
3. 7170,
9. 0236,
19, 995,
24,705,
0. 5670,
4, 2000,

3. 5057,
4, 6414,

—69-

1. 2000,
‘3. 1800|

18,091, -
20. 011,

0. 7230,
5,2000,

3. 8346,
4, 8401,

KLVLA(1,4) = 6,4,6,4,2,8,24,14,14,14,13, ‘
XLVLA(1, 1,4)= -3.6, -1.3, -1.299, 0.0, 0.001, 2,97,
YLVLA(T, 1,4)= 2%2,9652,  2%4, 30769, 2%5, 09428,
XLVLA(1, 2,4)= 0.0, 3.3, 3.301, 6.57,

YLVLA(1, 2,4)= 2451, 2%2, 0092,

XLVLA(1, 3,4)= -7.26,-1.85,-1.849, 0.0, 0.001, 3.00,

YLVLA(1, 3,4)= 2%2.6525, 2%3.8, 2%5, 245,

XLVLA(1, 4,4)= 0.0, 6,96, 6.961, 10.26,

YLVLA(1, 4,4)= 2%1,99382, 2%1. 42606,

XLVLA(1, 5,4)= 0.0,  3.77,

YLVLA(1, 5,4)= 0.21945, 0.21945, ‘

XLVLA(1, 6,4)= -1.6, -1.1099, -0.84, -0.5701, -0.28,

‘ ‘ 0.0, 1.16, 2. 36,

YLVLA(1, 6,4)= 0.9186, 1.73842,1.73842, 1.23957, 0.5638,
0.5638, 0.5638, 0.5638,

XLVLA(1, 7,4)= 0.0, 0.0800, 0.2000, 0.3000, O.4000,
0.5000, 0.8000, 1.0400, 1.3000, 1.8000,
2.4000, 2.7000, 3.0400, 3.2000, 3.3000,
3. 4000, 3.5000, 3.6000, 3.7200, 3.8000,
3.9300, 4.0000, 4.2000, 4.4000,

YLVLA(1, 7,4)= 0.0, 20,171, 20.171, 24.054, 26.670,
29,148, 133.647, 38.930, 42.906, 47.210,
50.017, 49.429, 47.196, 44.535, 42.794,
41,291, 39.650, 37.872, 35.754, 33.692,

‘ 31,369, 29.027, 25.620, 20.141,
XLVLA(1, 8,4)= 0.0,0.2700,. 0.5060, 0.5400, 1.0460,

' 1. 3240, 1. 4180, 1.6840, 1.7430, 1.8540,
1. 8970, 2. 0970, 2.2240, 2.4370,
YLVLA(1, 8,4)= 1,8990,7.9991, 11.170, 12.511, 10. 400,
' 12.312,13.690, 16.116, 22. 495, 8.8462,
: 30. 793, 22. 890, 7. 3563, ' 1. 0E-6,
XLVLA(1, 9,4)= . 0.0,0.0270, 0.2700, 0.2970, 0. 5400,
0. 5670, 1. 8540, 3. 8540, 5.8540, 7.8540,
8. 3040, 8. 5740, 8.8440, 9.9290,
YLVLA(1, 9,4)= 0.8944, 3.4403, 4.3318, 3.4098, 0.4044,
0.2371,0.2289, 0.2287, 0.2286, 0.2283,
‘ 2. 6030,.3. 0433,  0.2426, 1.0E-6, ‘
XLVLA(1,10,4)=  0.0,0.1660, 0.5670, 0.7230, 1.2000,
1.6460,1.9160, 2.1860, 3.1300, 3.1800,
3. 3000, 3. 5700, - 3.5880, 3.7170,
YLVLA(1,10, 4)= 1.7744,14.029, 17.331, 19,009, 3.4861,
‘ 0.2374,0. 2341, 0.2355, 0.3184, 9.8126,
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‘ 10, 993,7.5160, 3.2024, 1.0E-6,
" XLVLA(1,11,4)=  0.0,0.0040, 0.1660, 0.5670, 0.7230,
1. 2000, 2. 2000, 3, 2000, 4.2000, 5.2000,
6. 2300, 6. 5000, 6. 7700,
YLVLA(1,11,4)= 2.4137,2,2937, 7.7918, 2.1083, 0.2517,
0.2280, 0. 2290, 0, 2298, 0.1987, 0.2690,
0. 8908, 0. 6976, - 1. 0E~6,

ICGFN(1,4) = 745, JCGNET(1,4) = 1145,
~ ICGFN(8,4) = 445, JcaNOD(1,4) = 1,1,2,2,3,4,5,8,7,10,9,
KeGv(1,4) = 4,3,4,3,2,8,24,14,14,14,13,
TCG(1,4) = 2*400..2*340..3*280..2*400.,2*280.,
xcev(1,1,4) = -3.6, -1.3, 0.0, 297,
YCGV(1,1,4) = 27,55, 20,73, 15.13, 1.0E-6,
Xcav(1,2,4) = 0.0, 3.3, 6.57,
Ycev(1,2,4) = - 23.4, 6.57, 1.0E-6,
Xc6v(1,3,4) = -7.26, -1.85 0.0, 3.0,
YCGv(1,3,4) =  37.115, 22, 765, 15, 735, 1. OE-6,
xcev(1,4,4) = 0.0, 6.96, 10.26,
YCGV(1,4,4) = 18,583, 4.706, 1.0E-6,
Xc6v(1,5,4) = 0.0, 3.77,
YCGV(1,5,4) = 0.82733, 1. OE-6,
Xcev(1,6,4) = -1.6, -1.1099, -0.84, -0.5701, -0.28,

0.0, 1.16, 2.36,

3.2366, 2.7864, 2.3172, 1.8480, 1.4884,

1.3305, 0.6766, 1.0E-6,

0.0,  0.0800, 0.2000, 0.3000, 0.4000,

0.5000, 0.8000, 1.0400, 1.3000, 1.8000,

2,4000, 2.7000, 3.0400, 3.2000, 3.3000,

34000, 3.5000, 3.6000, 3.7200, 3.8000,

3.9300, 4.0000, 4.2000, 4.4000,

YCGV(1,7,4) = 171.03, 171.03,168.6095, 166. 2041, 163, 5371,
160, 622, 150. 528, 141. 1850, 130. 029, 106. 424,
76.414, 61.59, 45,54, 38.41, 34,53,
30.03, 26.04, 22,25, 17.96, 15.27,
11.19,  9.16, 4.03, 1.0E-6,

XCGV(1,8,4) =  0.0,0.2700, 0.5060, 0.5400, 1.0460,
1.3240,1. 4180, 1.6840, 1.7430, 1.8540,

©1.8970,2.0070, 2.2240, 2. 4370,

YCGV(1,8,4) = 31.261,30.748, 28.861, 28.481, 22.150,
19.259,18.102, 14.480, 13,509, 11.012,
10.632, 4. 4735, 1.5665, 5.0E-2,

XCGV(1,9,4) =  0.0,0.0270, 0.2700, 0.2970, 0.5400,

. 0.5670,1.8540, 3.8540, 5.8540, 7.8540,
8.3040, 8. 5740, 8.8440, 9. 9290,

YCGV(1,9,4) = 5.3845,5.3604, 4.5244, 4.4074, 3,5788,

| 3,5679,3.2628, 2.8050, 2.3477, 1.8905,
1.7877,1.0849, 0.26322, 5.0E-2,

XCGV(1,10,4) =  0.0,0,1660, .0.5670, 0.7230, 1.2000,
1.6460, 1. 9160, 2.1860, 3.1300, 3.1800,
3,3000, 3, 5700, 3.5880, 3.7170,

YCGV(1, 10, 4) = 24.305,24.011, 18.385, 15.681, 6. 6143,
5,0505, 4, 9954, 4,9322, 4.7099, 4.6940,
3.5165,0.5485, 0.4132, 5.0E-2,

XCGV(1,11,4) = . 0.0,0,0040, 0.1660, . 5670, 0.7230,

YCGV(1,6,4) =

XCOV(1,7,4) =
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&END
&NAMFG1
NNFG =1, o _
IMDLFG(1) = 1. JNETFG(1) = 5,
TMAXFG(1) 100000..
DMAXFG(1) = 0. Q01 DMINFG(1) = 0,0
FMAXDT(1) = 1.0, ~ FMINDT(1) = 0.1
IENDT(1) = 50, 1CEND1(1) = 3
FCONV1(1) = 1.0E-6, DPEPS(1) =
DPLESS(1) = 1.0,
KOPTP(1,1) = 1,1,1,1,1, 1, 4%1, -1,
KOPTV(1,1) = 2,2,1,1,1, -1, 4%1, -1,
KOPTF(1,1) = 9%2, 2,
KOPTA(1,1) = 2,-1,-1,-1,-1, 2, 2, 2, 2, 2,
KOPTA1(1,1) =20, 0, 0, 0, 0,21,22,23, 24,25,
KOPTA2(1,1) =2, 0,0, 0,0, 2, 2, 2, 2 2
KOPTV1(1, 1, 1)=448, 451, KOPTV1(1, 2, 1)=454, 457,
KOPTV1(1, 3, 1)=445, KOPTV1(1, 4, 1)=460,
KOPTV1(1, 5, 1)=395,
KOPTV1(1, 7, 1)=389, KOPTV1(1, 8, 1)=387,
KOPTV1(1,9, 1)=393, KOPTV1(1, 10, 1)=391,
CKOPTWN(1,1,1)= 1, 3,KOPTWN(1,2,1)= 2, 4,
KOPTVN(1,3,1)= 5, KOPTVN(1,4,1)= 7,
KOPTVN(1,5,1)= 8,
KOPTYN(1,7,1)= 8, KOPTVN(1 , 8,1)= 9,
KOPTVN(1,9,1)= 10, KOPTVN(1, 10, 1)=11,
KOPTYN(1,11,1)=12,
IPSTFG(1) = 2, IPTRFG(1) =
OUTFG(1,1)= 1.0, 3.0, 5.0, 10.0,  30.0,
494.0, 494,01, 494,02, 494.03, 494.04,
494,05, 494,06, 494.07, 494.08, 494,09,
| 494.1, 494.11, 494,12, 494,13, 494,14,
&END ‘ ‘
ANAMFG2
NNOD(1) - = 11, NPAS(1) = 10,
JNOD(1,1,1) =1, JNOD(2,1,1) = 2,
JNOD(1,2,1) = 2, JNOD(2,2,1) = 3,
JNOD(1,3,1) = 3, JNOD(2,3,1) = 4,
JNOD(1,4,1) = 3, JNOD(2,4,1) =5,
JNOD(1,5,1) =5, JNOD(2,5,1) = 6,
JNOD(1,6,1) =1, JNOD(2,6,1) =7,
JNOD(1,7,1) =1, JNOD(2,7,1) = 8,
JNOD(1,8,1) = 4, JNOD(2,8,1) = 9,
JNOD(1,9,1) = 4, JNOD(2,9,1) =10,

" 1.2000, 2. 2000,

©Yeav(1,11,4) =

TCGTBL(1,7,4) = 0.0,

3, 2000,

4, 2000, 5.2000,
6. 7700, |

6. 2300, 6. 5000,
5.5461, 5. 5364, 5. 1649,
1.5914,1.3634, -1.1344,
0. 42889, 0. 18837, 5. OE-2,

2,0403, 1.7115,
0. 90465, 0. 7060,

GMOLL(4) = 28., GCONL(4) = 0. 848,
'NTRPFN(4) = 821, NCGTBL(7,4)= 2,
- 6caTBL(1,4)= 1.0, 1CaTBL(7,4)= 2

1. 0E5,

XCGTBL(1,7,4) = 0.5E4, 0.5E4,
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JNOD(1,10
APRESO(
APRESO(
APRESO(
APRESO(
ATEMPO(
~ ATEMPO(
VOLMO(1,
FMASO(1, 1
AREA(1,1)
AVLVO(1,1)
AVLVO(8, 1)
IFRIC(1,1)
ALENG(1,1)
DEQVO(1, 1)
COEFO(1,1)
CLBYD(1,1)

)
)
)

1
1,1)
7,1)
9,1)
1,1)
1,1)
1,1)

1
1
1
o1
1y
1,1)
)

EPSI1(1, 1
XVLVO(1, 1
COEFV(1,
NVIS
ARTEMP(1
ARVIS(1)
NTBL(1)
XTBL(1, 1)
YTBL(1, 1)
NTBL( 2)
XTBL(1, 2)
YTBL(1, 2)
~ NTBL( 3)
XTBL(1,
YTBL(1,
NTBL( 4)
XTBL(1, 4)
YTBL(1, 4)
NTBL( 5)
XTBL(1, 5)
YTBL(1, 5)
NTBL( 6)
XTBL(1,

1
= 4,
)

3)
3)

6)

YTBL(1, 6)

NTBL( 7)
XTBL(1, 7)

YTBL(1, 7)

JNOD(2, 10, 1)=11,
2, 033E4,
84276244, 2.4841645E4,
18566669E4, 2. 4557482E4,
044E4,
0.

25. 49, 4%0. 0,10. 0,

0
0.0,
ok 125,
* 0.0,
E-2, 4%5, 42E-3, 45, 42E-3, 5. 42E-3,
-3, 5. 42E-3, 4. 30E-3, 2%5, 42E-3,

5. 42€-3,

8,
B
1.
2.
2,
4
5
50, 0,
9x0. 0,
1.085
8. 60E-
4x4, 30E-3,
=10%0,

=10%20. 0,
=10%0. 08,

" =10%1, 0,

=10%0, 0,

=10%50. OE-6, FRICO(1, 1)
1.0, 9%0.0,
167.0,4*0.0,4*100,0,87.5,

=10%1, OEt5,

0.0, 200.0, 400.0, 600.0,
1. 16E-5, 3. 17€-5, 5. 43E-5, 7. 68E-5,
4,
-3.6, -1.3, €0, 297
27.55, 20.73, 15.13, 1.0E-6,
4, :
-7.26, -1.85, 0.0, 3.0,
37. 115, 22, 765, 15. 735, 1. OE-6,

3.3, 6.57,
6.57, 1.0E-6,

10. 26,
1. 0E-6,

0.0, 6.96,
18. 583, 4. 706,
2,
0.0, 3.77,
~ 0.82733,1.0E-6,
24,
0.0,
0. 5000,
2. 4000,
3. 4000,

nowon o#onowonowononoww ouwowownwownn
o
o

0. 2000,
1. 0400,
3. 0400,

0. 3000, 0. 4000,
1..3000, 1. 8000,
3.2000, 3. 3000,
13,5000, 3.6000, 3.7200, 3.8000,
3.9300, 4.0000, 4.2000, 4.4000,
= 171.03, 171.03, 168.6095, 166. 2041, 163. 5371,
160. 622, 150. 528, 141. 1850, 130. 029, 106. 424,
76.414, 61.59, 45,54, 38.41, 34.53,
30.03, 26.04, 22.25, 17.96, 15.2/,
11.19, 9.16, 4.03, 1.0E-6,
8,

0. 0800,
0. 8000,
2.7000,

-1.1098,

1.16,
2.7864,
0. 6766,

1.6, -0. 28,
0.0,
3. 2366,

1. 3305,

-0. 84,
2, 36,
2.3172,
1. OE-6,

-0. 5701,

1.8480;, 1. 4884,

0, 340.0, 2280, 0, 2280, 0, 2+400, 0, 2+280. 0,
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&END

NTBL( 8)

XTBL(1, 8)

YTBL(1, 8)

NTBL( 9) |
XT8L(1, 9)

YT8L(1, 9)

NTBL(10)
XTBL(1, 10)

YTBL(1, 10)

NTBL(11)

XTBL(1, 11)

yTBL(1, 11)

NTBL(12)
XTBL(1,12)
YTBL(1,12)

&NAMPP1

NNPN
IMDLPN(1)
KPUMP(1)
JPUMP(1)
NNPUMP (1)
JREF(1)

JPUHD(1)

JROTA(1)
JTRIP(1)

"JPMSTR(1)

JPMTRP(1)
1OPT1(1)
10PT3(1)
10PT4(1)
10PT5(1)
INTIPN(1)
INTIPN(1)
NRSTP(1)
VRLIM(1)
ISTPN(1)
1DBGPN(1)

14, , o
0.0, 0. 0270, 0, 2700, 0. 2970, 0. 5400,
. 5670, 1. 8540, 3. 8540, 5. 8540, 7, 8540,
. 3040, 8. 5740, 8, 8440, 9. 9290, :
. 3845, 5. 3604, 4, 5244, 4. 4074, 3. 5788,
. 5679, 3, 2628, 2. 8050, 2. 3477, 1, 8905,

0
8
=5
3
1,7877,1. 0849, 0, 2632, 5, 0E-2,
14

0. 0, 0. 2700, 0, 5080, 0. 5400, 1. 0460,
1. 3240, 1. 4180, 1. 6840, 1. 7430, 1. 8540,
1. 8970, 2, 0970, 2. 2240, 2. 4370, :
= 31, 261, 30. 748, 28. 861,28, 481, 22, 150,

19, 259, 18. 102, 14, 460, 13, 509, 11. 012,
10. 632, 4, 4735, 1. 5665, 5. 0E-2,
=13, -
= 0.0,0. 0040, 0. 1660, 0. 5670, 0. 7230,
1. 2000, 2. 2000, 3. 2000, 4. 2000, 5. 2000,
6. 2300, 6. 5000, 6. 7700,
5. 5461, 5. 5364, 5. 1649, 2. 0403, 1. 7115,
1.5914, 1. 3634, 1. 1344, 0. 9047, 0. 7060,
0.
4,

4289, 0. 1884, 5. 0E-2,
1

0.0, 0. 1660, 0. 5670, 0. 7230, 1. 2000,
1. 6460, 1. 9160, 2. 1860, 3. 1300, 3. 1800,
3. 3000, 3. 5700, 3. 5880, 3. 7170,
= 24, 305, 24. 011, 18. 385, 15. 681, 6. 6143,
5. 0595, 4. 9954, 4. 9322, 4. 7099, 4. 6940,
3. 5165, 0. 5485, 0. 4132, 5. 0E-2,
2,

= 0.0, 10.0,

= 10.0, 0.0,

= 9’ ‘

= 30, 0,0,0, 340, ‘
=1, 1, 1, 2 3 4 2 3 4
= 7,8 9 1, 1, 3, 25 25 25,
= 1! 1! 1' 1! 1' 1' 1' 1’ 1’
= %2, 3, 34,

= 3 3 3 3 3 3 3 3 3,
= 92,

= O,

= 045,

= 946, |

= 2, 3, 3§,

= %2, M2, 340,

= 3, M2, 34,

= 00,

= 3%, 30, 340,

= 3, 31, 340,

= '9%100,

= . 90, 0005,

= 30, 32, 340,

= 30, 30, 340,

=0
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0UTPN(1 6)
TMAXPN(1)
DTIMPN(1,1)
DTIMPN(1, 2)
DTIMPN(1, 3) -
. DTIMPN(1,4)
DTIMPN(1, 5)
DTIMPN(1, 6)
DTIMPN(1,7)
DTIMPN(1, 8)
DTIMPN(1,9
DDELPN(1, 1
DDELPN(1, 2
DDELPN(1,
* DDELPN(1,
DDELPN(1,
DDELPN(1,
DDELPN(1,
DDELPN(1,

)
)
)
)
)
)
)
)
)
DDELPN(1, 9)

3
4
5
6
7
8
9

&END

&NAMPP2
ROTAIN(1)
ROTAIN(4)

ROTAIN(4)
PMFLIN(4)

PMFLIN(1)
PUHDIN(4)

- PWFLWR(1)

PWFLWR(4)
ROTAR(1)
PHEADR(1)
PHEADR(4)

PHEADR(4) -
PTORQR(1)
PTORQR(4)

PTORQR(4)
PEFICR(1)
PEFICR(4)
PEFICR(4)
PINERT(1)
PINERT(4)

- RYOYU(1)

" COEFPM(
COEFPM(
COEFPM(

" COEFPM(

owouow o8 owu ouwon

—_— ek —d
-

I N —

- e e -
— ok b i
e et s

o B ouwon NN N ou o H N Nw" N nN B U U

1. 0EH10,

1. 0E410, OUTPN(1,2) =
1.0E+10, OUTPN(1,4) = 1,0E+10,
1. OE+10, 0UTPN(1,6) = ‘1.0E+10,
1.0E+10, ~ OUTPN(1,8) = 1,0E+10,
1. 0E+10, ,
5.0, 1.0E+10,
5.0, 1,0€E+10,
5.0, 1.0E+10,
3%1, 0E+10, 3%1. 0E+10, 3%1, 0E+10
0.0, 1.0€+05,
0.0, 1,0E+05,
0.0, 1.0E+05,
0.0, 1.0€+05,
0.0, 1.0E+05,
0.0, 1.0E+05,
0.0, 1.0E+05,
0.0, 1.0€+05,
0.0, 1.0E+05,
2x0. 2,
2%0. 2,
2%0. 2,
2%0, 2,
2x0. 2,
2%0. 1,
2%0, 2,
2%0. 2,
2x0. 2,
- 3%88.0,
18. 9042, 18. 9002, 18, 90313,
3%36. 0,
= - 77.7800, 78. 4300, 78. 1960,
3%691. 6667, 3%399, 8695, 3%0. 49039,
1522, 87, 1530. 14, 1518. 90,
3%1422, 2 ,  3%1069. 23,
1062. 0498, 1062, 6328, 1061. 7588,
3%87. 65 . 3%115,192
8. 397E+4, 8. 397E+4, 8. 389Et4, -
4,793E+4, 4, 828E+4, 4, 785E+4,
4, 8624E+4, 4, 8978E+4, 4, 5353E14,
2. 109€+3, 2. 106E+3, 2. 047€+3,
576. 0, 583.0, 582.0,
586. 52326, 595. 9549, 593. 5477,
0. 754, 0. 755, 0. 754,
0. 863, 0. 856, - 0. 851,
3%1.0,
126. 25, 127. 76, 128.62,
23.903, 23. 903, 23. 903,
6%1.0, ‘
1,260, -0.076, 0.065, -0.250, "0.000,
-0.654, 0.646, 0.969, 0.039, 0.000,
0.680, -0.443, 0.398, -0.423, 0.000,
0.506, 0.585, =-0.048, 0. 000,

-0. 043,

24

0. 000,
0. 000,
0. 000,
0. 000,
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= -0.366, 1.139, 0,164, 0,063, 0.000, 0.000,

COEFPM(1,5,1)
COEFPM(1,6,1)=- 0,792, -0.223, -0,101, -0,329, -0.800, -0.577,
COEFPM(1,1,2)= . 1,260, -0,076, 0,065, -0,250, 0.000, 0.000,

‘COEFPM(1,2,2)= -0.654, 0,646, 0.969, 0.039, 0.000, 0.000,
COEFPM(1,3,2)=  0.680, -0.443, 0,398, -0.423, 0.000, 0.000,
COEFPM(1,4,2)= 0.506, = 0.585, -0,048, -0,043, 0.000, 0.000,
COEFPM(1,5,2)= -0.366, 1.139, 0.164, 0.083, '0.000, 0.000,
COEFPM(1,6,2)= 0,792, -0.223, -0.101, -0.329, -0.800, -0.577,
COEFPM(1,1,3)=  1.260, -0.076, 0.085, -0.250, 0.000, 0. 000,
COEFPM(1,2,3)= -0.654, 0.646, 0.969, 0,039, 0.000, O0.000,
COEFPM(1,3,3)=" 0.680, -0.443, 0.398, -0.423, 0.000, 0.000,
COEFPM(1,4,3)= 0,506, 0,585, -0.048, -0.043, 0.000, 0. 000,
COEFPM(1,5,3)= -0.366, 1.139, 0.164, 0.063, 0.000, 0. 000,
COEFPM(1,6,3)=  0.792, -0,223, -0.101, -0.329, -0.800, -0.577,
COEFPM(1,1,4)=  1.380, -0.438, -0.405, 1.251, -0.788, 0. 000,
COEFPM(1,2,4)= -1.000, 2.773, -3.912, 4.488, -1.349, 0. 000,
COEFPM(1,4,4)= 0.800, -0.828, 2.664, -2.073, 0.437, 0.000,
COEFPM(1,5,4)= -0,830, 3.022, -2.608, 1.416, 0.000, 0. 000,

- COEFPM(1,1,5)= 1,380, -0.438, -0.405, 1,251, -0.788, 0.000,
COEFPM(1,2,5)= -1.000, 2.773, -3.912, 4.488, -1.349, 0. 000,

- COEFPM(1,4,5)=  0.800, -0.828, 2.664, -2.073, 0.437, 0.000,
COEFPM(1,5,5)= -0.830, 3.022, -2.608, 1.416, 0.000, 0. 000,
COEFPM(1,1,6)= 1.380, -0.438, -0.405, 1,251, -0.788, 0. 000,
COEFPM(1,2,6)= -1.000, 2.773, -3.912, 4,488, -1,348, 0,000,
COEFPM(1,4,6)=  0.800, -0.828, 2.664, -2.073, 0.437, 0.000,
COEFPM(1,5,6)= -0.830, 3.022, -2.608, 1.416, 0.000, 0,000,
FCOE(1,1,4) = 0.00690, 0.0, 0.0,

FCOE(T1,2,4) = 0.00690, 0.0, 0.0,
FCOE(1,3,4) = 0.10140, -1.8900, 0.0,
FCOE(1,1,5) = 0.00690, 0.0, 0.0,
FCOE(1,2,5) = 0.00690, 0.0, 0.0,
FCOE(1,3,5) = 0.10140, -1. 8900, 0.0,
FCOE(1,1,6) = 0.00690, 0.0, 0.0,

. FCOE(1,2,6) = 0.00690, 0.0, 0.0,

FCOE(1,3,6) = 0.10140, -1.8900, 0.0,
FCOE(1,1,4) = 0.102083,-8.1315, 0.0,
FCOE(1,2,4) = 6.944E-3, 0.0, 0.0,
FCOE(1,3,4) = 6.944E-3, 0.0, 0.0,
FCOE(1,1,5) = 0.100858, -8.0339, 0.0,
FCOE(1,2,5) = 6.861E-3, 0.0, 0.0,
FCOE(1,3,5) = 6.861E-3, 0.0, 0.0,
FCOE(1,1,6) = 0.101031,-8.0477, 0.0,
FCOE(1,2,6) = 6.873E-3, 0.0, 0.0,
FCOE(1,3,6) = 6.873E-3, 0.0, 0.0,
NTFR(1). = 3%3,

RTFR(1,1) = - 0,0, 2+4, 189,

RTFR(1,2) = 0.0, 2%4, 189,

RTFR(1,3) = 0.0, 24, 189,
TFR(1,1) - .= 2%100.0, = 0.0,

TFR(1, 2) = 2¢100.0, 0.0,

TFR(1,3) = 2¢100.0, 0.0,

NEFF(1) = 3%16,

REFF(1,1) = 0.0, 4.189, 6.283, 8.378,10.472, 15. 708,

~ REFF(7,1) 20. 944, 26. 180, 31. 416, 36. 652, 41. 888, 52, 360,
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62,832, 73. 304, 87. 650, 1000, 0, -

3%0, 0,

REFF(13,1) = | :
TEFF(1,1) = 0.205, 0.205, 0.293, 0,371, 0.440, 0.578,
TEFF(7,1) = 0.670, 0.727, 0.754, 0.761, 0.756, 0.758,
TEFF(13,1) = 0,761, 0.759, 0.754, 0,754,
REFF(1,2) = 0.0, 4.189, 6.283, 8.378,10.472, 15. 708
REFF(7,2) - = 20,944, 26. 180, 31, 416, 36. 652, 41. 888, 52. 360‘
REFF(13,2) = 62,832, 73. 304, 87. 650, 1000, 0,
TEFF(1,2) = 0.191, 0.191, 0.273, 0.347, 0.412, 0.545,
TEFF(7,2) = 0.638, 0.699, 0.733, 0,747, 0.750, 0,759,
TEFF(13,2) = 0,763, 0.761, 0.755, 0.755,
REFF(1,3) = 0.0, 4.189, 6.283, 8,378, 10.472,15.708,
REFF(7,3) =20, 944, 26, 180, 31. 416, 36. 652, 41 888, 52. 360,
REFF(13,3) = = 62. 832, 73. 304, 87. 650, 1000, 0,
TEFF(1,3) = 0.204, 0.204, 0.292, 0,370, 0.439, 0. 576
TEFF(7,3) = 0.669, 0.727, 0.756, 0,764, 0.760, 0.7686,
TEFF(13,3) = 0,770, 0.768, 0.754, 0,754,
ROTMAX(1) =  9%1.0E+10,
ROTMINC1) = 9x0,0,
DTMAX(1) = Ox1, 0E+10,
DTMIN(1) = - 9%0.0,
PMGD(1) = 3%0,1796 , 3%0,01584,
- RGEAR(1) = 3%0.047000, 30,1017,
PMRMAX(1) = = 6%188.5,
MPONY1(1) = 3x4, 3x4,
RPONY(1,1) = 0.0,179.07, 188.5, 1. 0Et4,
TPONY(1,1) = 42.7, 42,7, 0.0, 0.0,
RPONY(1,2) = 0.0,179.07, 188.5,1.0E+4,
TPONY(1,2) = 42.7, 42,7, 0.0, 0.0,
RPONY(1,3) - = 0.0,179,07, 188.5,1,0E+4,
TPONY(1,3) = 42.7, 42.7, 0.0, 0.0,
RPONY(1,4) = 0.0,169.65, 188.5, 1. 0E+4,
TPONY(1,4) = 12,0, 12.0, 0.0, 0.0,
RPONY(1,5) = 0.0,169.65, 188.5,1.0E+4,
TPONY(1,5) = 12,0, 12,0, 0.0, 0.0,
RPONY(1,6) = 0.0,169.65, 188.5,1.0E+4,
TPONY(1,6) = 12.0, 12.0, 0.0, 0.0,
MPONY2(1) = 3, 3 3, 2, 2, 2
RRPONY(1,1) = 0.0, 4.189, 4.190, :
FTPONY(1,1) =  3%100.0, |
RRPONY(1,2) = 0.0, 4.189, 4.190,
FTPONY(1,2) =  3%100.0,
RRPONY(1,3) = 0.0, 4.189, 4.190,
FTPONY(1,3) =  3%100.0, |
RRPONY(1,4) = 0.0, 400.0,
CFTPONY(1,4) =  2x0.0,
RRPONY(1,5) . = 0.0, 400.0,
FTPONY(1,5) = 2%0,0,
RRPONY(1,6) = 0.0, 400.0,
FTPONY(1,6) = 240.0,
ROTC1(1) = 3%4, 189, 3%0. 050,
ROTC2(1) = 3%4,189, 3%0.0 ,
PHEADR(7) = 3%238.0, :
PMFLIN(7)  =0.309013, 0.32263, = 0.311469,
PUHDIN(7) = =
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ROTAIN(7)
PWFLWR(7)
'PEFICR(7)
COEFPM(1,
COEFPM(3,
COEFPM(1,
COEFPM(3,
COEFPM(1,
COEFPM(3,
ACOEF(1,
ACOEF (2,
ACOEF(3,
ACOEF(4,
ACOEF(5,
ACOEF(1,
ACOEF(2, 1,
ACOEF(3,
ACOEF(4,
ACOEF (5,
ACOEF(1,
ACOEF(2,
'ACOEF(3,
4
5,

’

ROFLUD(7
MODE1(7)
3 MODE2(7)
i ~ MODE3(7)
i ' INTMOD(7)
BROTA1(7)
BROTA2(7)
ITBLO1(7)
1STBO1(7)
© GTBLO1(7)
TTBLOT(1, 7
TTBLO1(6, 7
TTBLO1(11,7
TTBLO1(16, 7
XTBLO1(1,
XTBLO1(86, 7
XTBLO1(11,7
XTBLO1(16, 7
TTBL01(1
TTBLO1(6, 8
1 TTBLO1(11, 8
4 ~ TTBLO1(16,8
: - XTBLO1(1,
P ' XTBLO1(6, 8
E XTBLO1(11,8
: XTBLO1(16, 8
o TTBLOI(Y,
- TTBLO1(6, 9
TTBLO1(11,9
TTBL01(16 9

T AP TR A eI

)
)
)

)
7)
)
)

)
8)
)
)
)
8)
)
)
)
9)
)
)
)

el et P e e s

= 340, 0,

77

=3492.65,  ROTAR(7) = 3473, 304,
Co= 3,0,
=-9, 4661E-3, COEFPM(2,1,7)= 2, 5994E-3,
= 0, 056157, : - |
=-9, 4661E-3, COEFPM(2,1,8)= 2, 5994E-3,
= 0, 056157, . R
=-0, 4661€-3, COEFPM(2,1,9)= 2.5994E-3,
= 0, 056157, o
= -0, 10229, ACOEF(1,2,7) = 0.16039,
= 0. 065434, ACOEF(2,2,7) = 0.1598,
= -1,35612€-3,  'ACOEF(3,2,7) = -6.2605E-3,
= 1.2066E-5,  ACOEF(4,2,7) = 3,0929E-5,
= -4,0021E-8,  ACOEF(5,2,7) = 1.5478E-6,
= -0, 10229, ACOEF(1,2,8) = -0.20917,
= 0.065434, ACOEF(2,2,8) = 0.15878,
= -1.3512E-3,  ACOEF(3,2,8) = -7.6174E-3,
= 1.2066E-5 ~ ACOEF(4,2,8) = 1,3289E-4,
= -4,0021E-8,  ACOEF(5,2,8) = -2, 5867E-7,
= -0, 10229, ACOEF(1,2,9) = 0.12374,
= 0. 065434, ACOEF(2,2,9) = 0.013316,
= -1.3512€-3, . ACOEF(3,2,9) = 4.4245E-3,
= 1.2066E-5,  ACOEF(4,2,9) = -1,9462E-4,
= -4,0021E-8,  ACOEF(5,2,9) = 2.3016E-6,
= 0,72640, 0.72467, 0.72860,
= 872, 897, 922,
= 873, 898, 923,
= 874, 899, 924,
= 340, .
= 75.224, 75.318, 74.883,
= 25,017, 25.101, 24,901,
= 18, 19, 18,
= 242,
= 31,0,
= 0.0, 1.0, 3.0, 4.0, 6.0,
= 7.0, 9.0, = 10.0, 12.0,  13.0,
= 150, 17.0, 18.0, 20.0, 210,
= 230, 240, 250,
= 0.0, 2.2407, 6.7307, 9.5111, 13,833,
= 15.281, 18.313, 21.355, 24.617, 27.839,
= 33,799, 39.496, 44.417, 50.104, 55.830,
= 63.626, 74.222, 75.226, S
= 0.0, 1.0, 30, 4.0, 6.0,
= 7.0, 9.0,  10.0, 120,  13.0,
= 150, - 17.0, 18.0, 20.0,  21.0,
= 230, 240, 25.0, 26.0, |
= 0.0, 23126, 6.9405 9.5130, 13.696,
= 15.365, 18.166, . 21.262, 24.587, 28.009,
= 33,705, 39.937, 44.521,  50.501, 55.694,
= 63.804, 74.328, 75.229, ~75.318,
= 0.0, 20, 3.0, 5.0, 6.0
= 8.0, 9.0, - 11.0, 12.0, 14,0,
= 160, 17.0, 19.0, 2.0, 220,
= 230, 24.0,
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XTBLO1(1, 9) =
XTBLO1(11,9) =
XTBL01(16, 9)
I TBL12(7)

18TB12(7)

6TBL12(7)

TTBL12(1, 7)
TTBL12(6, 7)
TTBL12(11,7)
TTBL12(16, 7)
XTBL12(1, 7)
XTBL12(6, 7)
XTBL12(11,7)
XTBL12(16, 7)
TTBL12(1, 8)
TTBL12(6, 8)
TTBL12(11, 8)
TTBL12(186, 8)
XTBL12(1, 8)
XTBL12(6, 8)
XTBL12(11, 8)
XTBL12(16, 8)
TTBL12(1, 9)
TTBL12(6, 9)
TTBL12(11,9)
TTBL12(16, 9)
XTBL12(1, 9)
XTBL12(6, 9)
XTBL12(11,9)
XTBL12(16, 9)
ITBL23(7)

1STB23(7)

GTBL23(7)

TTBL23(1, 7)
TTBL23(6, 7)
TTBL23(11,7)
TTBL23(16, 7)
XTBL23(1, 7)
XTBL23(6, 7)
- XTBL23(11,7)
XTBL23(16, 7)
TTBL23(1, 8)
TTBL23(6, 8)
TTBL23(11, 8)
TTBL23(16, 8).
XTBL23(1, 8)
- XTBL23(6, 8)
XTBL23(11, 8)
XTBL23(16, 8)
TTBL23(1, 9)
TTBL23(6, 9)
TTBL23(11,9)
XTBL23(1, )

- 36. 851,

24. 000,

llIlllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllnllllllllllllllllll_lln"lll[nll"ll

0.0, 6.0476,
16.582, 19,981,
41.141,
64. 055, 73,982,
19,19, 18, ‘
3%2,
3%1. 0,

0.0,

43,0,
93,0,
143.0,
75. 226,
46. 828,
32. 025,
23. 810,
0.0,
43,0,
93.0,
143.0,
75. 318,
47. 869,
32. 549,
24,597,
0.0,
43,0,
93.0,
143, 0,
74. 883,
46, 988,
31. 658,

3.0,
53.0,
103, 0,
145, 0,
73, 225,
43,021,
29. 675,
24, 881,
3,0,
53,0,
103.0,
145.0,
73. 267,
43, 870,
30. 577,
25. 091,

18,18, 14,
342,
3%1.0,
0.0,
61.0,
241.0,
690. 0,
25.017,
17. 465,
8. 2088,
2. 2926,
0.0,
100.0,
300. 0,
960. 0,
25.101,
14, 882,
7.7374,
1.9723,
0.0,
- 170.0,
628. 0,
24,901,

81.0,
271.0,
691.0,

24, 995,
15. 701,
7. 4438,
1. 3698,
8.0,
120.0,
480.0,
990. 0,
23,936,
13. 696,
5. 0629,
0. 3362,
10.0,
230.0,
629. 0,
23, 297,

3.0,
53.0,
103. 0,
145. 0,
72,984,
42. 643,
29. 603,
24,737,

8, 9758,

- 22,887,

45. 434,
74, 883,

8.0,

63.0,
113.0,
146. 0,

68. 925,

39, 589,
27,977,
24, 659,
8.0,
63.0,
113.0,
146. 0,
68. 493,
40, 482,
28, 858,
25,184,

63,0,
113.0,
1460,

68. 284,

39. 454,
27.87,

24,901,

11.0,
11,0,
371.0,
692. 0,

23. 748,
13. 528,
5. 3346,

0.0,

40. 0,
140. 0,

1625. 0,
1020. 0,
19. 897,
12.763,
3. 8046,

0.0,

30.0,

~380.0,

630. 0,
20. 465,

—~e

12. 889,
26. 025,
50. 365,

23.0,
73.0,
123.0,
147.0,
58. 045,
36, 653,
26. 307,
25.017,
23.0,
73.0,
123.0,
147.0,
58. 904,
37. 450,
27. 210,
25.101,
23.0,
73.0,

- 123.0,

57. 939,
36. 504,

26, 287,

30,
151.0,
471. 0,

20. 956,
11. 347,
3.9604,

60. 0,
1€0. 0,
840, 0,

17. 988,
11. 820,
2. 4591,

60. 0,
480. 0,
631.0,

16. 895,

14, 295,

31,332,
56. 449,

33.0,
83.0,
133.0,

51,749,
34,061,
24, 881,

33,0,
83,0,
133.0,

52. 630,
34.532,
25.774,

33.0,
83.0,
133.0,

51. 676,
33.999,
24, 827,

41. 0,
201.0,
601. 0,

19, 508,
9. 4891,

2.9837,

80. 0,
190. 0,
930. 0,

16. 540,
10. 612,
2.0182,

110.0,
620. 0.

12. 973,
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XTBL23(6, 9) = 10.182, 8,2727, 5.0410, 3.7207, 2. 1568,

XTBL23(11,9) = 1.5276, 0,7169, 0,2627, 0.0,
ITBL32(7) = 3%2, 4 ‘
ISTB32(7) . = 3%2,
aTBL32(7) = 3%1,0
TTBL32(1,7) = 0.0, 300,
XTBL32(1,7) =.-. 0.0, 25.017,
TTBL32(1,8) = 0.0, 30.0,
XTBL32(1,8) = 0.0, 25.101,
T7BL32(1,9) = 0.0, 30.0,
. XTBL32(1,9) = 0.0, 24.901,
&END '
SNAMVVT
NNVN: = 30,
IMDLWN(1) = 0,0,1,0,0,0,0,0,0,0,0,0,
~ IMDLVN(14) =1, '
IMDLVN(16) = =1,1,1,1,0, 4%0,
IMDLVN(21) = 1,1,1,1,
IMDLVN(25) =1,
TMAXVN(1) = 25%1,0E+10,
TMAXVN(16) = 900.0,
TMAXVN(17) ~ = 10.0,
- TMAXVN(18) = 30.0,
TMAXVN(19) = 1790.0,
TMAXVN( 3) = 1570.0, ‘
DTIMVN(1,1) = 0.0, DDELVN(1,1) = 0.2,
DTIMVN(1,2) = 0.0, "DDELVN(1,2) = 0.2,
DTIMVN(1,3) = 0.0, DDELVN(1, 3) = 0. 05,
DTIMVN(1,4) = 0.0, DDELVN(1,4) = 0.5,
DTIMVN(1,5) = 0.0, DDELVN(1,5) = 0.5,
DTIMVN(1,6) = 0.0, DDELVN(1,6) = 0.5,
DTIMVN(1,7) = 0.0, DDELVN(1,7) = 0.2,
DTIMVN(1,8) = 0.0, DDELVN(1,8) = 0.2,
DTIMVN(1,8) = 0.0, DDELVN(1,9) ='0.2,
DTIMVN(1,10) = 0.0, DDELVN(1,10)= 0.2,
DTIMVN(1,11) = 0.0, DDELVN(1,11)= 0.2,
DTIMVN(1,12) = 0.0, DDELVN(1,12)= 0.2,
DTIMVN(1,13) = 0.0, DDELVN(1,13)= 0.2,
DTIMVN(1,14) = 0.0, DDELVN(1,14)= 0. 2,
DTIMVN(1,15) = 0.0, DDELVN(1,15)= 0.2,
OTIMVN(1,16) = 0.0, DDELVN(1,16)= 0.1,
DTIMVN(1,17) = 0.0, DDELVN(1, 17)= 0. 02,
DTIMVN(1,18) = 0.0, DDELVN(1, 18)= 0. 02,
DTIMVN(1,19) = 0.0, DDELVN(1,19)= 0. 02,
- DTIMVN(1,20) = 0.0, DDELVN(1,20)= 0.2,
DTIMVN(1,21) = 0.0, DDELVN(1,21)= 0.2,
DTIMVN(1,22) = 0.0, DDELVN(1, 22)= 0.2,
DTIMVN(1,23) = 0.0, DDELVN(1,23)= 0.2,
DTIMVN(1,24) = 0.0, DDELVN(1, 24)= 0. 2,
'DTIMVN(1,25) = 0.0, DDELVN(1, 25)= 0. 2,
ISTAVN(1) . = 3%2,3%2, 6*2 3%2, 35%2, 3%0, 6%0,
ISTAVN(1) = 50%1, :
© IDBGUN(1) = 3%0,3%0, 6%0, 38%0, 3%0, 6x0,
- OUTVN(1,1) = 1.0E+10,
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&END

OUTVN(1, 2)
OUTVN(1, 3)
OUTVN(1, 4)
OUTVN(1, 5)
OUTVN(1, 6)
OUTVN(1,7)
OUTVN(1, 8)
OUTVN(1,9)

OUTVN(1, 10)
OUTVN(1,11)
OUTVN(1,12)
OUTYN(1,13)
OUTVN(1, 14)
OUTVN(1, 15)
OUTVN(1, 16)
OUTVYN(1,17)
OUTVN(1,18)
OUTVN(1,19)
OUTVN(1, 20)
OUTVN(1, 21)
OUTVN(1, 22
OUTVN(1, 23
OUTVN(1, 24
OUTVN(1, 25

— e e e

&NANMVV2

NVNSOT(1)
NVNXVN(1)
NVNANS(1)
NVDP(1)

NVS1(1)

NVSNO(1)

NFLWVS(1)
WVSNO(13)
NFLWVS(13)
NVSNO(16)
NFLWVS(16)
IXCHAR(1)
ICVCH1(1)
ICVCH2(1)
ICVCH3(7)
ICVCH4(1)
XVNMAX(1)
XVNMIN(T)
XVNMIN(T)
TAUA(1)

TAUA(1)

TAUA(7)

VLATE(1)

AKESME(1)
ITBLXZ(1)
XZTBL(1, 1)

— md —d d b b d mdh —h b eh ed eh b mh b b el ed and d cmd D ek

6%1. 486, 3x1.0417, 6%1,67,

. 0E+10,
. 0E+10,
. 0E+10,
. OE+10,
. 0E+10,
. 0E+10,
. 0E+10,
. 0E+10,
. 0E+10,
. 0E+10,
. 0E+10,
. 0E+10,
. 0E+10,
. 0E+10,
. 0E+10,
. 0E+10,
. 0E+10,
. 0E+10,
. OE+10,
. OE+10,
. 0E+10,
. 0E+10,
. 0E+10,
. OE+10,

25%1,
25%2,
25%3,
25%4,
25%5,
3,
3!
4,
5,
4,
26, 2
1242,
15%1,
3%4,
3%1,
3x0,
25%100. 0,
25%0. 0,
5. 46,

—
Wh wWPOWN

—
i B~ N B L N N

-

3«1,

344,
341,
340,

r

3 4

2,

3, 4,

2, 5,

7, 11, 10, 10, 14, 11, 10,

3%3,

3%,

17%0. 0,

3%2,
31,

5%, 0,

344,
30,

1. 4925, 1. 4493, 1, 4925, 1, 471, 1,493, 1,515,

6%0. 0,
6%-1.0,

non

6%17,

6%0. 0,

21,0, -1.0, 3%1.0,

1.020, 1.020, 1.031, 1.639, 1.613, 1,639,
3x0, 0,
3%1. 0,

0.0, 3.0, 4.00, 5.00, 6.00, 7.00, 8.00,
1.1, 22.2, 33.4, 44.4, 55.6, 66,7, 77.8,
88.9, 94.4,100.0,

...80_
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2218L(1, 1) |

XZTBL(1,2)

2zT8L(1,2)

KeTeL(1, 3)
\ ;ZTBL(1.3)
XZTBL(1, 4)
zszL(1,4)
XZTBL(1,5)
2z78L(1,5)
XZTBL(1,6)
‘iZTBL(1.6)

GNTBL(1)

I TBLXZ(7)
XZT8L(1,7)
XZTBL(8, 7)
2ZTBL(1,7)
7278L(8,7)
XZTBL(1, 8)
XZTBL(8, 8)
2Z78BL(1, 8)
2ZTBL(8, 8)
XZTBL(1,9)
XZTBL(8, 9)

2ZTBL(1,9)

2ZTBL(8, 9)
GNTBL(7)
ITBLXZ(13)
XZTBL(1,13)
2zTBL(1,13)
XZTBL(1, 14)

22TBL(1, 14)

XZT8L(1, 15)

1. 0E9, 7. 79€4, 3. 33e4, 1. 422€4, 6074, 8, 2595. 0, 1108. 4,
78,6, 32.0, 13.4, 6.7, 3. 9 2.4, 1.54, '
1.03, 0,90, 0.88, '

0.0, 3,0, 4.00, 5.00, 6. 00 7.00, 8.00,
1.1, 22,2, 33.3, 44,4, 55,6, 66 7, 71. 8
8. 9, 94.4,100.0, '

1. 09, 7. 79€4, 3. 334, 1. 422E4, 6074, 8, 2595, O 1108 4,
78.6, 32.0, 13.4, 6.7, 3 9, 2.4, 1.54,
1.03, 0,90, 0.88, '

0.0, 3.0, 4.00, 5,00, 6.00, 7. 00 8. 00,
1.1, 22.2, 33.3, 44.4, 55,6, 66.7, 77.8,
88.9, 94.4,100.0,

=3, 828687E13, 7. 794, 3,33E4, 1.422E4, 6074, 8, 2595. 0,

1108. 4,78.6, 32.0, 13.4, 6.7, 3.9,
1.03, 0.90, 0. 88,

0.0, 2.00, 3.00, 4.00, 5.00, . 00, 8.00,
1.1, 22.2, 33.3, 44,4, 55.6, 66.7, 77.8,
88.9, 94.4,100.0,

= 1.0E9, 2, 2€5, 1. OSES, 4, 93€4, 2 32¢E4, 1 1E4, 2. 43E3,
236.2, 70.0, 23.0, 9.3, 4.3, 2.4, 1,55
1.07, 0.92, 0,90,

0.0, 2.00, 3.00, 4.00, 5.00, 6.00, 8. 00
1.1, 22.2, 33.3, 44.4, 55.6, 66.7, 77 8,
88.9, 94.4,100.0,

= 1. 0ES, 2. 2E5, 1. 05E5, 4. 53E4, 2. 32E4 1. 1E4, 2. 43€3,

2.4, 1.54,

1236.2, 70.0, 23.0, 9.3, 4.3, 2.4, 1.55
1.07, 0.92, 0.90,

0.0, 2.00, 3.00, 4.00, 5.00, 6.00, 8.00,
1.1, 22.2, 33.3, 44,4, 55,6, 66.7, 77.8,
88.9, 94.4,100.0,

= 1.0E9, 2. 2E5, 1. 05ES, 4. 934, 2. 32E4, 1. 1E4, 2. 43E3,
236.2, 70.0, 23.0, 9.3, 4.3, 2.4, 1.55,
1.07, 0.92, 0.90,

6%1. 0,

311,

0.0, 15.8, 20.0, 30.0, 40.0, 50.0, 60.0,

70.0, 80.0, 90.0,100.0,

0.0, 25.0, 60.0,160.0, 320. 0, 570. 0, 950. 0,
1350. 0, 1770. , 2230. , 2560. ,
0.0, 15,8, 20.0, 30.0, 40.0, 50.0, 60. 0
70.0, 80.0, 90.0,100.0,
0.0, 25.0, 60.0,160.0, 320.0,570.0,950.0,
1350. 0, 1770, , 2230., 2560.,
0.0, 15.8, 20.0, 30.0, 40.0, 50.0, 60.0,
70.0, 80.0, 90.0,100.0, '
0.0, 25.0, 60.G, 160.0, 320. 0, 570. 0, 950. 0,

1350. 0, 1770. , 2230. , 2560. ,

3%1. 0,

3%2,

0.0, 10
1000. 0,
0.0, 10
0.0,
0.0

1000. 0,
, 10

ePHeme
coooo

‘—81—
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- 2278L(1,16) = 1000.0, 1.0,
GNTBL(13) = 31,0, . | :
CVMAX(10)  =. 120.40, 110.56, 103,10,

CVMIN(10) = 340,001,
XMAX(10) = 3%100,0,
COEFK2(1) = 1.29851E-03, 1.310356-03, 1.23622€-03,
COEFK2(4) = 1. 29622E-03, 1.30189E-03, 1.20104E-03,
COEFK2(7) = 1. OE+08, 1. OE+08, 1. 0E+08,
COEFK2(10) = 3.28832E5,  3,26303€5,  3.18528ES,
COEFK2(13) = 3%2,678E-3,
- 6T(1) = 3%856, 116, 3%884, 116,
6T(7) = Ok884, 116, :
WINT(1) = 3392, 854, 3%390, 077,
WINT(7) = . 0,0425, 0.0424, 0. 0418,
WINT(10) = 0.7419,  0.7420, 0. 7425,
WINT(13) = 3%3.554, \
PINT(1) = 3%167,8966,  3x164, 48,
PINT(7) = %1, 3895E4,
WINT(3) = 4%1. 0E-4,
PINT(3) = 473.31,
PINT(6) = 0,0120104,
IXCHAR(14) = 2, .
ICVCH1(14) = 1
ICVCH2(14) = 4,
XVNMINC14) = 0.0,
TAUA(14) = 100, 0,
VLATE(14) = 0.0,
AKESME(14) = -1.0,
ITBLXZ(14) = 2,
XzT8L(1,14) = 0.0, 100.0,
ZZTBL(1,14) =1.0E+6, 1. OE-6,
GNTBL(14) = 1.0,
COEFK2(14) = - 1.0,
GT(14) = 884.116,
WINT(14) = 2.0E-4,
PINT(14) = 4,0E-14,
IXCHAR(16) =  4%2,
iCVCH1(16) = 41,
ICVCH2(16)  =3%4, 3,
ICVCH3(19) = 1,
ICVCH4(19) = 1,
XVNMIN(18) = 40,0,
TAUA(16) = 100.0, 33.333, 25.0, 0.0575374,

TAUA(16) = 100.0, 33,333, 25.0, 1.66667,

VLATE(16) = 4%0.0,
AKESME(16) =  -1,0, 3%1.0,
ITBLXZ(16) = 2,
XZTBL(1,16) = 0.0, 100.0,
- ZZTBL(1,16) = . 1,0E+6, 1.0C-6,
GNTBL(16) = 1.0,
COEFK2(16) = 1.0,
ITBLXZ(17) = 2%15, -
X2TBL(1,17) = 0.0, 1.0, 20, 3.0, 8.0, 12.5 18.5, 24.0,
32,0

, 40., 51., 67., 80., 90.0, 100.,

-g2-
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&END

227BL(1,17)=

XZTBL(1,18)
221BL(1, 18)=

GNTBL(17)
ITBLXZ(19)
XZTBL(1, 19)
XZTBL(8, 19)
ZZTBL(1,19)
22TBL(8, 19)
GNTBL(19)
COEFK2(16)
GT(16)
WINT(16)
PINT(16)

WINT(17)

PINT(17)
IXCHAR(20)

- 1CVCH2(20)

XVNMAX(20)
TAUA(20)

AKESME(20)
I TBLXZ(20)

XZTBL(1, 20) .

ZZTBL(1, 20)
XZT8L(1, 21)
2ZT8L(1, 21)
XZTBL(1, 22)
2Z7BL(1,22)
XZTBL(1, 23)
22TBL(1, 23) -
XZTBL(1, 24)
ZZTBL(1, 24)
XZTBL(1, 25)
2ZTBL(1, 25)

&NAMCL1

1oeL( 1) =

NNCL

IMDLOL( 1)
IMDLCL( 6)
IMDLCL( 9)
IMDLCL(18)

IMDLCL(27)

IMDLCL(32)
IMDLCL(37)

10CL( 2)
IocL( 3
IDCL(

IDCL( 6
1DCL( 7
IbcL( 8

)
5)
)
)
)

5. 812E11, 1..0E6, 1. 0E4, 922, 5, 230.6, 102, 5, 57,7, 36.9,
- 25.6, 18.8, 14.4, 11.4, 10.2, 9.5, 9.2,
= 00, 1.0, 20, 3.0, 8.0, 12,5 18,5, mo
32,0, 40., 51., 67., 80., 90.0, 100;,
5. 9899511 1, 0E6 1. OE4 922 5, 230 6,102.5, 57.7,36.9,
25.6, 18.8, 14.4, 11.4, 10.2, 9.6, 9.2,
241, 0, \ ,

= 13, ‘ ‘
= 0.0, 20, 50, 10.0, 20.0, 30.0, 40.0,
= 50,0, 60.0, 70.0, 80.0, 90.0, 100.,
= 00, 4.0 8.0, 150, 34.0, 54.0, 70,0,
= 87.0, 105, 130., 152., 170., 184., \
= 1,0, v '
= 1,0, 2.34526, 2.26963,
= 884, 116 856. 116, 884,116, 870. 41,
= 2 0E-
= 4,0E- 14
= 2%1,0E-4, 2.0E-4, ‘ ‘
= 1.3630137€4, 1,3594967€4, 1.15573175€4,
= B2,
= 6%3,
= 6%1.0, ‘
= 6,6667, 4%100.0, 1.6667,
= 6%1.0,
= 6%2, GNTBL(20)=6%1, 0,
= 0.0, 100.0, :
=0.0, 0.0,
= 0.0, 100.0,
= 0.0, 0.0,
= 0.0, 100.0,
=00, 0.0,
= 0.0, 100.0,
=0.0, 0.0,
= 0.0, 100.0,
=0,0, 0.0,
= 0.0, 100.0,
=0.0, 0.0,
= 38,
= 0, IMDLCL( 2) = 0, IMDLCL( 3) =0,0,1,
= 0, IMDLCL(7) = 0, IMDLCL( 8) = O,
= 3%0, IMDLCL(12) = 3%0, IMDLCL(15) = 34D,
=0,0,0, IMDLCL(21) = 30, [IMDLCL(24) = 34D,
= 0, IMDLCL(28) = 3%0, IMDLCL(31) = 0O,
= 3%0, IMDLCL(35) = 1, |IMDLCL(36) = 0O,
= 0, IMDLCL(38) = 1,
0, INCL( 1) = 1, IOGL( 1)= 3,
10, :
310, ~10CL( 3) = 3%4,
1, ' 1ocL( 5) = 9,
10,
0, IPCL( 7) = 1, INCL( 7) = 1, 100L(7) = 1,
1, IPCL( 8) = -1, INCL( 8) = 4, mm48)= 5,
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I0CL( 9) = 3%0, IPCL( 9) = 3%2, INCL( 9) = 3%2, 10CL( 9) = 343,
IDCL(12) = 3%0, IPCL(12) = 3%1, INCL(12) = 3%1, 10CL(12) = 3%2,
IDCL(15) = 3%0, IPCL(15) = 31, INCL(15) = 3%3, 10CL(15) = 3#5,
IDCL(18) = 3x0, IPCL(18) = 3%1, INCL(18) = 3%5, I10CL(18) = 342,

IDCL(21) = 3%0, IPCL(21) = 3%1, INCL(21) = 3%9, 10CL(21) = 3%3,
IDCL(24) = 3%2, IPCL(24) = 3%2, INCL(24) = 3%2, 10CL(24) = 3%3,
IDCL(27) = 2, IPCL(27) = 1, INCL(27) = 1, 10CL(27) = 5,
IDCL(28) = 3%1, IPCL(28) = 3%1, INCL(28) = 3%1, 10CL(28) = 3%1,
IDCL(31) = 0, IPCL(31) = o, INCL(31) = 5, 10CL(31) = 5,
IDCL(32) = 3%0, IPCL(32) = 3%1, INCL(32) = 3%3, 10CL(32) = 3%,
IDCL(35) = 0, IPCL(35) = 0, INCL(35) = 6, I10CL(35) = 2
IDCL(36) = . 0, IPCL(36) = 0, INCL(36) = 7, 10CL(36) = O,
IDCL(37) = 0, IPCL(37) = 0, INCL(37) = 3, 10CL(37) = O,
IDCL(38) = 10, IPCL(38) = O, INCL(38) = 9, 10CL(38) = 8,
JieL(1, 1) = 3, 4, 4, 4, o ‘
J2L(1, 1) = 1,1, 2 3, \ |
JicL(1, 2) = Lo L1 1, 1 1 1 1, 1,
J2L(n, 2) = 1, 2, 3 4, 5 6 7, 8 9 10,
Jict(1, 3) = 1,1, 1, 1, 1, 1, 1, 1, 1, 1,4444,
Jou(l, 3) = 1, 2,3 4, 5 6 7, 8 9101,234,
\HCL(L 4) = ‘11 ‘1s 11 11 1v 1: 1v 11 11 1v4v41414r
JoL(1, 4) = 1, 2, 3, 4 5 6, 7, 8 9101,234,
JicL(1, ' 8) = 1, 1, 1, 1, 1, 1, 1, 1, 1, 1,4,4,4,4,
J20L(1, 8) = 1, 2, 3, 4 5 6 7 8 9101234,
JicL(1, 5) = 1,4 4 4, 4 4 4 4 4 A4,
J2c(1, 58) = 1,1, 2, 3, 4 5 6 7, 8 9
CoJwieL(n, ) o= 1, 1,1, 1,1, 1, 1,1, 1, 1,
JoeL(y, 8) = 1, 2, 3, °'4 5 6 7 8 9 10,
JicL(1, 7) = 3, 2, 4,
JoL(1, 7)) = 1, 1, 1,
JicL(1, 8) = 4, 1, 3, 4 3, 4 2, 3, 4 4 3
J2oL(1, 8) = 3 1, 3 4 2 1, 1, 1, 2, 5 4
JIcL(1, 9) = 3, 4, 2, 4, 3, 2 4
J2oL(1, 9) = 1, 1, 1, 2, 2 2 3,
JICL(1,10) = 3, 4, 2, 4, 3, 2 4,
J20L(1,10) = 1, 1, 1, 2, 2 2 3,
JICL(1,11) = 3, 4, 2, 4 3, 2 4,
J20L(1,11) = 1, 1, 1, 2, 2 2 3,
JICL(1,12) = 3, 4, 2, 4,
JoL(1,12) = 1, 1, 1, 2
JICL(1,13) = 3, 4, 2 4
J20L(1,13) = 1, 1, 1, 2
JICL(1,14) = 3, 4, 2, 4,
J20L(1,14) = , 1, 1, 2 ‘
J1CL(1,15) = 3. 3; 4; 4' 49_ 49 2v 4, 3!
J20L(1,18) = 1, 3, 1, 2, 3 4 1, 5 2
JICL(1,16) = 3, 3, 4, 4, 4 4 2, 4 3
J2L(1,16) = 1, 3, 1, 2, 3 4 1, 5 2
J1CL(1,17) = 3- 3: 41 4: 4: 4o 2| ‘ 4| 31
JeoL(1,17) = 1, 3, 1, 2, 3, 4, 1, 5 2
JICL(1,18) = 3, ‘4| 3 2 3 3 4 3
J2cL(1,18) = 1, %, 4, 1, 3, 5 2, 2
\”CL“, 19) = 3, 4, 3, 2; 3p 3l 4: 3!
J200L(1,19) = 1, 1, 4, 1, 3, 5 2 2

f‘84*
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J1CL(1, 20)
J2CL(1, 20)
JICL(1, 21)
J2cL(1, 21)
J1cL(1, 22)
J20L(1,22)
J1CL(1, 23)
J2cL(1, 23)
J1CL(1,24)
J20L(1, 24)
J10L(1, 25)
J2CL(1, 25)
J1CL(1, 26)
J2CL(1, 26)
J1CL(1, 27)
J20L(1, 27)
J1CL(1, 28)
J2CL(1, 28)
JicL(1, 29)
J2CL(1, 29)
- J1cL(1, 30)
J20L(1, 30)
J1CL(1,31)
J2CL(1, 31)

J1CL(1, 32)

J20L(1, 32)
J1CL(1, 33)
J20L(1, 33)
J1CL(1, 34)
J2CL(1, 34)
J1CL(1, 35)
J20L(1, 35)
J1CL(1, 36)
J2CL(1, 36)
J10L(1, 37)
J20L(1, 37)
J1CL(1, 38)
J20L(1, 38)
J16L(21,38)
J20L(21, 38)
DTIMCL(1,
DTIMCL(1,
DTIMCL(T,
DTIMCL(1,
DTIMCL(1,
DTIMCL(1,
DTIMCL(T,
DTIMCL(1,
DTIMCL(1,
DTIMCL(1, 1
DTIMCL(1,1
DTIMCL(1,1
- DTIMCL(1,1
DTIMCL(1,1

HBWN—=OWOO N OTE WN —
Nl el N e e e il e NP i e e e e

OB ouwouwououoNoNowowW oW WoHuwuw oG ounuou LTS TN T Y Y | NN N | N [ N ¢ TN | O ¢ SN T T IO} 'II‘ Hou 0 Honn

...b

W W —

-
-

DD OS W
o W=

N —= N2

-
-
-

SN, W WRLWo W W

N A

-
-
-

-
-

o — D=

—‘w—‘_‘—l—b-—ﬂ—l
N W — -
PO SN SN, S SR AR AW WW

-
-
-
-

-
-
-

F e I NI SN AN )

wmw—h.h—-.h—-_.hm.n—-w—-w—-w

-

DW= DWW W—

B W w

W w
O w ww
H O w

~Nw

0 W

SR W= W
w w

, DDELCL(1,
, DDELCL(1,
, DDELCL(1,
, DDELCL(1T,
, DDELCL(1,
, DDELCL(1,
, DDELCL(1,
DDELCL(1,
, DDELCL(1,

' DDELCL(1,10
, DDELCL(1, 11
) DDELCL(1,12
) DDELCL(1,13
) DDELCL(1, 14

-
-
-

-
-
-

-
-
-

SN LWNDNLOND LN W W WO W
SBEOD OO OPOOLOLL WO WO S

;bw

WO WWWWwWwwhsn

U1 w W W
oW NS
T Nw o w

LESNE LI | N (S | N | N | NN (| SN { N | A { S | S}

1)
2)
3)
4)
5)
6)
7)
8)
9)
)
) :
)
)
)

-
-

-
-

O Wo WMo w

-
-

NP, WBWRWAMDO WO WO WHN W
(SR N W WO W

»3,4,5,6,7,8,9,10,

, TMAXCL( 1)
., TMAXCL( 2)
, TMAXCL( 3)
, TMAXCL( 4)
, TMAXCL( 5)
, TMAXCL( 6)
, TMAXCL( 7)
, TMAXCL( 8)
, TMAXCL( 9)
, TMAXCL(10)
, TMAXCL(11)=
, TMAXCL(12)
, TMAXCL(13)
, TMAXCL(14)

unouw o on on.ou owow owouw B0 N W

_L_A.—A_A_A_A._a._n_g._;_a‘_a_a_n

-
- -

DWW wMND W

. OEt5,
. OE+5,
. OEt5,
. OEt5,
. OE+5,
. OE+5,
. OEt5,
. OEt5,
. OE+5,
. OEt5,
. OE+5,
. OE+5,
. OE5,
. OE+5,
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DTIMCL(1,15) =
- DTIMCL(1,16) =
DTIMCL(1,17)
DTIMCL(1, 18)
" DTIMCL(D, 19)
DTIMCL(1, 20)
DTIMCL(1, 21)
DTIMCL(1, 22)
DTIMCL(1, 23)
DTIMCL(1, 24)
DTIMCL(1, 25)
~ DTIMCL(?, 26)
DTIMCL(1, 27)
DTIMCL(1, 28)
DTIMCL(1, 29)

IlllII‘IlIIHIlllllllllllllllllllllllllllllllllllll“llll“ll

1

DTIMCL(1, 30)

DTIMCL(1, 31) 0.
DTIMCL(1,32) = 0.0,
DTIMCL(1, 33) = 0.0,
DTIMCL(1, 34) .0,
DTIMCL(1, 35) = 0.0,
DTIMCL(1, 36) = 0.0,
DTIMCL(1,37) = 0.0,
DTIMCL(1, 38) 0,
(IPSTCL( 1) 0,
IPSTCL( 2) 0,
IPSTCL( 3) 240,

" IPSTCL( 6 0,
IPSTCL( ) | 0,
IPSTCL( 8) 0,
IPSTCL( 9) 3%0,
IPSTCL(12) 340,
IPSTCL(15) = = 3%0,
IPSTCL(18) = 20,

IPSTCL(21) = 3%0,
IPSTCL(24) = 3x0,
IPSTCL(27) = 0,
IPSTCL(28) = 3%0,
IPSTCL(31) = O,
IPSTCL(32) = 3x0,
IPSTCL(35) = 0,0,
IPSTCL(37) = 0,
IPSTCL(38) = 2,
OUTCL(1, 1) = 1.0E10,
0UTCL(1, 2) = 1.0E10
oUTCL(1, 3) = 1.0E10,
outcL(1, 6) = 1.0E10
ouTeL(1, 9) = 1.0E10,
ouTeL(1,12) = 1.0E10,
0UTCL(1,15) = 1.0E10,

- 0UTCL(1,18) = 1.0E10,
0uTCL(1,21) = 1.0E10
0UTCL(1,24) = 1.0E10,
ouTeL(1, 27) = 1. 0E10,

DDELCL(1,15) = 0.02,
- DDELCL(1,16) = 0, 02,
DDELCL(1,17) = 0,02,

DDELCL(1,18) = 0. 05
DDELCL(1,19) = 0.0
DDELCL(1,20) = 0.0
ODELCL(1,21) = 0, 1.
DDELCL(1,22) = 0.1,
DDELCL(1,23) = 0.1,
DDELCL(1,24) = 0,1,
'DDELCL(1,25) = 0.1,
DDELCL(1,26) = 0.1, .
DDELCL(1,27) = 0.1,
" DDELCL(1,28) = 0.1,
DDELCL(1,29) = 0.1,
DDELCL(1,30) = 0.1,
DDELCL(1,31) = 0.02,
DDELCL(1,32) = 0.02,
DDELCL(1,33) = 0,02,
DDELCL(1, 34) = 0.02,
~ DDELCL(1,35) = 0,02,
DDELCL(1, 36) = 0.02,
DDELCL(1,37) = 0.02,
DDELCL(1, 38) = 0.01,
IPTRCL( 1) = O,
IPTROL( 2) = O,
IPTRCL( 3) = 2x0,
IPTRCL( 6) = 0,
IPTRCL( 7) = 0,
IPTRCL( 8) = 0,
IPTRCL( 9) = 3x0,
IPTRCL(12). = 3%0,
IPTRCL(15) = 3%0,
IPTRCL(18) = 2x0,
IPTRCL(21) 3%0,
IPTRCL(24) = 3x0,
IPTRCL(27) = O,
IPTRCL(28) = 3%0,
IPTRCL(31) = 0,
IPTRCL(32) = 3x0,
IPTRCL(35) = 0,0,
IPTRCL(37) = O,
IPTRCL(38) = 2,
ouTeL(1, 4) = 1, 0E10,
ouTeL(1, 7) = 1.0E10,
UTCL(1, 10) = 1. 0E10,
ouTcL(1,13) = 1.0€10,
0UTCL(1,16) = 1. 0E10,
ouTecL(1,19) = 1,0E10,
0UTCL(1,22) = 1. 0510‘
QUTCL(1, 25) = 1. 0E10,

~ 86—

TMAXCL(15)= 1, OE+5,
TMAXCL(16)= 1, 0E+5,
TMAXCL(17)= 1. OE+5,

TMAXCL(18)= 1,0E+5,
‘TMAXCL(19)= 1. 0E+5,
, TMAXCL(20)= 1, 0E45,
TMAXCL(21)= 1. QE+5,
TMAXCL(22)= 1, OE+5,
TMAXCL(23)= 1. 0E+5,
TMAXCL(24)= 1. 0E+5,
TMAXCL(25)= 1. QE+5,
TMAXCL(26)= 1. OE+5,
TMAXCL(27)= 1. 0E+5,
TMAXCL(28)= 1. OE+5,
TMAXCL(29)= 1. 0E+5,
THAXCL(30)= 1. 0E+5,
TMAXCL(31)= 1. OE+5,
TMAXCL(32)= 1. 0E+5,
TMAXCL(33)= 1. 0Et5,
TMAXCL(34)= 1.0E+5,
TMAXCL(35)= 21086.0,
TMAXCL(36)= 1. 0E+5,
TMAXCL(37)= 1. OE+5,
TMAXCL(38)= 1. 0E+5,
0,

0,

0uTCL(1, 5) = 1.0E10, .
ouTeL(1, 8) = 1.0E10,
ouTcL(1,11) = 1.0E10,
0uTeL(1, 14) = 1.0E10,
0UTCL(1,17) = 1.0E10,
ouTeL(1,20) = 1.0E10,
0uTCL(1,23) = 1.0E10,
0UTCL(1,26) = 1. 0E10,
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0UTCL(1 28) =1, 0510 0UTeL(1,29) = 1,0E10, OUTCL’1,30) = 1. 0E10,
0UTCL(1, 20) = 1.0E10,
0UTCL(1,32) = 1.0E10, OUTCL(1, 33) = 1,0E10, OUTCL(1,34) = 1,0E10,

- outeL(1,35) = 1.0E10, OUTCL(1,36) = 1.0E10, OUTCL(1,37) = 1.0E10,
ouTcL(1,38) = 0.02, 1.0, 1.0E10,
IINTO(2.1,5) = 1,  CNT00(2,1,5) =  2.49,
IINTO(2,2,5) = 1,  CNT00(2,2,5) = 0.0, -
INTO(2,3,5) = 1, CNT00(2,3,5) = 0.0,
1INTO0(2,4,5) = 1, CNT00(2,4,5) = 1,16,
IINTO(1,1,35)= 1, CNT00(1,1,35)= -1.0,
IINTO(1, 1, 38)= 1, CNT00(1,1,38)=  -7.154,
IINTO(T1,3,38)= 1,  CNTOO(1,3,38)= 1176.575,
[INTO(1,4,38)= 1, CNT00(1,4,38)=  7032.133,
IINTO(1,5,38)= 1, CNT00(1,5,38)= 6079, 267,
IINTO(1,8,38)= 1, CNT00(1,6,38)= 12687. 15168,
1INTO(1,7,38)= 1, CNT00(1,7,38)=  -11,875,
IINTO(1,8,38)= 1, CNT00(1,8,38)=  -0.839698,
IINTD( 1,38) = 1, CNTDO( 1,38) = -10505. 136,
[INTD( 2,38) = 1, CNTDO( 2,38) =  3133. 480,
[INTD( 3,38) = 1,  CNTDO( 3,38) = -3133.480,
IINTD( 4,38) = 1, CNTDO( 4,38) = 6422.184,
IINTD( 5,38) = 1, CNTDO( 5,38) = 5920, 031,
[INTD( 6,38) = 1, CNTDO( 6,38) = -68.04799,
I INTD( 7 38) = 1, CNTDO( 7,38) = -9119, 348,
INTD( 8,38) = 1, CNTDO( 8,38) = 15885, 534,
LINTD( 9,38) = 1, CNTDO( 9,38) = 10139, 4416,

, [INTD(10,38) = 1, CNTDO(10, 38) = -742, 83297,
&END |
&NAMCL2 , ‘

LeLin(1, 5) = 2
MCLID(1, 5) = 4,

~ NCLID(1, B) = 4,
LeLon(1, 5) = 1,
MCLOD(1, 5) =730,
VALCLD(1, 1,5)= 3.0, 0.0, 0.0, 100.0, 0.0,
LeL10(1,1,5) = 1, 1, MCL10(1,1,5) = 445, 1131,
LeL1o(1,2,5) = 1, 1, MCL10(1,2,5) = 448, 1132,
LeL1o(1,3,5) = 1, 1, MCL10(1,3,5) = 454, 1133,
LCL10(1,4,5) = 1, 1, MCLI0(1, 4,5) = 460, 1130,
LCLI0(1,5,5) = 1, MCL10(1,5,5) = 387
LCLI0(1,6,5) = 1, MCL10(1,6,5) = 389
LeL1o¢1,7,5) = 1, MCL10(1,7,5) = 391,
LeLro(1,8,5) = 1, MCL10(1,8,5) = 393,
LCL10(1,9,5) = 1, MCL10(1,9,5) = 395,
LCLOO(1, 5) = 91,
MCLOO(1, 5) = 731,732,733, 734, 735, 736, 737, 738, 739,
JSELO(1, 5) = 9%1,
VALCLO(1,1, 5) = 1.0,-1.0, 7%0.0, 1.0,
VALCLO(1,2, 5) = 1.0,-1.0, 7%0.0, 1.0,
'VALCLO(1,3, 5) = 1.0,-1,0, 7%0.0, 1.0,

- VALCLO(1,4, 5) = 1.0,-1.0, 7%0.0, 1.0,
VALCLO(1,5, 5) = 1.0, 0.0, 7+0.0, 1.0,
VALCLO(1,6, 5) = 1.0, 0.0, 7%0.0, 1.0,
VALCLO(1,7, 5) = 1.0, 0.0, 7%0.0, 1.0,
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©VALGLO(1,8, 5) = 1.0, 0.0, 740.0, 1.0,

VALCLO(1,9, 5) = 1,0, 0.0, 7%0.0, 1.0,
LCLIP(1,20) = 1, MCLIP(1,20)  =1053,
LCLOP(1,20) = 1, MCLOP(1,20) =1054,
LCLIN(1,20) = 5k, MCLIN(1,20) = 828,1057, 834, 2*828
LCLON(1,20) = 1, 5,3%1, MCLON(1,20) =1051,1,1056, 1058, 1055,

S ~NCLON(2,20) . = 0,

LeLio(1,1,20)= 2, - 1, 1, LoLIO(1,2,20)= 1, 5, 1, 1,
MCLI0(1,1,20)=16, 1051, 1052, MCLI0(1,2,20)=1054, 2, 1055, 1056,
NCL10(1,1,20)= 4, NCL10(2, 2, 20)= 9,
LCLOO(1,20) = 1, 1, MCL00(1,20) =1053,1057,
JSELO(1,20) = 2«1, |
NSWP(1,20) = 4, ‘ .
VALCLP(1,1,20)=. 0.2, 7.8, 100.0,-100.0, 0.0, 0.0, 100.0, '
VALCLP(8,1,20)= -100.0, 1.0, 0.0,
VALCLN(1,1,20)= 1.0, 1.0, 0.0, 0.0,
VALCLN(1,2,20)= 1.0, 1.0, 0.0, 0.0,
VALCLN(1,3,20)= 1.0, 1.0, 0.0, 0.0,
VALCLN(1,4,20)= 1.0, 1.0, 0.0, 0.0,
VALCLN(1,5,20)= 1.0, 1.0, 0.0, 0.0, =
IVLA(1,20) = 4, 6, 4, . 4, 4,
XVLA(1,1,20) = -1.0, 0.4, 0.5, 20,
XVLA(1,2,20) =-1.0Et5, -0.2, -0.1, 0.1, 0.2, 1.0E+5,
XVLA(1,3,20) = -1.0, 0.4, = 0.5, 2.0,
XVLA(1,4,20) = -1.0, 0.4, 0.5, 2.0,
YVLA(1,5,20) =0.100393,0. 100393, 0.0, - 0.0,
YVLA(1,1,20) = 0.7843, 0.7843, 65,278, 65,278,
YVLA(1,2,20) = -1.0, -1.0, 0.0, 0.0, 1.0, 1.0,
YVLA(1,3,20) = 0.60923E-02, 0.60923E-02, -1.0E+30, -1.0E+30,
YVLA(1,4,20) = 0.0, 0.0, 1.0, 1.0,
XVLA(1,5,20) = -1.0, 0.4, 0.5, 2.0,
IVLB(1,20) = 4, 6, 4, 4, 4,
XVLB(1,1,20) = -1.0, - 0.4, 0.5, 2.0,
XVLB(1,2,20) =-1.0E45, -0.2, -0.10, 0.1, 0.2, 1.0E+5,
XVLB(1,3,20) = ~-1.0, 0.4, 0.5, 2.0,
YVLB(1,1,20) = 0.7843, 0.7843,65.278, 65,278,
YVLB(1,2,20) = -1.0, -1.0, 0.0, .0.0, 1.0, 1.0,
YVLB(1, 3,20) = 0.60923€-02, 0.60923€-02, -1.0E+30, -1.0E+30,
XVLB(1,4,20) = -1.0, 0.4, 0.5, 2.0,
YVLB(1,4,20) = 0.0, 0.0, 1.0, 10,

© XvLB(1,5,20) = -1.0, 0.4, 0.5, 2.0,
YVLB(1,5,20) =0.100393,0.100393, 0.0, 0.0,
VALCLO(1,1,20) = -1,0286, +1.0286, +1.0, 6%0.0, 1.0,
VALCLO(1,2,20) = 1.0, -1.0, 1.0, . 1.0, 5%0.0, 1.0,
LOLIN(1,35) = 1, 1, 1, 5 1,
MCLIN(1,35) =1229, 821,1230, 2,1237,
NCLIN(4,35) = 3, ‘
LCLON(1,35) = 1, 1, 1, 1, 5
MCLON(1,35) =1232,1234,1235,1236, 1,
NCLON(5,35) = 3,
VALCLN(1,1,35)= 1.0, 1.0, 0.0, 0.0,
VALCLN(1,2,35)= 1.0, 1.0, 0.0, 0.0,
VALCLN(1,3,35)= 1.0, 1.0, 0.0, 0.0,
VALCLN(1, 4,35)= 1.0, 1.0, 0.0, 0.0,
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VALCLN(1, 5, 35)=
NSWN(4, 35)
IVLA(1, 35)

YVLB(1,
LeLioQ1, 1
LCL10(1, 2,
LCL00(1, 35

~—

LCLOO(1, 35)
LCLO0(2, 35)
JSELO(1, 35)
VALCLO(1, 1,
VALCLO(1, 2,
LCLIN(1,38)
MCLIN(1,38)
LCLON(1, 38)
~ MCLON(1, 38)
VALCLN(1,1, 38)=
~ VALCLN(1, 2, 38)=
VALCLN(1, 3,38)=
VALCLN(1, 4, 38)=
VALCLN(1, 5, 38)=
VALCLN(1, 6, 38
VALCLN(1, 7, 38
VALCLN(1, 8, 38
VALCLN(1, 9, 38
NSWN(6, 38)
NSWN(8, 38)
IVLA(1, 38)
XVLA(1, 1, 38)
YVLA(1,1, 38)
XVLA(1,2,38)

VV w o n

35
35

— e e

1.0, 1.0, 0.0, 0.0,
2,
= 34, 3, 6, .
0.0, 0.4, 0.5 1.0,
0.0, 0.0, 2.0, 2.0,
0.0, 0.4, 0.5, 1.0,
0.0, 0.0, 1.0, 1.0,
0.0, 0.4, 0.5 1.0,
0.0, 0.0, 5,59, 5,59,
-200.0, 0.0, 200.0,
-200.0, 0.0,  200,0,
-100.0, -0.001,-.0009, .0009, 0.001, 100.0,
-1.0 , -1.0, .0, .0, 1.0, - 1.0,
3%4, 3, 6, «
0.0, 0.4, 0.5 1.0,
0.0, 0.0, 2.0, 2.0,
0.0, 0.4, 0.5, 1.0,
0.0, 0.0, 1.0, 1.0,
0.0, 0.4, 0.5 1.0,
0.0, 0.0, 5.59, 5.59,
-200.0, 0.0, 200.0,
© -200.0, 0.0, 200.0, |
-100.0, -0.02,-0.01, 0.01, 0.02, 100.0,

- -1.0, -1.0, 0.0, 0.0, 1.0, .0,
-100.0, -0.001,-.0009, .0009, 0.001, 100.0,
-.0 , -1.0, .0, .0, 1.0, 1.0,

241, MCL10(1, 1, 35) =1233, 1232,
2%1, MCL10(1, 2, 35) =12386, 1235,
5, MCLO0(1,35) = 1,
NCL00(1,35) = 8,
1, MCL00(1, 35)  =1299,
1, MCL0O(2, 35) =1237,
2x1,
= 1.0, 1.0, 7%0.0, 1.0,
= 1.0, -1.0, 7%0.0, 1.0, \
| P PR M P T T A e
738, 735, 735, 735, 21, 62, 21, 736, 738,
, 1, 1, 1, 1, 1, 1, 1, 1,
503, 504, 505, 506, 60, 63, 64, 65, 686,
1.0, 884.643, 0.0, 0.0,
1.0, -870. 411, 0.0, 0.0,
1.0, 856.116, 0.0, 0.0,
1.0, 856.116, 0.0, 0.0,
1.0, 1.0, 0.0, 0.0,
1.0, 1.0, 0.0, 0.0,
1.0, 1.0, 0.0, 0.0,
1.0,-1.0, 0.0, 0.0,
1.0, 1.0, 0.0, 0.0,
5,
7,
3, 5 4 3 4 2, 4, 2 4
0.0, 6.49, 10.0,
0.0, 6.49, 6. 496,
0.0, 0.5398, 0.5399, 3.1167, 10.0,
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YVLA(1,2,38) = 0.0, 0.5398, 3.1167, 3 1167, 3.1167,
XVLA(1,3,38) =. 0.0, 0.507, 2.0968, 2.5. o

0

- YWLA(1,3,38)'= 0.0, 0.0, 1. 5898, 1.5..8,

. XVLA(1,4,38) = 0.0, 0.507, 2.5,

. 'YVLA(1,4,38) = 0.0, 0.507, 0.507,
XVLA(1,5,38) = 0.0, 0.4, 0.5 1.0,
4YVLA(1,5,38) = 1,0,. 1.0, 0.0, 0.0,
XVLA(1,6,38) = -10,0, 10.0,
YVLA(1,6,38) = ~10.0, 10.0, R
XVLA(1,7,38) = 0.0, 0.4, 0.5 1.0,
YVLA(1,7,38) = 0.0, 0.0, 1.0, 1.0,

- XVLA(1,8,38) = -10,0, 10.0,
YVLA(1,8,38) = -10.0, 10.0,

~ XVLA(1,9,38) = 0.0, 6.226, 6.496, 10.0,

- YVLA(1,9,38) = 0.27, 0.27, 0.0, 0.0,
IVLB(1,38) =3, 5 4, 3 4, 2 4 2 4
XVLB(1,1,38) = 0. 0, 6.4959, 10.0,

YVLB(1,1,38) = 0.0, 6.4959, 6.4959, |

 XVLB(1,2,38) = 0.0, 0.5398, 0.5399, 3.1167, 10.0,
YVLB(1,2,38) = 0.0, 0.5398, 3.1167, 3.1167, 3.1167,
YVLB(1,2,38) = 0.0, 3.1167, 3.1167, . |
XVLB(1,3,38) = 0.0, 0.507, 2.0968, 2 5,
YVLB(1,3,38) = 0.0, 0.0, 1.5898, 1. 5898,

XVLB(1, 4.38) = 0,0, 0,507, 2.5,

YVLB(1,4,38) = 0.0, 0.507, 0.507,

XvLB(1,538) = 0.0, 0.4, 0.5 1.0,

YVLB(1,5,38) = 1.0, 1.0, 0.0, 0.0,

XVLB(1,6,38) = -10.0, 10.0,

YVLB(1,6,38) = -10.0, 10.0,

XVLB(1,7,38) = 0.0, 0.4, 0.5 1.0,

yvLB(1,7,38) = 0.0, 0.0, 1.0, 1.0,

XVLB(1,8,38) = -10.0, 10.0,

YVLB(1,8,38) = -10.0, 10.0, \

XVLB(1,9,38) = 0.0, 6.226, 6.496, 10.0,

YVLB(1,9,38) = 0.27, 0.27, 0.0, 0.0,

LCLID(1,38) = 1041, | |
MCLID(1,38) = 50, 51, 52, 53, 54, 55, 56, 57, 58, 59,
LCLOD(1,38) = 1041, |

MCLOD(1,38) = 502,508, 509, 510, 511,512, 513, 516, 517, 523,
VALCLD(1, 1,38)= 0.0, 0.0, 0.0, 100.0, 0.0,
VALCLD(1, 2,38)= 0.0, 0.0, 0.0, 100.0, 0.0,

VALCLD(1, 3,38)= 0.0, 0.0, 0.0, 100.0, 0.0,
VALCLD(1, 4,38)= 0.0, 0.0, 0.0, 100.0, 0.0,
VALCLD(1, -5, 38)= 0.0, 0.0, 0.0, 100.0, 0.0,
VALCLD(1, 6,38)= 0.0, 0.0, 0.0, 100.0, 0.0,
VALCLD(1, 7,38)= 0.0, 0.0, 0.0, 100.0, 0.0,

VALCLD(1, 8,38)= 0.0, 0.0, 0.0, 100.0, 0.0,

~ VALCLD(1, 9,38)= 0.0, 0.0, 0.0, 100.0, 0.0,

VALCLD(1, 10, 38)= 0.0, 0.0, 0.0, 100.0, 0.0,
L0LI10(1,1,38)= 1, 1, MCLIO(1,1,38)= 61, 732,
LeL10(1,2,38)= 1, 1, MCL10(1,2,38)= 65, 63,
LeL19(1,3,38)= 1, | MCLIO(1,3;38)= 70,
LCL10(1,4,38)= 1, MCLI0(1, 4,38)= 71,

)= 1, MCL10(1, 5, 38)= 72,

-~ LELI0(1, 5,38

—'90_“
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LeL10(1,6
LeL10(1,7
LeL10(

- LeLoo(
MCLOO(1,
JSELO(1,
VALCLO(1,

~ VALCLO(
VALCLO(1,

1
1
1
VALCLO(1,
1
1
1
1

1

1,
1,8
1,3
3
3

VALCLO(1,
VALCLO(
VALCLO(
VALCLO(

’

&END
&NAMLG1
© IMDLLG
~ 1OP1LG(1)
10P2LG(1)
DTIMLG(1)
DDELLG(1)
TMAXLG
IPSTLG
0UTLG(1)
&END
&NAMLG2
IBLKD(
LLGID( 1,
LLGID( 1,
LLGIDn( 1,
LLGID( 1
LLG!ID( 1
(1

LLGID

1

LLGID( 1,
LLGOD(
MLGOD(
MLGOD(
NLGOD(
VALLGD(1,
VALLGD(1,
VALLGD(1,
VALLGD(1,
VALLGD(1,
VALLGD(1,
VALLGD(1,
TDLLGD(
NUMLGA(1)

LLGIA(T, 1)
LLGOA(1)

. LLGIA(1,2)
LLGOA(2)

LLGIA(T,3) .

LLGOA(3)

8
8
8

1,
' 2,

3,
4,
5
!61
7,
8,

SO U BWR — U U1 — —
vvvvvvvvvvvv

2
38)
38)
38):
)

)

)
38

38
38
38
38
38
38
38

\l
~
| L (T | N { I | B (R |

LU N | S | S | SN | SN | S | SO T TR T R T R 1}

]

1
1
1,

81,

= 8k1,

)
)
)
).
)
) =
)
)

7%0,

’

1
1
1
1
1
3,

1,

' ‘1v

0 7*0 0,

y» 0.0, 7%0.0,
84 643, 7%0. 0,

1, NDLG =
7%0,

5%0, 2%,
0.0,
0.01,

1. 0E+10,
0, IPTRLG =
1. 0E+10,

4%0, 1,

0.01,

MLGID(1, 1)=
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R EAEKRRT -4

RC-1 FE/HUS & 5 RN EKART —
RC-2 RIS & 2 IR B INEAKBIRT — 5




RC-1 FE/HIC L I RRBAEKART -2 (1/4)
ExpNo. | ENEt |E2iE| Kin | WERK | SFMHEE| LES | SRR AHHRE| 7% | Rel |7 VAE| > —2ANE| BE |FEHEEX
(kg/em2)| (g/s) | (C) (m2) (m) [(kg/m3)| (m2/s) (m3/s) | (m/s) () (m) (m) (kg/m2) ¢

IHI-2-1-0.5 0.57 31.35| 70.6|4.52E-06 8.00E-04{ 97741} 4.18E-07| 3.21E-05| 7.090} 13,561] 4.00E-03] 3.20E-03] 2,504.7| 2.2757
IHI-2-2-1.0 1.16 45.25| 70.714.52E-06] 8.00E-04| 977.38] 4.18E-07|4.63E-05|10.234} 19,589] 4.00E-03] 3.20E-03| 5.218.7| 22228
[HI-2-3-1.5 1.51 53.19] 70.7} 4.52E-06{ 8.00E-04| 977.38{ 4.18E-07| 5.44E-05 12.030 23,0281 4.00E-03| 3.20E-03] 7.2116{ 20939
IHI-2-4-2.0 2.08] 6250 70.7|4.52E-06|8.00E-04] 977.38 4.18E-07] 6.39E-05] 14.135] 27,058] 4.00E-03] 3.20E-03] 9,956.5{ 2.0891
IHI-2-5-2.0 2.07 62.50f 70.3| 4.52E-06| 8.00E-04| 977.58] 4.20E-07| 6.39E-05] 14.132]| 26,916/ 4.00E-03} 3.20E-03] 99544| 20795
IHI-2-6-2.5 2.56 70.42} 70.2} 4.52E-06] 8.00E-04| 977.64] 4.21E-07{7.20E-05| 15.923} 30,283] 4.00E-03] 3.20E-03}12,637.2] 2.0258
IHI-2-7-3.0 3.02 75.19] 70.6] 4.52E-06] 8.00E-04| 977.44] 4.19E-07| 7.69E-05| 17.004] 32,502 4.00E-03| 3.20E-03}14,408.4] 2.0960
IHI-2-8-3.5 3.50 79.37] 70.4| 4.52E-06] 8.00E-04| 977.53] 4.19E-07|8.12E-05| 17.947| 34,231} 4.00E-03} 3.20E-03]|16,052.4| 2.1804
1HI-2-9-4.0 3.99 84.031 70.9]4.52E-06] 8.00E-04| 977.24| 4.16E-07|8.60E-05] 19.008]| 36,517{ 4.00E-03| 3.20E-03}18,001.8{ 2.2164
[HI-3-1-0.5 0.59 33.111 70.5{4.52E-06] 8.00E-04{ 977.50] 4.19E-07{3.39E-05{ 7.487} 14,290 4.00E-03| 3.20E-03| 2.793.2| 21123
IHI-3-2-1.0 1.10 4459 70.5|4.52E-06] 8.00E-04| 977.50| 4.19E-07|4.56E-05{ 10.083}| 19,246{ 4.00E-03] 3.20E-03] 5.067.0| 2.1709
IHI-3-3-1.5 1.51 52.44 70.41 4.52E-06| 8.00E-04| 977.53| 4.19E-07|5.36E-05} 11.859{ 22,619| 4.00E-03| 3.20E-03{ 7.008.8| 2.1545
IHI-3-4-2.0 2.02 60.40y 70.814.52E-06]| 8.00E-04| 977.32] 4.17E-07| 6.18E-05| 13.661] 26,188} 4.00E-03| 3.20E-03{ 9,299.2{ 2.1722
IHI-3-5-2.5 2.50 67.88] 70.2{4.52E-06] 8.00E-04| 977.64] 4.21E-07|6.94E-05]| 15.347| 29,188] 4.00E-03] 3.20E-03}11,740.3} 2.1294
IHI-3-6-3.0 3.02 74.77 70.0{4.52E-06]| 8.00E-04| 977.76] 4.22E-07{ 7.65E-05| 16.904| 32,056] 4.00E-03] 3.20E-03]14.,244.1} 2.1202
IHI-3-7-3.5 3.49 78.89] 70.6| 4.52E-06{ 8.00E-04{ 977.41] 4.18E-07|8.07E-05|17.842}| 34,128 4.00E-03| 3.20E-03}{15.8629{ 2.2001
IHI-3-8-4.0 3.96 83.14} 70.1{4.52E-06| 8.00E-04| 977.70| 4.21E-07| 8.50E-05} 18.797} 35,698] 4.00E-03| 3.20E-03{17.612.8] 2.2484
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FRC-1 T2 /HUC LD BRBRATEKRBRT—4 (2/4)

¢V1-96 OTV6NL ONd

ExpNo. | EJJEr |HEWRE| KB | WEHK |SEEE| LEE |SHERE| tRaE| dE | el |vorvig| -5zl o [EEEen]
(kg/em2)| (g/s) | (C) |  (m2) (m) |(kg/m3)| (m2/s) | (m3/s) | (m/s) | () (m) (m) (kg/m2) ()

IHI-4-1-0.5 0.50 30.11 70.4| 4.52E-06| 8.00E-04| 977.53] 4.19E-07 3.08E-05| 6.810 12,989] 4.00E-03] 3.20E-03] 2,311.2] 2.1634
IHI-4-2-1.0 1.01} ‘42.24 -70.3| 4.52E-06| 8.00E-04| 977.58] 4.20E-07|4.32E-05| 9.550| 18,189 4.00E-03{ 3.20E-03 45458 2.2219
IHI-4-3-1.5 7 1.50 62.14{ 70.3| 4.52E-06| 8.00E-04| 977.61] 4.20E-07}5.33E-05} 11.788 22,436} 4.00E-03| 3.20E-03] 6,926.4] 2.1656
IHI-4-4-2.0 7 1.97 59.92{ 70.4|4.52E-06| 8.00E-04{ 977.53] 4.19E-07]6.13E-05| 13.549| 25,842 4.00E-03| 3.20E-03 9,148.6} 21533
IHI-4-5-2.5 2.48 68.11 70.0{ 4.52E-06| 8.00E-04| 977.76| 4.22E-07{6.97E-05{ 15.397 29,199] 4.00E-03| 3.20E-03111,8186] 2.0984
IHI-4-6-3.0 3.01 7341 70.41 4.52E-06] 8.00E-04| 977.56 4.20E-07| 7.51E-05} 16.600} 31,639 4.00E-03| 3.20E-03 13,734.11 2.1916
IHI-4-7-3.5 - 3.49 79.33] 70.4}4.52E-06} 8.00E-04 977.56] 4.20E-07|8.12E-05 17.939] 34,191} 4.00E-03 3.20E-03| 16,039.1| 2.1759
1HI-4-8-4.0 4.03 83.07] 70.3] 4.52E-06| 8.00E-04| 977.61| 4.20E-07| 8.50E-05] 18.784| 35,750 4.00E-03| 3.20E-03 17,586.4] 2.2915
1HI-6-1-0.2 0.22 19.46| 71.4|4.52E-06{ 8.00E-04| 976.97| 4.14E-07{1.99E-05{ 4.403| 8513| 4.00E-03| 3.20E-03 965.5| 2.2786
IHI-6-2-0.5 0.55 32.11 71.31 4.52E-06] 8.00E-04| 977.03] 4.14E-07| 3.29E-05| 7.266| 14,029 4.00E-03] 3.20E-03] 2,629.6] 2.0916
IHI-6-4-1.5 1.57 54.94] 70.5]|4.52E-06| 8.00E-04| 977.47| 4.19E-07|5.62E-05]| 12.424 23,732} 4.00E-03] 3.20E-03| 76929} 2.0408
IHI-6-5-2.0 2.05 64.38] 71.2| 4.52E-06] 8.00E-04| 977.09| 4.15E-07|6.59E-05| 14.564| 28,080 4.00E-03| 3.20E-03|10.566.0} -1.9402
IHI-6-6-2.5 2.47 68.68] 70.6|4.52E-06| 8.00E-04| 977.44] 4.19E-07| 7.03E-05{ 15.531 29,687 4.00E-03| - 3.20E-03|12,020.6f 2.0548
IHI-6-7-3.0 3.04 76.94] 71.0]4.52E-06 8;00E'04 977.21] 4.16E-07{7.87E-05{ 17.404} 33,460 4.00E-03 3.20E-03{ 15,091.1f 2.0144
IHI-6-8-3.5 3.52 80.19 70.7{ 4.52E-06| 8.00E-04] 977.38| 4.18E-07} 8.20E-05] 18.137| 34,717 ‘4.00E-03 3.20E-03] 16,391.11 "2.1475
IHI-6-9-4.0 4.00 86.66] 70.9|4.52E-06| 8.00E-04 977.24] 4.16E-07| 8.87E-05] 19.601 37,657 4.00E-O3 3.20E-03] 19,142.6{ - 2.0896
[HI-6-10-4.5 4.50f 89.23 70.6} 4.52E-06| 8.00E-04] 977.44] 4.19E-07|9.13E-05} 20.179 38,5671 4.00E-03] 3.20E-03 20.291.9 2.2176
IHI-6-12-5.0 9.15| - 93.08] 71.0|4.52E-06{8.00E-04| 977.21| 4.16E-07|9.53E-05| 21.055 40,479] 4.00E-03] 3.20E-03}22,086.5] 23317




RC-1 WZHIC & D RBEREARABRT — % (3/4)

ExpNo. | EAE |HEWE| AR | WEK | SMHEE| KES |G| AR BE | Rell |7 VAR| P —24E| BFE |EEEX
(kg/cm2)| (g/s) (T) (m2) (m) |(kg/m3)| (m2/s) (m3/s) | (m/s) ¢ (m) (m) (kg/m2) 8]

IHI-7-1-0.2 0.24 20511 71.2]4.52E-06] 8.00E-04| 977.06| 4.15E-07| 2.10E-05| 4.641| 8,954| 4.00E-03} 3.20E-03] 1,072.8f 2.2372
IHI-7-2-0.5 0.61 33.05] 71.1}4.52E-06| 8.00E-04] 977.15{ 4.16E-07| 3.38E-05| 7.477 14.396 4.00E-03| 3.20E-03] 2,785.2 2-1901
IHI-7-4-1.5 1.57 55.55] 71.0;{4.52E-06) 8.00E-04} 977.21} 4.16E-07| 5.68E-05] 12.566] 24,158 4.00E'03 3.20E-03 ‘7.866.5 1.9958
IHI-7-5-2.0 2.08]  63.39| 71.1|4.52E-06]|8.00E-04| 977.15] 4.16E-07] 6.49E-05} 14.341]| 27,610 4.00E-03] 3.20E-03]10,245.3 2.0302
IHI-7-6-2.5 254 70.29] 71.0}4.52E-06| 8.00E-04| 977.21] 4.16E-07| 7.19E-05] 15.901 30.570 4.00E-03] 3.20E-03 12.596.7 2.0164
HI-7-7-3.0 2.99] 7568 70.6|4.52E-06| 8.00E-04{ 977.41| 4.18E-07| 7.74E-05 17.117) 32,741} 4.00E-03] 3.20E-03 14,599.7] 2.0480
IHI-7-8-3.5 3.44 80.68| 71.2| 4.52E-06| 8.00E-04] 977.09| 4.15E-07|8.26E-05} 18.253| 35,193 4.00E-03] 3.20E-03}16,597.2| 20726
|IHI-7-9-4.0 4.10 85.80f 70.4|4.52E-06( 8.00E-04| 977.56| 4.20E-07|8.78E-05] 19.401| 36,977| 4.00E-03| 3.20E-03|18,758.9] 2.1856}
IHI-7-10-4.5 447 85.28| 70.6|4.52E-06{ 8.00E-04| 977.41} 4.18E-07| 8.73E-05| 19.287} 36,893 7 4 00E-03] 3.20E-03}18,536.7f 24114
IHI-7-12-5.0 5.11 95.33| 70.8| 4.52E-06| 8.00E-04| 977.32| 4.17E-07{ 9.75E-05] 21.561 41,332] 4.00E-03] 3.20E-03|23,1635] 2.2061}-
IHI-8-1-0.2 0.25 20.92] 71.41452E-06|8.00E-04} 976.94] 4.13E-07} 2.14E-05| 4.732} 9,157} 4.00E-03{ 3.20E-03 1,1154{ 2.2413
IHI-8-2-0.5 -0.54 31.08} 71.1|4.52E-06| 8.00E-04} 977.15f 4.16E-07|3.18E-05] 7.031}13,537] 4.00E-03 3.20E-03| 2,462.8] 2.1926
IHI-8-3-1.0 1.04 43.66{ 70.9{4.52E-06| 8.00E-04| 977.24| 4.16E-07|4.47E-05| 9.876} 18,973 4.00E-03} 3.20E-03{ 4,859.5] 2.1401
IHI-8-4-1.5 1.51 53.73] 70.6]4.52E-06] 8.00E-04| 977.41 4.18E-07| 5.50E-05] 12.152| 23,245f 4.00E-03| 3.20E-03} 7,358.8] 2.0520
[HI-8-5-2.0 2.03 63.02] 70.3]|4.52E-06{ 8.00E-04{ 977.61| 4.20E-07|6.45E-05| 14.249{ 27,119f 4.00E-03}] 3.20E-03§10,120.0f 2.0059
IHI-8-6-2.5 2.62 7093} 70.9]|4.52E-06{ 8.00E-04| 977.26{ 4.17E-07| 7.26E-05| 16.044] 30,800 | 4.00E-03] 3.20E-03|12,824.8{ 2.0429
IHI-8-7-3.0 3.07 75.61} 70.6|4.52E-06} 8.00E-04| 977.44] 4.19E-07| 7.74E-05]| 17.099] 32,684 4.00E-03]} 3.20E-03]|14,570.2] 2.1070
IHI-8-8-3.5 3.563| ~80.40] 70.5{4.52E-06]8.00E-04] 977.50{ 4.19E-07 8.23E'05 178.182 34,704] 4.00E-03{ 3.20E-03}16,475.6] 2.1426
{IHI-8-9-4.0 4.08 85.76] 70.7] 4.52E-06} 8.00E-04] 977.35] 4.18E-07|8.78E-05} 19.397] 37,157{ 4.00E-03] 3.20E-03]18,748.0] 2.1762
IHI-8-10-4.5 448 88.50! 70.6] 4.52E-06| 8.00E-04| 977.441 4.19E-07]| 9.05E-05| 20.013| 38,2565] 4.00E-03| 3.20E-03 19.960.1 2;2445
IHI-8-12-5.0 5.01 9367 70.5|4.52E-06] 8.00E-04| 977.47| 4.19E-07] 9.58E-05] 21.182] 40,460} 4.00E-03| 3.20E-03] 22,360.2] 2.2406
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FTC-1 WZ/IHIC L B RBEENEARB T —4 (4/4)

ExpNo. | HEJET |HEWE| iR | WEN | $HEE| WES | G| AMnE| o | R | v o L HE v—25E| BE |EfEx]
| (kg/em2)|  (g/s) (C) (m2) - (m)  |(kg/m3)[ (m2/s) (m3/s) | (m/s) () (m) (m) (kg/m?2) ()

IHI-9-1-0.2 0.19f ~ 1910 71.4|4.52E-06|8.00E-04| 976.97| 4.14E-07|1.96E-05| 4.323 8,358 4.00E-03] 3.20E-03 930.7{ 2.0416
IHI-9-2-0.5 0.53 31.36] 70.9|4.52E-06| 8.00E-04| 977.24| 4.16E-07|3.21E-05| 7.093 13,627 4.00E-03] 3.20E-03] 2,506.8] 2.1143
IHI-9-3-1.0 1.12 45.77 70.8| 4.52E-06| 8.00E-04| 977.32| 4.17E-07| 4.68E-05| 10.353 19,846] 4.00E-03{ 3.20E-03| 5,340.5] 20972
IHI-9-4-1.5 1.53 54.50f 71.0|4.52E-06{ 8.00E-04| 977.18| 4.16E-07|5.58E-05| 12.328 23,718] 4.00E-03| 3.20E-03 7571.6] 2.0207
IHI-9-5-2.0 211 65.23| 710 4.52E-06| 8.00E-04| 977.18| 4.16E-07| 6.68E-05| 14.756 28,389| 4.00E-03| 3.20E-03 10,847.8] 19451
IHI-9-6-2.5 2.60| 7155 709 4.52E-06| 8.00E-04| 977.26| 4.17E-07| 7.32E-05] 16.184| 31,069 4.00E-03 3.20E-03|13,050.<| 1.9923
IHI-9-8-4.5 4.46 89.61| 70.9{4.52E-06| 8.00E-04| 977.26] 4.17E-07| 9.17E-05] 20.269 38912 4.00E-03] 3.20E-03|20.469.9| 2.1788
|IHI-13-1-0.5 0.49 30.53] 71.4| 4.52E-06| 8.00E-04| 976.94| 4.13E-07|3.13E-05 6.909 13,369] 4.00E-03] 3.20E-03] 2,377.3] 2.0611
IHI-13-2-1.0 1.02 4391} 71.1{ 4.52E-06{ 8.00E-04| 977.15| 4.16E-07| 4.49E-05| 9.934 19,126 4.00E-03| 3.20E-03| 4,916.3] 20747
IHI-13-3-1.5 1.45 53.89] 71.1)4.52E-06| 8.00E-04| 977.12] 4.15E-07 5.562E-05|12.192| 23,490 4.00E-03} 3.20E-03] 7.405.0! 1.9581
IHI-13-4-2.0 1.98 62.85| 70.4|4.52E-06| 8.00E-04| 977.56 4.20E-07| 6.43E-05{ 14.211| 27,085{ 4.00E-03| 3.20E-03}10,064.8| 1.9673

IHI-13-5-2.5 - 2.53 70.87| 71.2| 4.52E-06| 8.00E-04| 977.09| 4.15E-07|7.25E-05] 16.032 30,912 4.00E-03| 3.20E-03|12,804.5] 19759}
IHI-13-6-3.0 2.98 75.02) 70.8| 4.52E-06| 8.00E-04| 977.32] 4.17E-07 7.68E-05 716.967 32,525] 4.00E-03{ 3.20E-03]|14,344.0] 2.0775
IHI-13-7-3.5 3.51 81.05| 70.9| 4.52E-06| 8.00E-04| 977.26] 4.17E-07|8.29E-05| 18.332 35,194] 4.00E-03{ 3.20E-0316,745.0f 2.0961
IHI-13-8-4.0f  4.00 84.84| 70.4| 4.52E-06| 8.00E-04| 977.53| 4.19E-07| 8.68E-05| 19.184 36,591| 4.00E-03] 3.20E-03}18,342.4| 2.1807
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+£C-2 FHRICELZIBREBHTEKRART—2 (1/2)
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Exp No. | EHE | BEEHE| AR | W | SMER| LER | B ERE| AR W& | Rl |V VAR —R5E| #E |EHEEXR
(kg/cm2)| (g/s) | (C) | (m2) m |(kg/m3)| m2/s) | m3/s) | @mss) | O | (m) m | (kg/m2) )
SOFT1-06| 161] 5520 83.5|4.59E-06|8.10E-04| 969.50] 3.47E-07|5.69E-05| 12.414| 28950| 4.01E-03| 3.20E-03| 7.617.40] 2.1097
SOFT1-10| 154| 54.46| 82.9|459E-068.10E-04| 969.89| 3.50E-07|5.62E-05| 12.242| 28,314] 4.01E-03] 3.20E-03| 7.411.00| 2.0753
SOFT1-15 1.78| 57.35| 83.8} 4.59E-06|8.10E-04| 969.31| 3.46E-07|5.92E-05| 12.898| 30,204| 4.01E-03| 3.20E-03| 8.221.90| 2.1625
soFT1-20| 190 5896| 83.8|4.59E-06|8.10E-04] 969.31| 3.46E-07|6.08E-05]13.261| 31,054 4.01E-03| 3.20E-03| 8.691.20] 2.1884
SOFT1-25| 201| 60.66| 83,4|4.59E-06|8.10E-04| 969.57| 3.48E-07|6.26E-05|13.640| 31,766 4.01E-03| 3.20E:03| 9,197.50| 21832
SOFT1-09| 1.54| 54.49| 82.9|4.59E-06|8.10E-04| 969.89] 3.50E-07|5.62E-05| 12.249] 28,329] 4.01E-03| 3.20E-03| 7.418.90| 2.0812
SOFT1-14| 1.79| 57.75| 83.5|4.59E-06|8.10E-04| 969.50| 3.47E-07|5.96E-05| 12.987} 30,286] 4.01E-03| 3.20E-03| 8336.50| 2.1496
SOFT1-19| 191| 5927 83.7|4.59E-06|8.10E-04| 969.38| 3.46E-07|6.11E-05| 13.329| 31,169 4.01E-03| 3.20E-03| 8,780.50| 2.1776
SOFT1-24| 202 6057 83.6{4.59E-06|8.10E-04| 969.44| 3.47E-07|6.25E-05| 13.621| 31,809| 4.01E-03] 3.20E-03| 9,170.20] 2.2061
SOFT1-29| 105 4583 83.9]4.59E-06|8.10E-04| 969.25| 3.45E-07|4.73E-05| 10.308| 24,170| 4.01E-03| 3.20E-03| 5,250.50{ 1.9979
SOFT1-30| 1.05| 4574] 83.4|4.59E-06|8.10E-04| 969.57| 3.48E-07|4.72E-05|10.285{ 23,951] 4.01E-03| 3.20E-03| 5.22870{ 2.0101}
SOFT2-13 101 4642| 885|4.97E-06|8.70E-04| 966.25| 3.26E-07| 4.80E-05| 9.671| 25837 4.07E-03| 3.20E-03| 4.607.50| 2.1856]
SOFT2-07| 1.65| 5861| 87.0|4.97E-06|8.70E-04| 967.24| 3.32F-07|6.06E-05 12.198| 31,998| 4.07E-03| 3.20E-03| 7.337.70| 2.2432
SOFT2-12 1.01] 46.20| 88.3|4.97E-06|8.70E-04| 966.38] 3.26E-07|4.78E-05| 9.624| 25,650 4.07E-03| 3.20E-03| 4,563.30] 2.2045|
SOFT2-04| - 1.76| 60.68| 86.4|497E-06|8.70E-04| 967.63] 3.34E-07|6.27E-05| 12.624 32,864| 4.07E-03| 3.20E-03| 7.861.90| 22386
|soFr2-10|  157] 5647 88.7|4.97E-06|8.70E-04| 966.12| 3.25E-07|5.858-05| 11.766| 31,508 4.07E-03| 3.20E-03| 6.819.50| 23066
soFTz-08| 157| 5654 88.0|497E-06|8.705-04| 966.58| 3.288-07|5.858-05| 11.77531.271] 4.07E-03| 3.20E03| 6.833.20] 2.3035|
SOFT2-16| 286 73.28| 87.5|4.97E-06|8.70E-04| 966.91| 3.30E-07|7.58E-05] 15.257] 40,270] 4.07E-03| 3.20E-03|11.47450| 2.4907
SOFT2-19| 204| 6380 87.5|4.97E-06|8.70E-04| 966.91| 3.30E-07|6.60E-05| 13.283| 35061| 4.07E-03| 3.20E-03| 8697.70| 2.3478
soFT2-22| 193] 6250] 86.9|4.97E-06|8.70E-04| 967.30| 3.32E-07|6.46E-05| 13.007| 34,077| 4.07E-03| 3.20E-03| 8,343.40| 2.3108
SOFT2-06| 165 5877 87.0|4.97E-06|8.70E-04| 967.24] 3.32E-07| 6.08E-05| 12.232| 32,086] 4.07E-03| 3.20E-03| 7,377.80| 2.2310
|sorT2-15| 2.88| 74.06| 87.1]4.97E-06|8.70E-04| 967.17| 3.31E-07|7.66E-05| 15.415| 40,487| 4.07E-03| 3.20E-03{11,716.90] 2.4554
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ExpNo. | ET | REE| AR | WEK | SMEE| XER | DRERN] SRR R | ReM | V= VRE|S—ANE| BE |EREH|
' {(kg/em2)|  (g/9) (T) | (m2) _(m) |(kg/m3)| (m2/s) (m3/s) | (m/s) () (m) (m) .| (kg/m2) IR
- |sOFT2-17| 2.07| 6482| 86.2|4.97E-06|8.70E-04| 967.76] 3.35E-07| 6.70E-05| 13.483| 35,012| 4.07E-03| 3.20E-03| 8970.10| 2.3021|
|SOFT2-20{  195| 63.11| 86.3|4.97E-06|8.70E-04] 967.69| 3.35E-07| 6.52E-05| 13.129] 34,134] 407E-03| 3.20E-03| 8503.70| 2.2943|
SOFT3-1 294 7140 85.5|4.59E-06|8.10E-04| 968.21| 3.38E-07|7.37E-05| 16.077| 38516 4.01E-03| 3.20E-03|12759.70| 23057] |
SOFT3-3 |  241| .64.36| 85.8| 4.59E-06|8.10E-04| 968.02| 3.37E-07| 6.65E-05| 14.495| 34,862 4.01E-03| 3.20E-03|10,369.60] 2.3231| .~ |.
SOFT3-5 194| 5874| 85.3|4.59E-06| 8.10E-04| 968.34| 3.39E-07|6.07E-05| 13.224| 31,597 4.01E-03| 3.20E-03| 863360| 22459 .
SOFT3-7 | 193 5850| 87.0|4.59E-06|8.10E-04| 967.24| - 3.32E-07| 6.05E-05 13.186| 32,203| 4.01E-03| 3.20E-03| 857390| 22464]
|SOFT3-9 |  1.94| 5864 852|4.59E-06|8.10E-04| 968.41| 3.39E-07|6.05E-05|13.201| 31.499| 4.01E-03| 3.20E-03| 860370 22595
SOFT3-12|  191| 5728 86.5|4.59E-06|8.10E-04} 967.56] 3.34E-07| 5.92E-05| 12.907| 31,323 4.01E-03| 3.20E-03| 821750 23202 -
- ISOFT3-14|  1.94] 58.74| 859|459E-06|8.10E-04| 967.95| 3.36E-07|6.07E-05| 13.230 31.860] 4.01E-03] 3.20E-03| 8637.70 22437 |
SOFT3-16| 162| 54.74| 86.1|4.59E-06]8.10E-04| 967.82| 3.35E-07| 5.66E-05| 12.330| 29.771| 4.01E-03| 3.20E-03| 7.501.80{ 21622|
SOFT3-18 098] 44.85| 85.4|4.59E-06|8.10E-04| 968.28{ 3.39E-07|4.63E-05| 10.098| 24,159| 4.01E-03| 3.20E-03| 5033.80| 19528}
SOFT3-2 293| 70.34] 86.5|4.59E-06| 8.10E-04] 967.56| 3.34E-07|7.27E-05| 15.849| 38.463| 4.01E-03| 3.20E-03}|12,390.90] 2.3614{ -
SOFT3-4 '2.40| 64.28 86.4|4.59E-06| 8.10E-04| 967.63] 3.34E-07| 6.64E-05| 14.483| 35,103] 4.01E-03| 3.20E-03|10,347.70] 2.3194|
SOFT3-6 1.93| 58.74| 86.5|4.59E-06|8.10E-04| 967.56| 3.34E-07|6.07E-05| 13.235( 32,119] 4.01E-03| 3.20E-03] 864060 22336] |
SOFT3-8 -1.92| 5825 87.1|4.59E-06|8.10E-04| 967.17| 3.31E-07|6.02E-05] 13.131| 32,109 4.01E-03| 3.20E-03| 8501.90| 2.2560{
SOFT3-10| 194 5840| 86.0|4.59E-06|8.10E-04 967.89| 3.36E-07|6.03E-05] 13.155] 31,721| 4.01E-03| 3.20E-03| 8,539.70|  2.2659
SOFT3-11| 193] 5836 85.9|4.59E-06|8.10E-04 967.95| 3.36E-07|6.03E-05| 13.146| 31,657 4.01E-03| 3.20E-03| 8528.00|  2.2596
SOFT3-13| 191| 57.65| 86.9|4.59E-06|8.10E-04| 967.30| 3.32E-07|5.96E-05| 12.992| 31,691| 4.01E-03| 320E-03| 8324.80| 22895
SOFT3-15| 193] 5863 86.8|4.59E-06|8.10E-04| 967.37| 3.32E-07|6.06E-05| 13.214] 32,192| 4.01E-03| 3.20E03| 8612.40| 2.2433
SOFT3-17|  162| 5465 86.7|459E-06|8.10E-04| 967.43| 3.33E-07|565E0512.316|29,965| 4.01E-03| 3208-03| 7.481.20| 21627
SOFT3-21| 099 44.96| 86.5|4.59E-06|8.10E-04| 967.56| 3.34E-07|4.65E-05]10.131] 24,586 4.01E-03|. 3.20E-03| 5062.80| 1.9456




